# FORM NO. MGT-7

[Pursuant to sub-Section(1) of section 92 of the Companies Act, 2013 and sub-rule (1) of rule 11of the Companies (Management and Administration) Rules, 2014]



# **Annual Return**

(other than OPCs and Small Companies)

Pre-fill

# I. REGISTRATION AND OTHER DETAILS

(i) \* Corporate Identification Number (CIN) of the company

Global Location Number (GLN) of the company

- \* Permanent Account Number (PAN) of the company
- (ii) (a) Name of the company
  - (b) Registered office address

Plot No. 1215/1401, Khandagiri Bari, Infront of Jayadev Va
tika, PS/PO- Khanda giri NA
Bhubaneswar
Khordha
Orissa
751000

- (c) \*e-mail ID of the company
- (d) \*Telephone number with STD code
- (e) Website
- (iii) Date of Incorporation

subrat@ampl.net.in

U65999OR1986PTC015931

ANNAPURNA FINANCE PRIVAT

AABCG2782K

06742386790

30/04/1986

(iv)	Type of the Company	Category of the Company S		Sub-category of the Company
	Private Company	Company limited	by shares	Indian Non-Government company
(v) Whether company is having share capital		pital	Yes	O No
(vi) *Whether shares listed on recognized Stock Exchange(s)		⊖ Yes	• No	

(vii) *Financial year From date 0	1/04/2022	(DD/MM/YYYY) To date	31/03/2023	(DD/MM/YYYY)
(viii) *Whether Annual general me	eting (AGM) held	• Yes	No	
(a) If yes, date of AGM (b) Due date of AGM	25/09/2023 30/09/2023			
(c) Whether any extension fo	or AGM granted	⊖ Yes	No	
II. PRINCIPAL BUSINESS	ACTIVITIES OF T	HE COMPANY		

\*Number of business activities 1

	Main Activity group code		Business Activity Code		% of turnover of the company
1	к	Financial and insurance Service	К8	Other financial activities	100

# III. PARTICULARS OF HOLDING, SUBSIDIARY AND ASSOCIATE COMPANIES (INCLUDING JOINT VENTURES)

\*No. of Companies for which information is to be given 1

Pre-fill All

S.No	Name of the company	CIN / FCRN	Holding/ Subsidiary/Associate/ Joint Venture	% of shares held
1	Annapurna SME Finance Privat	U65990OR2020PTC035123	Subsidiary	99.96

# IV. SHARE CAPITAL, DEBENTURES AND OTHER SECURITIES OF THE COMPANY

## (i) \*SHARE CAPITAL

(a) Equity share capital

Particulars	Authorised capital	lssued capital	Subscribed capital	Paid up capital
Total number of equity shares	113,900,000	92,227,855	92,227,855	92,227,855
Total amount of equity shares (in Rupees)	1,139,000,000	922,278,550	922,278,550	881,311,502

Number of classes

	Authoricod		Subscribed capital	Paid up capital
Number of equity shares	113,900,000	92,227,855	92,227,855	92,227,855

1

Nominal value per share (in rupees)	10	10	10	10
Total amount of equity shares (in rupees)	1,139,000,000	922,278,550	922,278,550	881,311,502

### (b) Preference share capital

Particulars	Authorised capital	Issued capital	Subscribed capital	Paid-up capital
Total number of preference shares	25,100,000	25,018,814	25,018,814	25,018,814
Total amount of preference shares (in rupees)	251,000,000	250,188,140	250,188,140	250,188,140

#### Number of classes

Class of shares CCPS	Authorised capital	Issued capital	Subscribed capital	Paid up capital
Number of preference shares	3,000,000	3,000,000	3,000,000	3,000,000
Nominal value per share (in rupees)	10	10	10	10
Total amount of preference shares (in rupees)	30,000,000	30,000,000	30,000,000	30,000,000
Class of shares Series A1 CCPS	Authorised	Issued capital	Subscribed capital	Paid up capital
Number of preference shares	22,100,000	22,018,814	22,018,814	22,018,814
Nominal value per share (in rupees)	10	10	10	10
Total amount of preference shares (in rupees)	221,000,000	220,188,140	220,188,140	220,188,140

2

# (c) Unclassified share capital

Particulars	Authorised Capital
Total amount of unclassified shares	0

## (d) Break-up of paid-up share capital

Class of shares	Number of shares			Total nominal amount	Total Paid-up amount	Total premium
Equity shares	Physical	DEMAT	Total			
At the beginning of the year	38,535,909	34,359,251	72895160	728,951,600	687,984,55	
Increase during the year	13,361,710	5,970,985	19332695	193,326,950	193,326,95	0
i. Pubic Issues	0	0	0	0	0	
ii. Rights issue	0	0	0	0	0	0
iii. Bonus issue	0	0	0	0	0	0

iv. Private Placement/ Preferential allotment						
	0	0	0	0	0	0
v. ESOPs	10,400	0	10400	104,000	104,000	
vi. Sweat equity shares allotted	0	0	0	0	0	0
vii. Conversion of Preference share	13,351,310	5,970,985	19322295	193,222,950	193,222,95	
viii. Conversion of Debentures	0	0	0	0	0	0
ix. GDRs/ADRs	0	0	0	0	0	0
x. Others, specify						
Decrease during the year	0	0	0	0	0	0
i. Buy-back of shares	0	0	0	0	0	0
ii. Shares forfeited	0	0	0	0	0	0
iii. Reduction of share capital	0	0	0	0	0	0
iv. Others, specify						
At the end of the year	51,897,619	40,330,236	92227855	922,278,550	881,311,50	
Preference shares						
At the beginning of the year						
· · · · · · · · · · · · · · · · · · ·	33,628,703	10,808,723	44437426	444,374,260	444,374,26	
Increase during the year	33,628,703 0	10,808,723 7,820,000	44437426 7820000	444,374,260 78,200,000		
					78,200,000	0
Increase during the year	0	7,820,000	7820000	78,200,000	78,200,000 78,200,000	0
Increase during the year i. Issues of shares	0	7,820,000	7820000 7820000	78,200,000	78,200,000 78,200,000	0
Increase during the year i. Issues of shares ii. Re-issue of forfeited shares	0	7,820,000	7820000 7820000	78,200,000	78,200,000 78,200,000 0	0
Increase during the year i. Issues of shares ii. Re-issue of forfeited shares iii. Others, specify	0	7,820,000 7,820,000 0	7820000 7820000 0	78,200,000 78,200,000 0	78,200,000 78,200,000 0	0
Increase during the year i. Issues of shares ii. Re-issue of forfeited shares iii. Others, specify Decrease during the year	0 0 19,418,612	7,820,000 7,820,000 0 7,820,000	7820000 7820000 0 27238612	78,200,000 78,200,000 0 272,386,120	78,200,000 78,200,000 0 272,386,12 0	0 0 0 0
Increase during the year  i. Issues of shares  ii. Re-issue of forfeited shares  iii. Others, specify  Decrease during the year  i. Redemption of shares	0 0 0 19,418,612 0	7,820,000 7,820,000 0 7,820,000 7,820,000 0	7820000 7820000 0 27238612 0	78,200,000 78,200,000 0 272,386,120 0	78,200,000 78,200,000 0 272,386,12 0	0 0 0 0 0
Increase during the year  i. Issues of shares  ii. Re-issue of forfeited shares  iii. Others, specify  Decrease during the year  i. Redemption of shares  ii. Shares forfeited	0 0 0 10 19,418,612 0 0	7,820,000 7,820,000 0 7,820,000 0 0	7820000 7820000 0 27238612 0 0	78,200,000 78,200,000 0 272,386,120 0 0	78,200,000 78,200,000 0 272,386,12 0 0 0	0 0 0 0 0 0 0 0

SIN of the equity shares	of the company			
(ii) Details of stock spl	it/consolidation during the y	ear (for each class o	f shares)	)
Class o	f shares	(i)	(ii)	(iii)
Before split /	Number of shares			
Consolidation	Face value per share			
After split /	Number of shares			
Consolidation	Face value per share			

Г

# (iii) Details of shares/Debentures Transfers since closure date of last financial year (or in the case of the first return at any time since the incorporation of the company) \*

Nil [Details being provided in a CD/Digital Media]	) Yes	O No	O Not Applicable
Separate sheet attached for details of transfers	⊖ Yes	O No	

Note: In case list of transfer exceeds 10, option for submission as a separate sheet attachment or submission in a CD/Digital Media may be shown.

Date of the previous annual general meeting					
Date of registration o	of transfer (Date Month Year)				
Type of transfer 1 - Equity, 2- Preference Shares, 3 - Debentures, 4 - Stock					
Number of Shares/ Debentures/     Amount per Share/       Units Transferred     Debenture/Unit (in Rs.)					
Ledger Folio of Trans	sferor				
Transferor's Name					
	Surname	middle name	first name		

Ledger Folio of Trans	sferee		
Transferee's Name			
	Surname	middle name	first name

Date of registration o	of transfer (Date Month Year)		
Type of transfe	r 1 - E	quity, 2- Preference Shares,3 -	· Debentures, 4 - Stock
Number of Shares/ E Units Transferred	Debentures/	Amount per Share/ Debenture/Unit (in Rs.)	
Ledger Folio of Transferor			
Transferor's Name			
	Surname	middle name	first name
Ledger Folio of Trans	sferee		
Transferee's Name			
	Surname	middle name	first name

# (iv) \*Debentures (Outstanding as at the end of financial year)

Particulars		Nominal value per unit	Total value
Non-convertible debentures	4,734,089	As Per List Attached	13,897,828,337
Partly convertible debentures	0	0	0
Fully convertible debentures	150,000,000	10	1,500,000,000
Total			15,397,828,337

Details of debentures

Class of debentures	the beginning of the	-	Decrease during the year	Outstanding as at the end of the year
	year			
Non-convertible debentures	14,848,154,997	3,556,340,000	4,506,666,660	13,897,828,337
Partly convertible debentures	0	0	0	0
Fully convertible debentures	1,500,000,000	0	0	1,500,000,000

#### (v) Securities (other than shares and debentures)

	-	-			
Type of Securities	Number of Securities	Nominal Value of each Unit	Total Nominal Value	Paid up Value of each Unit	Total Paid up Value
Total					

0

# V. \*Turnover and net worth of the company (as defined in the Companies Act, 2013)

# (i) Turnover

15,577,821,391

## (ii) Net worth of the Company

12,083,109,913

## VI. (a) \*SHARE HOLDING PATTERN - Promoters

S. No.	Category	Equ	ity	Preference	
		Number of shares	Percentage	Number of shares	Percentage
1.	Individual/Hindu Undivided Family				
	(i) Indian	9,720,351	10.54	0	0
	(ii) Non-resident Indian (NRI)	0	0	0	0
	(iii) Foreign national (other than NRI)	0	0	0	0
2.	Government				
	(i) Central Government	0	0	0	0
	(ii) State Government	0	0	0	0
	(iii) Government companies	0	0	0	0
3.	Insurance companies	0	0	0	0
4.	Banks	0	0	0	0
5.	Financial institutions	0	0	0	0

6.	Foreign institutional investors	0	0	0	0
7.	Mutual funds	0	0	0	0
8.	Venture capital	0	0	0	0
9.	Body corporate (not mentioned above)	0	0	0	0
10.	Others		0		0
	Total	9,720,351	10.54	0	0

2

# Total number of shareholders (promoters)

# (b) \*SHARE HOLDING PATTERN - Public/Other than promoters

S. No.	Category	Equi	ty	Preference		
		Number of shares	Percentage	Number of shares	Percentage	
1.	Individual/Hindu Undivided Family					
	(i) Indian	1,240,204	1.34	0	0	
	(ii) Non-resident Indian (NRI)	0	0	0	0	
	(iii) Foreign national (other than NRI)	0	0	0	0	
2.	Government					
	(i) Central Government	0	0	0	0	
	(ii) State Government	0	0	0	0	
	(iii) Government companies	0	0	0	0	
3.	Insurance companies	0	0	0	0	
4.	Banks	1,824,151	1.98	0	0	
5.	Financial institutions	1,254,907	1.36	0	0	
6.	Foreign institutional investors	0	0	0	0	
7.	Mutual funds	0	0	0	0	
8.	Venture capital	1,542,449	1.67	0	0	
9.	Body corporate (not mentioned above)	0	0	0	0	
10.	Others Overseas Body Corporate a	76,645,793	83.1	25,018,814	100	

	Total	82,507,504	89.45	25,018,814	100
Total nun	nber of shareholders (other than prom	oters) 20			
	ber of shareholders (Promoters+Publi n promoters)	<b>c</b> / 22			

#### VII. \*NUMBER OF PROMOTERS, MEMBERS, DEBENTURE HOLDERS (Details, Promoters, Members (other than promoters), Debenture holders)

Details	At the beginning of the year	At the end of the year
Promoters	2	2
Members (other than promoters)	20	20
Debenture holders	1,411	1,044

### VIII. DETAILS OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

# (A) \*Composition of Board of Directors

Category		Number of directors at the beginning of the year		Number of directors at the end of the year		Percentage of shares held by directors as at the end of year	
	Executive	Non-executive	Executive	Non-executive	Executive	Non-executive	
A. Promoter	2	0	2	0	8.29	0	
B. Non-Promoter	0	3	0	3	0	0	
(i) Non-Independent	0	0	0	0	0	0	
(ii) Independent	0	3	0	3	0	0	
C. Nominee Directors representing	0	8	0	9	0	0	
(i) Banks & FIs	0	0	0	0	0	0	
(ii) Investing institutions	0	8	0	9	0	0	
(iii) Government	0	0	0	0	0	0	
(iv) Small share holders	0	0	0	0	0	0	
(v) Others	0	0	0	0	0	0	
Total	2	11	2	12	8.29	0	

16

## (B) (i) \*Details of directors and Key managerial personnel as on the closure of financial year

Name	DIN/PAN	Designation	Number of equity share(s) held	Date of cessation (after closure of financial year : If any)
Gobinda Chandra Patta	02716330	Managing Director	8,000,546	
Dibyajyoti Pattanaik	02764187	Director	1,719,805	
Krishna Kumar Tiwary	02914614	Director	0	
Sean Leslie Nossel	05327455	Director	0	
Ashok Ranjan Samal	00918164	Director	0	
Christina Stefanie Juha	06451902	Nominee director	0	
Sunit Vasant Joshi	02962154	Nominee director	0	
Venkiteswaran Mecherii	08286433	Nominee director	0	
Radhika Jayant Shroff	09210584	Nominee director	0	
Ranganathan Varadaraj	01060651	Nominee director	0	
Abhishek Agrawal	06760344	Nominee director	0	
GUILLAUME MARTIN N	09527231	Nominee director	0	
Pushkar Jauhari	06391650	Nominee director	0	25/09/2023
Arup Kumar	07682113	Nominee director	0	
Satyajit Das	AJQPD5250J	CFO	620,102	
Subrata Pradhan	BPCPP6181F	Company Secretar	0	

Name	DIN/PAN	Designation at the beginning / during the financial year	Date of appointment/ change in designation/ cessation	Nature of change (Appointment/ Change in designation/ Cessation)
PRAKASH KUMAR	06758416	Nominee director	28/09/2022	Resignation
LAETITIA COUNYE	06990144	Nominee director	18/04/2022	Resignation
ARUP KUMAR	07682113	Additional director	28/09/2022	Appointment
GUILLAUME MARTIN N	09527231	Additional director	18/04/2022	Appointment
PUSHKAR JAUHARI	06391650	Additional director	27/05/2022	Appointment
ARUP KUMAR	07682113	Nominee director	21/10/2022	Change in designation
GUILLAUME MARTIN N	09527231	Nominee director	22/09/2022	Change in designation
PUSHKAR JAUHARI	06391650	Nominee director	22/09/2022	Change in designation

# IX. MEETINGS OF MEMBERS/CLASS OF MEMBERS/BOARD/COMMITTEES OF THE BOARD OF DIRECTORS

A. MEMBERS/CLASS /REQUISITIONED/NCLT/COURT CONVENED MEETINGS

Number of meetings held	5				
Type of meeting	Date of meeting	Total Number of Members entitled to	Attendance		
		attend meeting	Number of members attended	% of total shareholding	
Extra-Ordinary General Mee	23/05/2022	17	11	92.73	
Extra-Ordinary General Mee	23/06/2022	17	9	73.79	
Annual General Meeting	22/09/2022	17	11	84.25	
Extra-Ordinary General Mee	28/09/2022	17	10	73.79	
Extra-Ordinary General Mee	21/10/2022	18	14	96.22	

#### **B. BOARD MEETINGS**

\*Number of meetings held

10

S. No.	Date of meeting	Date of meeting of meeting Date of meeting Date of meeting		Attendance
		, i i i i i i i i i i i i i i i i i i i	Number of directors attended	% of attendance
1	18/04/2022	13	13	100

S. No.	Date of meeting	Total Number of directors associated as on the date				
		of meeting	Number of directors attended	% of attendance		
2	23/05/2022	13	10	76.92		
3	27/05/2022	14	10	71.43		
4	23/06/2022	14	9	64.29		
5	10/08/2022	14	9	64.29		
6	16/09/2022	14	13	92.86		
7	28/09/2022	14	9	64.29		
8	10/11/2022	14	14	100		
9	16/01/2023	14	10	71.43		
10	09/02/2023	14	11	78.57		

#### C. COMMITTEE MEETINGS

	tings held		64		
S. No.	Type of meeting		Total Number of Members as	A	Attendance
		Date of meeting	on the date of the meeting	Number of members attended	% of attendance
1	Executive Corr	22/04/2022	2	2	100
2	Executive Corr	11/05/2022	2	2	100
3	Executive Corr	28/05/2022	2	2	100
4	Executive Corr	17/06/2022	2	2	100
5	Executive Corr	28/06/2022	2	2	100
6	Executive Corr	29/06/2022	2	2	100
7	Executive Corr	07/07/2022	2	2	100
8	Executive Corr	20/07/2022	2	2	100
9	Executive Corr	29/07/2022	2	2	100
10	Executive Corr	22/08/2022	2	2	100

### D. \*ATTENDANCE OF DIRECTORS

		Board Meetings			Co	Whether attended AGM		
S. No.	Name of the director		Meetings	% of attendance	Number of Meetings which director was	Meetings	% of attendance	held on
		entitled to attend	attended	allenuarice	entitled to attend	attended	allenuarice	25/09/2023
								(Y/N/NA)
1	Gobinda Char	10	8	80	56	54	96.43	Yes
2	Dibyajyoti Patl	10	10	100	51	51	100	Yes
3	Krishna Kuma	10	10	100	7	7	100	No
4	Sean Leslie N	10	7	70	7	5	71.43	No
5	Ashok Ranjan	10	10	100	20	20	100	No
6	Christina Stefa	10	5	50	10	5	50	Yes
7	Sunit Vasant J	10	10	100	6	6	100	No
8	Venkiteswarar	10	9	90	2	2	100	No
9	Radhika Jayar	10	6	60	6	5	83.33	No
10	Ranganathan	10	4	40	0	0	0	No
11	Abhishek Agra	10	7	70	0	0	0	Yes
12	GUILLAUME I	10	9	90	0	0	0	Yes
13	Pushkar Jauha	8	8	100	2	2	100	No
14	Arup Kumar	3	2	66.67	0	0	0	No

#### X. \*REMUNERATION OF DIRECTORS AND KEY MANAGERIAL PERSONNEL

🗌 Nil

Number o	of Managing Director, W	/hole-time Directors	s and/or Manager v	vhose remuneratio	n details to be ente	ered 2					
S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount				
1	Gobinda Chandra P	Managing Direct	26,800,000	0	0	0	26,800,000				
2	Dibyajyoti Pattanaik	Director	12,500,000	0	0	0	12,500,000				
	Total		39,300,000	0	0	0	39,300,000				
Number o	Number of CEO, CFO and Company secretary whose remuneration details to be entered 2										
S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount				

S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	Satyajit Das	CFO	10,500,000	0	0	0	10,500,000
2	Subrata Pradhan	Company Secre	3,200,000	0	0	0	3,200,000
	Total		13,700,000	0	0	0	13,700,000
Number o	f other directors whose	remuneration deta	ils to be entered			3	
S. No.	Name	Designation	Gross Salary	Commission	Stock Option/ Sweat equity	Others	Total Amount
1	Krishna Kumar Tiwa	Independent Dir	0	0	0	570,000	570,000
2	Sean Leslie Nossel	Independent Dir	0	0	0	742,000	742,000
3	Ashok Ranjan Sama	Independent Dir	0	0	0	960,000	960,000
	Total		0	0	0	2,272,000	2,272,000

No

#### XI. MATTERS RELATED TO CERTIFICATION OF COMPLIANCES AND DISCLOSURES

- \* A. Whether the company has made compliances and disclosures in respect of applicable Yes provisions of the Companies Act, 2013 during the year
  - B. If No, give reasons/observations

#### XII. PENALTY AND PUNISHMENT - DETAILS THEREOF

# (A) DETAILS OF PENALTIES / PUNISHMENT IMPOSED ON COMPANY/DIRECTORS /OFFICERS NI

Name of the Act and Name of the court/ Details of penalty/ Details of appeal (if any) Name of the concerned Date of Order section under which punishment including present status company/ directors/ penalised / punished Authority officers (B) DETAILS OF COMPOUNDING OF OFFENCES Nil Nil

Name of the company/ directors/ officers	Name of the court/ concerned Authority	Isection Linder Which	Amount of compounding (in Rupees)

XIII. Whether complete list of shareholders, debenture holders has been enclosed as an attachment

Yes 🔿 No  $(\bullet)$ 

#### XIV. COMPLIANCE OF SUB-SECTION (2) OF SECTION 92, IN CASE OF LISTED COMPANIES

In case of a listed company or a company having paid up share capital of Ten Crore rupees or more or turnover of Fifty Crore rupees or more, details of company secretary in whole time practice certifying the annual return in Form MGT-8.

Name	SUSHANTA PRADHAN
Whether associate or fellow	Associate  Fellow
Certificate of practice number	14238

#### I/We certify that:

(a) The return states the facts, as they stood on the date of the closure of the financial year aforesaid correctly and adequately.
 (b) Unless otherwise expressly stated to the contrary elsewhere in this Return, the Company has complied with all the provisions of the Act during the financial year.

(c) The company has not, since the date of the closure of the last financial year with reference to which the last return was submitted or in the case of a first return since the date of the incorporation of the company, issued any invitation to the public to subscribe for any securities of the company.

(d) Where the annual return discloses the fact that the number of members, (except in case of a one person company), of the company exceeds two hundred, the excess consists wholly of persons who under second proviso to clause (ii) of sub-section (68) of section 2 of the Act are not to be included in reckoning the number of two hundred.

#### Declaration

I am Authorised by the Board of Directors of the company vide resolution no. .. 11 dated 12/09/2019

(DD/MM/YYYY) to sign this form and declare that all the requirements of the Companies Act, 2013 and the rules made thereunder in respect of the subject matter of this form and matters incidental thereto have been compiled with. I further declare that:

- 1. Whatever is stated in this form and in the attachments thereto is true, correct and complete and no information material to the subject matter of this form has been suppressed or concealed and is as per the original records maintained by the company.
- 2. All the required attachments have been completely and legibly attached to this form.

# Note: Attention is also drawn to the provisions of Section 447, section 448 and 449 of the Companies Act, 2013 which provide for punishment for fraud, punishment for false statement and punishment for false evidence respectively.

To be digitally signed by

Director	GOBINDA Digitally signed by GOBINDA PATTANAIK PATTANAIK DATTANAIK PATTANAIK 20:35:39+05:30'			
DIN of the director	02716330			
To be digitally signed by	SUBRATA Digitally signed by SUBRATA PRADHAN Date: 2023.12.13 20:36:18 +05:30'			
Company Secretary				
⊖ Company secretary in practice				
Membership number 27932		Certificate of practice n	umber	

#### Attachments

#### List of attachments

<ol> <li>List of share holders, debenture holders</li> <li>Approval letter for extension of AGM;</li> </ol>	Attach Attach	List of Shareholders 31 Mar 2023.pdf Form MGT-8.pdf List of Debenture Holders 31 Mar 2023.pdf
3. Copy of MGT-8;	Attach	List of Committee Meetings.pdf
4. Optional Attachement(s), if any	Attach	
		Remove attachment
Modify Check Form	Prescrutiny	Submit

This eForm has been taken on file maintained by the Registrar of Companies through electronic mode and on the basis of statement of correctness given by the company

# SUSHANTA PRADHAN & ASSOCIATES

COMPANY SECRETARIES

Address: Building No. F/3, Sahajog Nagar, Budharaja, Sambalpur-768004 Cell No.: +91 9040699593, +91 8917466066, Email: cs.sushantapradhan@gmail.com



### Form No.MGT-8

[Pursuant to Section 92(2) of the Companies Act, 2013 and rule11 (2) of Companies (Management and Administration) Rules, 2014]

#### CERTIFICATE

We have examined the registers records and books and papers of ANNAPURNA FINANCE **PRIVATE LIMITED** (the Company) as required to be maintained under the Companies Act, 2013 (the Act) and the rules made there under for the financial year ended on 31<sup>st</sup> March 2023. In our opinion and to the best of my information and according to the examinations carried out by us and explanations furnished to us by the company, its officers and agents, We certify that:

A. the Annual Return states the facts as at the close of the aforesaid financial year correctly and adequately.

B.during the aforesaid financial year the Company has complied with provisions of the Act & Rules made there under in respect of:

l.its status under the Act;

2.maintenance of registers/records & making entries therein within the time prescribed therefore;

3.filing of forms and returns as stated in the annual return, with the Registrar of Companies, RegionalDirector,CentralGovernment,theTribunal,Courtorotherauthoritieswithin/beyondthep rescribed time;

4.calling/convening/holding meetings of Board of Directors or its committees, if any, and the meetings of the members of the company on due dates as stated in the annual return in respect of which meetings, proper notices were given and the proceedings including the circular resolutions and resolutions passed by postal ballot ,if any, have been properly recorded in the Minute Book/registers maintained for the purpose and the same have been signed;

5. closure of Register of Members/Security holders, as the case may be;



6.advances/loans to its directors and /or persons or firms or companies referred in section1850fthe Act;

7.contracts/arrangements with related parties as specified in section188oftheAct;

8.issue or allotment or transferor transmission or buy back of securities/redemption of preference shares or debentures/alteration or reduction of share capital/conversion of shares/securities and issue of security certificates in all instances.

9.keeping in abeyance the rights to dividend right shares and bonus shares pending registration of transfer of shares in compliance with the provisions of the Act;

10. declaration/ paymentofdividend; transferof unpaid/ unclaimed dividend/other amounts applicable to the Investor Education and Protection Fund in accordance with section125 of the Act;

11. signing of audited financial statement as per the provisions of section134 of the Act and report of directors is as per sub-sections(3)(4)and(5)thereof;

12. constitution/ appointment/ re-appointments/ retirement/ filling up casual vacancies/ disclosures of the Directors, Key Managerial Personnel and the remuneration paid to them;

13. appointment/ reappointment/ filling up casual vacancies of auditors as per the provisions of section 139 of the Act;

14. approvals required to be taken from the Central Government, Tribunal, Regional Director, Registrar, Court or such other authorities under the various provisions of the Act;

15. acceptance/ renewal/ repayment of deposits;

16. borrowings from its directors, members, public financial institutions, banks and others and creation/modification/ satisfaction of charges in that respect, wherever applicable;

17. loans and investments or guarantees given or providing of securities to other bodies corporate or persons falling under the provisions of section 186 of the Act ;

18. alteration of the provisions of the Memorandum and/ or Articles of Association of the Company.

Place: Sambalpur Date: 21.11.2023 UDIN: A029239E002105335

Signature: Name: Sushanta Pradhan Company Secretary in practice (C.P. No.: 14238)





# Details of Committee Meetings of the Company (2022-23)

GROWING TOGETHER CIN: U65999OR1986PTC015931

S. (	Type of	Date of	Total Number	Attendance		
No	meeting	meeting	of Members as on the date of	Number of A of Members attendance		
			the meeting	attended	attentiance	
1	Audit Committee	27-05-22	3	2	66.67	
····	Audit Committee	09-08-22	3	2	66.67	
	Audit Committee	09-11-22	3	3	100	
	Audit Committee	08-02-23	3	3	100	
	Nomination & Remuneration Committee	23-05-22	4	4	100	
	Nomination & Remuneration Committee	26-09-22	4	3	75	
	Nomination & Remuneration Committee	07-11-22	4	4	100	
	CSR Committee	26-05-22	4	3	75	
	CSR Committee	07-11-22	4	4	100	
	Risk Committee	26-05-22	5	3	60.00	
	Risk Committee	09-08-22	5	3	60	
	Risk Committee	09-11-22	5-	5	100.00	
	Risk Committee	08-02-23	5	5	100	
	Executive Committee	22-04-22	2	2	100	
	Executive Committee	11-05-22	2	2	100	
	Executive Committee	28-05-22	2	2 *	100	
	Executive Committee	17-06-22	2	2	100	
	Executive Committee	28-06-22	2	2	100	
	Executive Committee	29-06-22	2	2	1.00	
	Executive Committee	07-07-22	2	2	100	
	Executive Committee	20-07-22	2.	2	100	
	Executive Committee	29-07-22	2	2	100	
	Executive Committee	22-08-22	2	2	100	
	Executive Committee	30-08-22	2	2	1.00	
	Executive Committee	07-09-22	2	2	100	
	Executive Committee	09-09-22	2	2	100	
27	Executive Committee	13-09-22	2	2	100	
	Executive Committee	21-09-22	2	2	100	
	Executive Committee	26-09-22	2	2	100	
	Éxecutive Committee	27-09-22	2.	2	1.00	
	Executive Committee	29-09-22	2	2	100	
	Executive Committee	13-10-22	2,	2	100	
	Executive Committee	19-10-22	2	2	100	
	Executive Committee	21-10-22	2	2	100	
	Executive Committee	27-10-22	2	2	100	
÷	Executive Committee	04-11-22	2	2	100	
	Executive Committee	18-11-22	2	2	1.00	
	Executive Committee	22-11-22	2	2	100	



Annapurna Finance Pvt. Ltd. (Formerly Annapurna Microfinance Pvt. Ltd.)

Regd. Office : Plot No. 1215 / 1401, Khandagiri Bari, Infront of Jayadev Vatika, Bhubaneswar - 751 030, Odisha, Tel. : +91 674 - 2386790 Tel. : +91 674 - 2350253, Fax : +91 674 - 2386580

Email : info@ampl.net.in, Website : http://www.ampl.net.in, CIN : U65999OR1986PTC015931

39 Executive Committee	13-12-22	2	2	100
40 Executive Committee	15-12-22	2	2	100
41 Executive Committee	28-12-22	2	2	100
42 Executive Committee	11-01-23	2	2	100
43 Executive Committee	17-01-23	2	2	100
44 Executive Committee	20-01-23	2	2	100
45 Executive Committee	30-01-23	2	2	100
46 Executive Committee	02-02-23	2	2	1.00
47 Executive Committee	13-02-23	2	2	100
48 Executive Committee	20-02-23	2	2	100
49 Executive Committee	23-02-23	2	2	100
50 Executive Committee	07-03-23	2	2	100
51 Executive Committee	14-03-23	2	2	100
52 Executive Committee	20-03-23	2	2	100
53 Executive Committee	23-03-23	2	2	100
54 Executive Committee	27-03-23	2	2	100
55 Executive Committee	28-03-23	2	2	100
56 Executive Committee	29-03-23		2	100
57 Executive Committee	30-03-23	2	2	100
58 Stakeholder Committee	23-05-22	3	3	100
59 ABP Committee	05-08-22	5	5	100
60 ABP Committee	08-02-23	5	4	80
61 IT Strtegic Committee	05-08-22	5	5	100
62 IT Strtegic Committee	03-02-23	5	5	100
63 Product Committee	26-05-22		3	75
64 Product Committee	07-11-22	4	4	100
64 Product Committee	OFTIZZ			

For Annapuma Finance Pvt. Ltd. Schorgta gradha Company Secretary (N. No-27832) 1





#### ANNAPURNA FINANCE PRIVATE LIMITED

#### LIST OF EQUITY SHAREHOLDERS AS ON 31/03/2023 (Nominal Value of Rs. 10/- each)

SN 0	Fol to	Name of Share Holders	Father's / Mother's	Type of Share	Number of Shares /	Paid-up Capital (Rs.)	Address of Share Holder
	No.		/ Spouse's Name	(1 - Equity, 2 - Preferenc e, 3-other security)	Other Securities Held		
1	46	Mr. Gobinda Chandra Pattanaik	Mr. Nanda Kishore Pattanaik	1 - Equity	80,00,546	6,77,15,351.49	Palla, Palatotapada, Khurda, Odisha 752056
2	49	Mr. Dibyajyoti Pattanaik	Mr. Raj Kishore Pattanaik	1 - Equity	17,19,805	8,11,228.86	Palla, Konark Nagar, Palatotapada, Khurda, Odisha 752056
3	52	Belgian Investment Company for Developing Countries NV/SA (A Govt. of Belgium Undertaking)	N.A.	1 - Equity	95,27,723	9,52,77,230	Avenue De Tervueren, 188A B4, 1150, Brussels, Belgium
4.	51	Small Industries Development Bank of India. ("IMEF" A Govt. of India Fund)	N.A	1 - Equity	12,54,907	1,25,49,070	15 Ashok Marg, Hazratganj, Lucknow 226001
5.	53	SIDBI Trustee Company Limited (A/c of "Samridhi Fund")	N.A	1 - Equity	15,42,449	1,54,24,490	SIDBI, Swavalamban Bhavan, C-11 G-Block, 2nd Floor, Bandra Kurla Complex Bandra East Mumbai, 400051
6.	54	DCB Bank Ltd.	N.A.	1 - Equity	18,24,151	1,82,41,510	601 & 602, Peninsula Business Park, 6th Floor, Tower A, Senapati Bapat Marg, Lower Parel, Mumbai, Maharashtra- 400013
7.	55	Oikocredit Ecumenical Development Cooperative Society U.A.	N.A.	1 - Equity	75,40,536	7,54,05,360	Berkenweg 7, 3818 LA Amersfoort The Netherlands



Annapurna Finance Pvt. Ltd. (Formerly Annapurna Microfinance Pvt. Ltd.)

Regd. Office : Plot No. 1215 / 1401. Khandagiri Bari, Infront of Jayadev Vatika, Bhubaneswar - 751 030, Odisha, Tel. : +91 674 - 2386790 Tel. : +91 674 - 2350253, Fax : +91 674 - 2386580

Email info@ampl.net.in; Website : http://www.ampl.net.in, CIN : U65999OR1986PTC015931

8.	56	Women's World Banking Capital	N.A.	1 – Equity	58,00,000	580,00,000	No. 122 E, 42ndStreet, 42ndFloor, New York, NY 10168
9.	57	Partners, LP Bamboo Financial Inclusions Fund II	N.A.	1 – Equity	46,45,695	4,64,56,950	20, boulevard Emmanuel Servais, L- 2535 Luxembourg
10.	58	Oman India Joint Investment Fund II	N.A.	1 – Equity	180,48,942	18,04,89,420	C/o. Oman India Joint Investment Fund, One Indiabulls Centre, Unit No. 1101, Tower 2A, 841, Senapati Bapat Marg, Elphinstone (West), Mumbai – 400 013
11.	59	Asian Development Bank	N.A.	1 – Equity	116,88,702	11,68,87,020	6 ADB Avenue, Mandaluyong, Metro Manila, 1550, Philipines.
12	60	Nuveen Global Impact Fund India S.à r.l	N.A.	1 – Equity	1,33,51,410	13,35,14,100	10, Rue du Château d'Eau L-3364 Leudelange, Grand Duche De Luxembourg
13	61	Annapurna Employees Welfare Trust	Mr Rakesh Ranjan Rath (Trustee)	1 – Equity	71,600	7,16,000.00	At- 1215/1401, Khandagiri Bari, Infront of Jayadev Vatika, Khandagiri, Bhubaneswar, Odisha- 751030
14	63	Accion Gateway Fund LLC	N.A.	1 – Equity	100	1,000	Accion Gateway Fund, LLC, 10 Fawcett St. Suite 204, Cambridge, MA, 02138, USA
15	64	ESF Holdings II	N.A.	1 – Equity	100	1,000	C/O IQ EQ Fund Services (Mauritius) Ltd, 33, Edith Cavell Street, Port Louis, 11324, Mauritius
16	65	Mr. Sanjay Pattanaik	Mr. Bishnu Pattanaik	1 – Equity	6,20,102	55,960.83	At-Nabinabag, Post- Khurda, Odisha- 752055
17	66	Mr. Satyajit Das	Mr. Bijay Kumar Das	1 – Equity	6,20,102	55,960.83	Flat 205, Block A, PDN Horizon, Jagamara, Bhubaneswar-751030
18	67	Société de promotion et de participation pour la coopération economique s.a. (Proparco)	N.A	1-Equity	59,70,985	5,97,09,850	151, rue Saint Honoré, 75001 PARIS
	al	1	la ka	1	9,22,27,855	88,13,11,502	· ····· ·



#### LIST OF PREFERENCE SHAREHOLDERS AS ON 31/03/2023 (Nominal Value of Rs. 10/- each)

SI No.	Folio No.	Name of Share Holder	Name of Beneficial Owner	No. of Shares held	Paid-up Value (in Rs.)	Address of Share Holder
1	2	Mr. Pratap Chandra Dash	AIDS Awareness Trust of Orissa	30,00,000	3,00,00,000	Mangalpur, Bangida, Khurda, Odisha
2	5	ACCION GATEWAY FUND LLC (Sr A1 CCPS)	N.A	84,92,469	8,49,24,690.00	Accion Gateway Fund, LLC, 10 Fawcett St. Suite 204, Cambridge, MA, 02138, USA
3	6	ESF HOLDINGS II (Sr A1 CCPS)	N.A	1,08,08,723	10,80,87,230.00	C/O IQ EQ Fund Services (Mauritius) Ltd, 33, Edith Cavell Street, Port Louis, 11324, Mauritius
4	7	Oikocredit Ecumenical Development Cooperative Society U.A.(Sr A1 CCPS)	N.A	27,17,622	2,71,76,220.00	Berkenweg 7, 3818 LA Amersfoort The Netherlands
Te	otal	I	5	2,50,18,814	25,01,88,140	

For Annapurna Finance Private Limited

For Annapurna Finance Pvt. Ltd. Schor Sta Macha Company Secretary Company Secretary

#### SUBRATA Digitally signed by SUBRATA PRADHAN Date: 2023.11.21 18:53:26 +05'30'

#### ANNAPURNA FINANCE PRIVATE LIMITED LIST OF DEBENTURE HOLDERS AS ON 31.03.2023

S.No	ISIN	Name of Debenture Holders	Address of Debenture Holders	No of NCDs Held		Total Nominal Value (In Rs.)
1	INE515Q07228	MITA TOKARSHI GADA	804 MEENA MAHAVIR SOLITAIRE353/5B R.B. MEHTA RDGHATKOPAR EASTMUMBAI-400077	28000		2800000
2	INE515Q07228	GADA DEVANG TOKARSHI	804 MEENA MAHAVIR SOLITAIRE353/5B R B MEHTA ROADGHATKOPAR EASTMUMBAI-400077	11000	100	1100000
3	INE515Q07228	KRUTIKA TOKARSHI GADA	804 MEENA MAHAVIR SOLITAIRE353/5B R B MEHTA ROADGHATKOPAR EASTMUMBAI-400077	20000	100	2000000
4	INE515Q07228	VIVRITI CAPITAL PRIVATE LIMITED	12 TH FLOOR 471PRESTIGE POLYGONANNASALAI NANDANAMCHENNAI TAMIL NADU-600035	1397250	100	139725000
5	INE515Q07228	DEVANG TOKARSHI GADA	9 MEENA353/5AR.B. MEHTA RD GHATKOPAR (EAST)MUMBAI-400077	9750	100	975000
6	INE515Q07228	VISHWA DEVANG GADA	9 MEENA LOCHANA 2ND FLOOR R.B.MEHTAROAD NEAR LIONS GARDEN GHATKOPAREAST MUI	10000	100	1000000
7	/ INE515Q07228	DHRUVI DEVANG GADA	804 MEENA MAHAVIR SOLITAIRE353/5B R B MEHTA RDGHATKOPAR EASTMUMBAI-400077	24000	100	2400000
8	INE515Q07269	ASIAN DEVELOPMENT BANK	DEUTSCHE BANK AG, DB HOUSE HAZARIMAL, SOMANI MARGP.O. BOX NO 1142, FORTMUMBAI	695	300000	208500000
9	INE515Q07293	BANDHAN BANK LTD	DN 32 SECTOR VSALT LAKE CITYKOLKATA-700091	1000	166666.65	166666650
10	INE515Q07301	UNION BANK OF INDIA	UNION BANK BHAWAN239, VIDHAN BHAWAN MARGNARIMAN POINTMUMBAI-400021	150	1000000	150000000
11	INE515Q07319	AAV S.A.R.L	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	9375	25000	234375000
12	INE515Q07319	MASALA INVESTMENTS S.A.R.L.	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	9375	25000	234375000
13	INE515Q07327	STATE BANK OF INDIA	SBI SG Global Secu. Serv. P. L.Jeevan Seva Extension Bldg.Gr. FloorS.V. Road, Santacruz WMUN	1000	1000000	100000000
14	INE515Q07343	INDIAN BANK	INDIAN BANK TREASURY1ST FLOORMUMBAI SAMACHAR MARG, FORTMUMBAI-400023	250	1000000	25000000
15	INE515Q07350	BANK OF BARODA	DGM,BANK OF BARODASPECIALIZED INTEGRATED TREASURY BR.BST,4TH AND 5TH FLOOR,C-34	250	333333.33	83333332.5
16	INE515Q07384	UTI INTERNATIONAL WEALTH CREATC	STANDARD CHARTERED BANKSecurities Services, 3rd Floor23-25 MAHATMA GANDHI ROADFOI	325	166666.68	54166671
17	INE515Q07392	BLUEORCHARD MICROFINANCE FUND	STANDARD CHARTERED BANKSecurities Services, 3rd Floor23-25 MAHATMA GANDHI ROADFOI	1000	1000000	100000000
18	INE515Q07400	UTI INTERNATIONAL WEALTH CREATC	STANDARD CHARTERED BANKSecurities Services, 3rd Floor23-25 MAHATMA GANDHI ROADFOI	700	1000000	70000000
19	INE515Q07475	VIVRITI INDIA IMPACT BOND FUND	12TH FLOOR NO 471PRESTIGE POLYGONANNA SALAI NANDANAMCHENNAI TAMIL NADU-6000	275	333333.33	91666665.75
20	INE515Q07491	CDC GROUP PLC	HSBC SECURITIES SERVICES11TH FLR, BLDG NO.3, NESCO - IT PARKNESCO COMPLEX, W E HIGH	600	880000	52800000
21	INE515Q07509	GLOBAL ACCESS FUND LP	HDFC BANK LIMITED CUSTODY OPERATIONSEMPIRE PLAZA 1 4TH FLOOR LBS MARGCHANDAN	I 75	1000000	7500000
22	INE515Q07525	MICROFINANCE ENHANCEMENT FACI	HSBC SECURITIES SERVICES11TH FLOOR, BLDG 3, NESCO - IT PARKNESCO COMPLEX, W.E. HIGH	370	1000000	37000000
23	INE515Q07533	COVID-19 EMERGING AND FRONTIER	STANDARD CHARTERED BANKSECURITIES SERVICES, 3RD FLOOR23-25 MAHATMA GANDHI ROA	400	1000000	40000000
24	INE515Q07541	MASALA INVESTMENTS S.A.R.L.	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG, P.O.BOX NO. 1142, FORT MUMBA	33327	7500	249952500
25	INE515Q07541	AAV S.A.R.L	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	33327	7500	249952500
26	INE515Q07558	AAV S.A.R.L	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	3165	100000	316500000
27	INE515Q07558	MASALA INVESTMENTS S.A.R.L.	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	3165	100000	316500000
28	INE515Q07566	TRIODOS SICAV II - TRIODOS MICROFI	STANDARD CHARTERED BANKSECURITIES SERVICES, 3RD FLOOR23-25 MAHATMA GANDHI ROA	500	1000000	50000000
29	INE515Q07574	MICROBUILD, I B. V VRR	KOTAK MAHINDRA BANK LIMITEDKOTAK INFINITI BLDG N. 21 2ND FLRZONE I CUSTODY SERVS	I 220	1000000	22000000
30	INE515Q07582	PRITIBALA AGARWAL	22181 PRESTIGE SHANTINIKETANWHITEFIELD ROAD NEAR ITPLWHITEFIELD MAHADEVAPURAB	2	1000000	2000000
31	INE515Q07582	ROHAN JAY SHAH	7/8 BLOOMING HEIGHTSAUXILLIUM CONVENT ROAD 4PALI HILL NR RAHEJA HOUSEBANDRA W	1	1000000	1000000

32 INE515Q07582 TARUN PURI	6A CRO	WN AURA JAKKUR PLANTATION RDNEAR ITC GARDEN ENCLAVE JAKKURUVTC BANGALO	2	1000000	200000
33 INE515Q07582 RACHNA CHOUD	HARI 1 D MAL	LABAR APARTMENTSNEPEAN SEA ROAD OPP SIMLAHOUSE BUILDING WARDENROAD CU	1	1000000	1000000
34 INE515Q07582 GAGAN MEHTA	W 7 GRE	EATER KAILASH PART2 SOUTH DELHI-110048	2	1000000	200000
35 INE515Q07582 NORTHERN ARC I	MONEY MARKET ALP CUSTOD	DY OPERATIONS YES BANK HOUSE3RD FLOOR OFF WESTERN EXPRESSHIGHWAY SANTAO	73	1000000	7300000
36 INE515Q07582 LEENA DANDEKA	R 13 S REC	GENCY TERRACESPLOT NO 504 CHITRAKAR DHURANDARMARG KHAR WEST MUMBAI-4	10	1000000	1000000
37 INE515Q07582 ANIRUDH DILIP N	1EHTA 9 AVILLI	ION 3RD FLOOR ROOM NO10 L D RUPAREL CROSSROAD MALABARHILL MUMBAI MAHA	10	1000000	1000000
38 INE515Q07582 BANKEY LAL CHO	UDHARY 400 BLO	DCK G NEW ALIPORE NEWALIPORECIRCUS AVENUE KOLKATAWEST BENGAL-700053	4	1000000	400000
39 INE515Q07582 ANILA MAHENDR	A SHAH FLAT NC	D 1601 16TH FLOORPLOT NO 228 LAXMI NIWAS SIRBHALCHANDRA ROADBEHIND RUIAQ	2	1000000	200000
40 INE515Q07582 LEENA DANDEKA	R 13 S REG	GENCY TERRACES PLOTNO 504 CHITRAKAR DHURANDARMARG KHAR WEST MUMBAIM	10	1000000	1000000
41 INE515Q07582 MAHENDRA KUN	VARJI SHAH FLAT NC	D 1601 16TH FLOOR PLOTNO 228 LAXMI NIWAS BEHIND RUIACOLLEGESIR BHALCHANDF	3	1000000	300000
42 INE515Q07582 KALYANI MURAL	I GRACE	E CRESCENT AVENUEKESAVAPERUMAL PURAM RAJAANNAMALAIPURAM S OCHENNAI-🤅	3	1000000	300000
43 INE515Q07582 BANDI VAMSIKR	ISHNA 8 2 293	82 A 389 ROAD NO 22BJUBILEE HILLS HYDERABADANDHRA PRADESH-500033	10	1000000	1000000
44 INE515Q07582 RAINTREE FAMIL	Y OFFICE LLP . 13 S REC	GENCY TERRACE FLATNO 504 17TH ROAD CHITRAKARDHURANDAR MARG KHAR WESTN	10	1000000	1000000
45 INE515Q07582 LEENA DANDEKA	R 13 S REG	GENCY TERRACES PLOTNO 504 CHITRAKAR DHURANDARMARG KHAR WEST MUMBAI-4	8	1000000	800000
46 INE515Q07582 VIJAY KUMAR CH	OUDHARY 7 5 82 1	LO PENT HOUSE SEA SHOREAPARTMENTS PANDURANGAPURAMVISAKHAPATNAM URBA	4	1000000	400000
47 INE515Q07582 AMIT MAHENDRA	A MEHTA 92 CASA	A GRANDE CO OP SOCIETY22 K S TAYABJI ROAD NEAR HANGINGGARDEN MALABAR HILL	2	1000000	200000
48 INE515Q07582 DEEPA ANANT BA	NDEKAR 3RD FLC	DOR RAJ TARA F L GOMESROAD NEAR TILAK MAIDAN SOUTHGOA VASCO DA GAMA-403	2	1000000	200000
49 INE515Q07582 SRINIVASAN .	NO 3 PA	ALANISWAMY NAIDUSTREET COIMBATORETAMIL NADU-641018	20	1000000	200000
50 INE515Q07582 VANDANA KHUR	ANA B 6 KIRT	TI NAGAR RAMESHNAGAR RAJOURI GARDEN WESTDELHI-110015	2	1000000	200000
51 INE515Q07582 DEEP KALRA	J 6 11 A	DLF PHASE 2GURGAON HARYANA-122002	4	1000000	400000
52 INE515Q07582 TANVI ANKUR SA	VLA B 163 KA	ALPTARU HORIZONS K AHIRE MARG WORLI BEHINDDUNLOP HOUSE MUMBAI-400018	1	1000000	100000
53 INE515Q07582 ATUL JAIN	W 102 2	2ND FLOOR GREATERKAILASH PART 1 NEW DELHI-110048	3	1000000	300000
54 INE515Q07582 RAJESH MAGOW	PNB 101	1 PINNACLE DLF CITYPHASE V GURGAONHARYANA-122009	4	1000000	400000
55 INE515Q07582 ARSHAD QAYYUI	M STATION	N ROAD JALALPURBHADOHI BHADOHI SANT RAVIDASNAGAR BHADOHI-221401	2	1000000	200000
56 INE515Q07582 ZAREEN ARSHAD	QAYYUM C O QAY	YYUM EXPORTS QAYYUMHOUSE STATION ROAD SANTRAVIDAS NAGAR BHADOHIBHAD	2	1000000	200000
57 INE515Q07582 APURVA NATVAR	PARIKH & CO PRIVA PLOT NO	O 411B HEMU KALANIMARG CHEMBUR MUMBAI-400071	4	1000000	400000
58 INE515Q07582 S AMIT SPECIALIT	Y CHEMICALS PRIVA 105 A N	IEELAM CENTREHIND CYCLE ROAD WORLIMUMBAI MAHARASHTRA-400025	2	1000000	200000
59 INE515Q07582 ATUL JAIN	98 FIRST	T FLOOR OKHLAINDUSTRIAL ESTATE PHASE IIIDELHI-110020	3	1000000	300000
60 INE515Q07582 PAWAN MEHTA	B 10 EPS	SILON YEMLUR MAINROAD YEMLUR BANGALORENORTH BANGALORE KARNATAKABEN	2	1000000	200000
61 INE515Q07582 PERFO CHEM IND	NA PVT LTD . 101 A N	IEELAM CENTRE 1 STFLOOR 2498 HIND CYCLEROAD BEHIND GLAXO WORLIMUMBAI-400	2	1000000	200000
62 INE515Q07582 RANJAN ALOK	8 2 293	82 AL 7 C ROAD NO 70 NEARANDHRA JYOTHI JUBILEE HILLSHYDERABAD ANDHRA PRAD	1	1000000	100000
63 INE515Q07582 RAJA VAIDYANAT	HAN VENKATARAMA ONO 4 N	NNO 7 CENTRALAVENUE KESAVAPERUMALPURAM CHENNAI TAMIL NADU-600028	4	1000000	400000
64 INE515Q07582 MADAN MOHAN	MOHANKA 146 BLO	DCK GNEW ALIPORE KOLKATAWEST BENGAL-700053	6	1000000	600000
65 INE515Q07582 ATUL JAIN	W 102 2	2ND FLOOR GREATERKAILASH PART I DELHI-110048	3	1000000	300000
66 INE515Q07582 ATUL JAIN	W 102 2	2ND FLOORGREATER KAILASH PART IDELHI-110048	3	1000000	300000

67	INES15007592 DA	ARTHASARADHI REDDY BANDI	8 2 293 82 A 389 ROADNO 22B JUBILEE HILLSHYDERABAD ANDHRA PRADESH-500033	10	1000000	10000000
	INE515Q07582 PA			01	1000000	2000000
			C O TARUN PURI CROWN AURA 6A JAKKURPLANTATION ROAD NEAR NITESH ITCGARDEN ENCLA	2		
	INE515Q07582 AF		FLAT NO 2 S MITHILA APARTMENTSROAD NO 2 BANJARA HILLSBEHIND JAPANESE PARKKHAIRA	1	1000000	1000000
			601 701 SURAJ PRAKASH 86SHANKAR GHANEKAR MARGRAVINDRA NATYA MANDIRPRABHADE	2	1000000	200000
		ORBES MARSHALL PVT LTD .	A 34 35 H BLOCKMIDC PIMPRI PUNE-411018	6	1000000	600000
		ISTRA ITCL (INDIA) LIMITED .	THE IL AND FS FINANCIAL CENTRE7TH FLOOR PLOT NO C 22 G BLOCKBKC BANDRA EAST MUMB	4	1000000	400000
-			OMKAR ALTA MONTE C WING FLOTNO 2207 OFF WESTERN EXPRESSHIGHWAY PATHANWADI N	1	1000000	1000000
		HAHIN SHERIAR NOOREYEZDAN	C 26 GROUND FLOORPAMPOSH ENCLAVE-110048	1	1000000	1000000
		1AYANK RAJGARHIA	50A FLAT 11A MULTICONESTELLE BUILDING PRINCEANWAR SHAH ROADKOLKATA-700033	1	1000000	1000000
76	INE515Q07582 DE	EVIPRASAD KANHAIYALAL TAPARIA	28 A JAL DARSHAN 51NEPEAN SEAROAD OPPPRIYADARSHINI PARK AUGUSTKRANTI MARG MUN	1	1000000	1000000
77	INE515Q07582 VA	AENU GOEL	126 L MODEL TOWN PANIPATHARYANA-132103	1	1000000	1000000
78	INE515Q07582 KA	ARSAHI INFRAVENTURES LLP .	8 2 293 82 NL 138 AND 139 MPMLA COLONY ROAD NO 10CJUBILEE HILLS HYDERABAD-500033	20	1000000	2000000
79	INE515Q07582 SU	UMATI BHANWARLAL KOTHARI	2103A ONE AVIGHNA PARK MAHADEVPALAV MARG NEAR CURRY ROADBRIDGE MUMBAI CITY	5	1000000	500000
80	INE515Q07582 VI	K CHOPRA	B 3102 31ST FLR INDIABULLSBLU GANPAT RAO KADAMMARG WORLI NAKA MUMBAIMAHARAS	1	1000000	1000000
81	INE515Q07582 PR	REM SUDHA GOEL	HOUSE NO 126 LPANIPAT VARDMADAL TAUN-132103	1	1000000	1000000
82	INE515Q07582 RA	ANJIT RADHAKRISHNAN MENON	8 11 TWINKLE STAR GHATLAVILLAGE ROAD CHEMBURMUMBAI-400071	1	1000000	1000000
83	INE515Q07582 PR	RAFULLA NAGESH PATEL	2 8 B SARAT BOSE ROADFLAT 12J L R SARANICIRCUS AVENUE KOLKATA-700020	6	1000000	600000
84	INE515Q07582 PR	RAVEENKUMAR B KOTHARI	B 25 KESAR KUNJ VEERDURGADAS NAGAR PALI PALIRAJASTHAN PALI-306401	3	1000000	300000
85	INE515Q07582 AC	CG ASSOCIATED CAPSULES PVT LTD	131 KANDIVALI INDUSTRIALESTATE KANDIVALI WESTASSOCIATED CAPSULES PVT LTDMUMBAI	38	1000000	3800000
86	INE515Q07582 LC	OPAMUDRA JENA	1603 SAMARTH AANGAN 1 AOPP SHANTIVAN OSHIWARAANDHERI WEST MUMBAI-400053	1	1000000	1000000
87	INE515Q07582 SA	ANJULA SUMATI KOTHARI	2103A ONE AVIGHNA PARKMAHADEV PALAV MARG NEARCURRY ROAD BRIDGE MUMBAICITY N	2	1000000	200000
88	INE515Q07582 DC	OUBLE DOWN RETAIL PRIVATE LIMIT	1 CRESCENT AVENUE K P PURAMCHENNAI TN-600028	15	1000000	15000000
89	INE515Q07590 BL	LUEORCHARD MICROFINANCE FUND	STANDARD CHARTERED BANKSecurities Services, 3rd Floor23-25 MAHATMA GANDHI ROADFOR	460	1000000	46000000
90	INE515Q07608 M	1ASALA INVESTMENTS S.A.R.L.	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	23437	10000	234370000
91	INE515Q07608 AA	AV S.A.R.L	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	23437	10000	234370000
92	INE515Q08051 HE	EMANT DATTA	PLOT NO 2292/2294NEW LINGARAJ COLONYBHUBANESWAR OLD TOWN KHORDABHUBANESW	4	10000	40000
93	INE515Q08051 JA	ANE MARY GEORGE	CHIRACKAL PIRAVOM PO PIRAVOMERNAKULAM PIRAVOM ERNAKULAMERNAKULAM KERALA	19	10000	190000
94	INE515Q08051 KE	EVIN GREGORY VAZ	1155, 11TH CROSS, 12TH MAIN,W O C ROAD, 2nd STAGEMAHALAKSHMIPURAM, BANGALOREK	6	10000	60000
95	INE515Q08051 RA	ACHNA MURARKA	B 303 GRENVILLE APTS LOKHANDWALACOMPLEX ANDHERI WESTMUMBAI MAHARASHTRA-400	10	10000	100000
	,		A 402 KSHITIJ GE LINKSRAM MANDIR ROAD NEAR MOVIE STARGOREGAON WESTMUMBAI MAH	1	10000	10000
		ARTIK MEHTA	E 203 NILAMBERBELLISS B/S SPRING COUNTRY2 VASNA BHAYLIVADODARA GUJARAT INDIA-391	15	10000	150000
			SILVER MELODY501 CHURCH AVESANTACRUZ WESTMUMBAI-400054	68	10000	680000
			SILVER MELODY501 CHURCH AVENUESANTACRUZ WMUMBAI-400054	33	10000	330000
			7/123,SREEVALSAM,PUTHUR ROAD,KOPPAMPALAKKADPALAKKAD-678001	12	10000	120000
	INE515Q08051 H		NO 29 TELECOM LAYOUT1ST STAGEMYSOREMYSORE-570009	10	10000	100000

		1				
	,	SUKHVINDER SINGH SAINI	5464MODERN HOUSING COMPLEXMANIMAJRACHANDIGARH-160101	5	10000	50000
	INE515Q08051		SEETHA COTTAGECV RAMAN PILLAI ROADVELLAYAMBALAMTRIVANDRUM-695010	48	10000	480000
		SHIRISH BHALCHANDRA JOSHI	M 204COSMOS MAGARPATTA CITYHADAPSARPUNE-411028	1	10000	10000
105	INE515Q08051	KRISHAN KUMAR ARORA	ICE 023 THE ICONDLF CITY PHASE 5NEAR PARAS HOSPITALGURGAON HARYANA-122009	17	10000	170000
106	INE515Q08051	KAMLESH ARORA	ICE 023 THE ICONDLF CITY PHASE 5NEAR PARAS HOSPITALGURGAON HARYANA-122009	28	10000	280000
107	INE515Q08051	TEXWAN SIO	26-B, CAMAC STREETVTC PARK STREET HOKOLKATA-700016	14	10000	140000
108	INE515Q08051	JAYASHREE GANAPATHI	B - 402 RISHI APARTMENTSALAKNANDANEW DELHI-110019	12	10000	120000
109	INE515Q08051	NAGABHUSHAN KHAMITKAR	H NO 12 VIJAY LAKSHMI NIVASSHAHBAD ROAD, BEHIND CHANIAYA BHAVANETTANGI BHATTI, K	12	10000	120000
110	INE515Q08051	ANAND VASANT GOKHALE	B-103 GLORIA PAUD MULSIROAD BAVDHANPUNE-411021	9	10000	90000
111	INE515Q08051	SHRIHARI VASANT KULKARNI	401 SHARNAG APARTMENT PLOT NO 1718TH CROSS MALLESHWARAMNR PRADHAN APTSBAN	10	10000	100000
112	INE515Q08051	DEEPA BHARGAVA	W/O ANIL KUMAR BHARGAVA285 HARI BHAU UPADHYAY NAGARBEHIND DAHARSEN SMARAKA	23	10000	230000
113	INE515Q08051	ASEEM JAYENDRA BHAVSAR	B, 1501 PAARIJAT ECLATB/H ISCON TEMPLEOFF S G HIGHWAYAHMEDABAD (GUJARAT)-380058	145	10000	1450000
114	INE515Q08051	IFMR FIMPACT LONG TERM CREDIT FU	10TH FLOOR PHASE IIITM RESERCH PARKKANGAM VILLAGE TARAMANICHENNAI TAMIL NADU-	19640	10000	196400000
115	INE515Q08051	VASANTI UDAY DOCTOR	SUPREMA PALACIO 501 VIVARO BANERROAD SNO. 29/2 3 NEAR PAN CARDCLUB BANERPUNE-4	39	10000	390000
116	INE515Q08051	SARASWATHI NAYAR	1607 ADITHYA6 VATTIYOORKAVUTHIRUVANANTHAPURAMTHIRUVANANTHAPURAM-695038	13	10000	130000
117	INE515Q08051	ADITI ASHISH DESHMUKH	FLAT NO 903 PLOT NO 29SWAYAMPRABHA CO OP SOCYRAMBAUG COLONY PAUD ROADKOTHF	14	10000	140000
118	INE515Q08051	RAM PHERAN LAL	645A/114560SARASWATI JANKIPURAMVISTAR PURAM ROADLUCKNOW-226027	23	10000	230000
119	INE515Q08051	RENU KAPOOR	HOUSE NO-284BHERA ENCLAVEPASCHIM VIHARNEW DELHI-110087	21	10000	210000
120	INE515Q08051	ARATI RAHUL PHADKE	HNO 402 A/ BUILDING KSHITIJAPARTMENT 9 GREEN PARK JAVALSAHAKARNAGAR 02 PUNE CIT	7	10000	70000
121	INE515Q08051	SANGEETA CHANDRASHEKHAR PURAN	PLOT NO 28 GIRIJA SOCIETY HARIPRABHA MIT COLLEGE KOTHRUDPUNE-411038	4	10000	40000
122	INE515Q08051	APARNA SONI	A 10/4 VASANT VIHARAUXILIUM SCHOOL VASANT VIHARKUSUMPUR SOUTH WEST DELHINEW	104	10000	1040000
123	INE515Q08051	CHANDRASHEKHAR NARHAR PURANI	PLOT NO 28 GIRIJA SOCIETYHARIPRABHA NEAR MIT COLLEGEKOTHRUDPUNE-411038	4	10000	40000
124	INE515Q08051	ABHIJIT ROY	NO-21/4SASHI BHUSHAN BANERJEE ROADPASCHIM BARISHAKOLKATA-700008	9	10000	90000
125	INE515Q08051	MAHINDRA GOKULDAS PARIKH	GOKUL NIWASA BAJAJROAD VILLE PARLEMUMBAI-400056	6	10000	60000
126	INE515Q08051	SHEELA PANDEY	6/176 VINEET KHAND GOMTINAGAR HUSERIA GOMTI NAGARLucknow-226010	7	10000	70000
127	INE515Q08051	AMAR KUMAR MUKHERJEE	FLAT-3 153LAKE GARDENSKOLKATA-700045	18	10000	180000
128	INE515Q08051	MAURICE RAO	H.NO.1054 TOP FLOORSECTOR-19BCHANDIGARHCHANDIGARH-160019	20	10000	200000
129	INE515Q08051	NANDALA	G2 SHIVAJI RESIDENCYRUSTUMBAGH MAIN ROADOLD AIRPORT ROADBANGALORE-560017	53	10000	530000
130	INE515Q08051	RAJ KUMAR BAJAJ	HOUSE NO 1931/78/43STREET NO 6BASANT NAGARLUDHIANA-141008	17	10000	170000
131	INE515Q08051	K B SUNIL KUMAR	TC 14/788(21) VALLEY VIEW GARDENSPOTHUJANAM LANE KUMARAPURAMTHIRUVANANTHAP	10	10000	100000
		SAVITHA T CHINOY	443 C 1st A CROSS IDEAL HOMESTOWNSHIP BANGALORE SOUTHRAJARAJESHWARI NAGARBAN	9	10000	90000
133	INE515Q08051	VIVEK RAGHUNATH DHOLE	A-2 KRUSHNA RESIDENCY TRIMBAK ROADNEAR POLICE COMMISSIONER OFFICEP AND T COLON	12	10000	120000
134	INE515Q08051	ANITA SINGH CHAUHAN	143 ELDECO GREENSOPPOSITE RBI BANKRAFI AHMAD KEDWA MARGGOMTI NAGAR LUCKNOW	6	10000	60000
	INE515Q08051		NO-625/513TH MUMFORDGANJALLAHABAD-211002	16	10000	160000
	INE515Q08051		H 1308 SOBHAMAY FLOWER SARJAPUROUTER RING ROAD GREEN GLEN LAYOUTBELLANDUR B	32	10000	320000

137	INE515Q08051	VIPIN SRIVASTAVA	NO.14-242/236DOYENS TOWNSHIPSERILINGAMPALLYHYDERABAD-500019	7	10000	70000
138	INE515Q08051	SACHIN ANIL GUPTE	4TH FLOOR FLAT NO 402 GOKHALEGARIMA APARTMENT LANE NO 9PRABHAT ROADPUNE MAH	9	10000	90000
139	INE515Q08051	SATYA NARAYAN ZINDAL	FLAT NO 805 GRACIOUS TOWERPLOT NO GH-12 SECTOR-56GURGAONHARYANA-122011	3	10000	30000
140	INE515Q08051	PAYAL SHARMA	3F-402 AWHO TOWN SHIPGURJINDER VIHAR SECTOR CHI 1POCKET NO 5 KASANAGAUTAM BUE	1	10000	10000
141	INE515Q08051	SHYAM SUNDER KALRA	L-34NEAR METRO HOSPITALSECTOR-11NOIDA UTTAR PRADESH-201301	12	10000	120000
142	INE515Q08051	RAJEEV BIHAN	GA-807URBANA JEWELSOPPOSITE MUHANA MANDIJAIPUR-302020	5	10000	50000
143	INE515Q08051	ALOKA DASGUPTA	FLAT 1B 28JODHPUR PARKCIRCUS AVENUEKOLKATA-700068	46	10000	460000
144	INE515Q08051	KAVITA KHARE	07/704 PARSVNATH PLANETVIBUHTI KHANDGOMTI NAGARLUCKNOW-226010	4	10000	40000
145	INE515Q08051	ANSHU GUPTA	11/2 PALM ROADSHIPRA SUNCITYINDIRAPURAMGHAZIABAD-201014	4	10000	40000
146	INE515Q08051	PRIYANKA DUDEJA	1163,GALI,6,ARJUN NAGAR, NEAR ARYASAMAJ MANDIR,GURGAONHARYANA,INDIA-122001	2	10000	20000
147	INE515Q08051	AJAY KUMAR SOOD	2086 PHASE 1 DUGRI ROAD URBAN ESTATELUDHIANA PUNJAB,LUDHIANAPUNJAB,INDIA-14100	5	10000	50000
148	INE515Q08051	GANDHAM VENKATA NARAYANA MU	103 HBNR 5/4/43/1 KAMALANAGAR13TH STREET VANASTHALIPURAMHYDERABADANDHRA PR	23	10000	230000
149	INE515Q08051	NORTHERN ARC CAPITAL LIMITED	IFMR CAPITAL FINANCE PRIVATE LIMITEDNO 1 X FLOOR KANAGAM VILLAGEIIT RESEARCH PARK	2184	10000	21840000
150	INE515Q08051	CHELIKANI VENKATA ANIRUDH RAO	S O CHELIKANI VENKATA ATCHUT RAO ,HNO 10 27 13 A ,WALTAIR UPLANDS ,OPPWALTAIR,SIRI	1	10000	10000
151	INE515Q08051	HETAL TEJAS FALDU	TF 13FLR RAJESHWARI PRASIDDHIIDEAL HOMES TOWNSHIP 25TH MAIN36TH CROSS R R NAGAI	2	10000	20000
152	INE515Q08051	Sheila mehta	5 101 SEC 2 RAJENDRA NGR NR BUDDHAPARK SAHIBABAD, GHAZIABADUTTAR PRADESH, INDIA	12	10000	120000
153	INE515Q08051	ARUNIMA PORTER	C491 SARITA VIHAR, SARITA VIHAR S.OAALI, SOUTH DELHIDELHI, INDIA-110076	55	10000	550000
154	INE515Q08051	NAGA MANI N	A/404 4TH FLOORGUNDECHA HEIGHTSLBS MARG KANJURMARG WESTMUMBAI MAHARASHTR	5	10000	50000
155	INE515Q08051	SRIVIDYA T N	A 402 KSHITIJ GE LINKS CHSLRAM MANDIR ROADMOTILAL NAGARGOREGAON WEST MUMBAI-	2	10000	20000
156	INE515Q08051	AJAY KUMAR SOOD	C 180 PHASE VI FOCAL POINT LUDHIANA,LUDHIANAPUNJAB,INDIA-141010	5	10000	50000
157	INE515Q08051	VEENA JAIN	09184 ATS ADVANTAGE AHINSA KHAND 1NEAR ADITYA MALL INDIRAPURAMSHIPRA SUN CITYO	38	10000	380000
158	INE515Q08051	REKHA SHRIKANT KULKARNI	FLAT8,NIVEDITA HSG SOC,MIT COLLEGEROAD, KOTHRUD,RAMBAUG COLONY,PUNEMAHARASH	111	10000	1110000
159	INE515Q08051	ANKUR MAHESHWARI HUF	D-914 BRIGADE COSMOPOLISWHITEFIELD MAIN ROADWHITEFIELDBANGALORE-560066	10	10000	100000
160	INE515Q08051	MURALIDHAR KOLAR SRIDHAR	248 1 ST CROSS BSK 3RD STAGE2ND PHASE 6TH BLOCKBANGALORE SOUTHBANGALORE-56008	16	10000	160000
161	INE515Q08051	PRAMOD KESHAV JOSHI	S O JOSHI KESHAV PLOT 515 SECTOR 27NIGDI PRADHIKARAN PUNE CITY PUNE,PUNEMAHARASI	2	10000	20000
162	INE515Q08051	MANJUVANI V MOPURI	PLOT NO 185 FLAT NO 101 1ST FLOORSAIPURI VENKATESWARA RESIDENCYSAINIKPURIHYDERA	12	10000	120000
163	INE515Q08051	VIKAS BANSAL	BANSAL CINEMAG T ROADSIKANDRABADBULANDSHAHR-203205	3	10000	30000
164	INE515Q08051	RAVI MANOKARAN VARMA	4033 JOY APARTMENTS PLOT 2SECTOR 2 OPP J M INTERNATIONALSCHOOL DWARKA SOUTH W	3	10000	30000
165	INE515Q08051	INDERJIT KAUR	NO 25 GROUND FLOORSECTOR 28 INDUSTRIAL AREACHANDIGARH-160002	12	10000	120000
166	INE515Q08051	RADHA SRINIVAS	NO 288/B9TH A MAIN ROAD 5TH BLOCKJAYANAGARBANGALORE-560041	9	10000	90000
167	INE515Q08051	NIYOGIN FINTECH LIMITED	307 3RD FLOOR MARATHON ICON OFFGANPATRAO KADAM MARG LOWERPAREL WEST OPP PE	4900	10000	4900000
168	INE515Q08051	GOURAV GOEL	R-14/129,RAJ NAGARGHAZIABAD-201002	6	10000	60000
169	INE515Q08051	CHHAYA SINGH	FLAT NO D-303CORONA OPTUS SECTOR 37CNEAR BASAI ENCLAVE PART-2GURGAON-122001	10	10000	100000
170	INE515Q08051	GRACE JOSEPH EDWARDS	FLAT NO 5 KUMAR PALM GROOVESR NO 17/1/1 KONDHWA BKOPP SAI SERVICE STATIONPUNE	6	10000	60000
171	INE515Q08051	RAKESH KUMAR CHAUHAN	4196, B 5/6VASANT KUNJSO SOUTH WEST DELHI-110070	17	10000	170000

172	INE515Q08051 VENKATA VASUDEV	7 1 621/116 H NO 138/2 R T S R NAGARHYDERABAD ANDHRA PRADESH-500038	45	10000	450000
173	INE515Q08051 ZAINAB ASIF MOONIM	C/5 4TH FLR YORK HOUSEHENRY ROADOPP BEST DEPOTCOLABA-400005	2	10000	20000
174	INE515Q08051 SAMAR VIKRAM BHASIN	VILLA 3 THE GRAN CARMEN ADDRESSAMBEDKAR NAGAR NEAR DECATHLONSARJAPUR MAIN R	7	10000	70000
175	INE515Q08051 ANILKUMAR C BAINDUR	8/2 TALMAKI WADI JAVJI DADAJI MARGNEAR BHATIA HOSPITALTARDEO GRANT ROAD-400007	12	10000	120000
176	INE515Q08051 KAINUSHA S MOONIM	YORK HOUSE C BLOCK4TH FLOOR FLAT NO 5 HENRY ROADOPP BEST DEPOT COLABACOLABA-40	12	10000	120000
177	INE515Q08051 AASHISH MEHRA	HOUSE NO 5201DLF PHASE 4, DLF CITYGALLERIA DLF IVGURGAON-122009	38	10000	380000
178	INE515Q08051 BIPASHA DUTTA	120 JODHPUR PARKNEAR JODHPUR PARK GIRLS SCHOOLKOLKATAKOLKATA WEST BENGAL-700	11	10000	110000
179	INE515Q08051 INDERBIR KAUR	C/O JASWINDER SINGH KHEHRAHOUSE NO 3 BHUPINDRA KOTHI ROADBEHIND YPS MKT STADI	28	10000	280000
180	INE515Q08051 ASIF SAIFU MOONIM	YORK HOUSE C BLOCK 4TH FLOORFLAT NO 5 HENRY ROADMUMBAI-400001	1	10000	10000
181	INE515Q08051 Mr. Nimesh Shashikant Parikh	S/O: Parikh ShashikantManmohandas,203,Redwood A,Evershine Greens,New LinkRoad,Adarsh	50	10000	500000
182	INE515Q08051 ALKA RASTOGI	BAHRAICH GUDRI BAHRAICH UTTAR PRADESHBAHRAICHUTTAR PRADESHBAHRAICH UTTAR PRA	9	10000	90000
183	INE515Q08051 PROFECTUS CAPITAL PRIVATE LIMITE	B/17 4TH FLOOR ART GUILD HOUSELBS MARG KURLA WESTPHOENIX MARKET CITYMUMBAI M	4950	10000	49500000
184	INE515Q08051 ANIL SUDHAKAR KAPDI	6 VRUNDALI APARTMENTBHANDARKAR ROADPUNE-411004	2	10000	20000
185	INE515Q08051 BIPASHA DUTTA	120 JODHPUR PARKNEAR JODHPUR PARKGIRLS SCHOOLKOLKATA-700068	11	10000	110000
186	INE515Q08051 SONIA LYNETTE DAVID	304, RAJPUR ROAD-151/11 GREEN VALLEY COLONYDEHRADUN-248001	2	10000	20000
187	INE515Q08051 RASHMI KHANNA	S-17 1ST FLOORPANCHSHILA PARKNEW DELHIDELHI-110017	15	10000	150000
188	INE515Q08051 SABITHA R	48/493RD AVENUE AKSHAYA COLONYPADI AMBATTURCHENNAI-600050	2	10000	20000
189	INE515Q08069 KAMAL DEVA TAYAL	32 ANAND LOK GROUND FLOORNEAR KAMALA NEHRU COLLAGENEW DELHI-110049	1	1000000	1000000
190	INE515Q08069 PREETI HIRANANDANI	0551 ATS VILLAGE SECTOR 93AEXPRESSWAY NOIDAUTTAR PRADESH-201304	1	1000000	1000000
191	INE515Q08069 SHABNAM NAVAL MINWALLA	4 BATRA HOUSESORAB BHARUCHA ROADCOLABAMUMBAI-400005	2	1000000	200000
192	INE515Q08069 AASHISH MEHRA	HOUSE NO 5201DLF PHASE 4, DLF CITYGALLERIA DLF IVGURGAON-122009	1	1000000	1000000
193	INE515Q08069 ANJALI JHALARIA	FLAT NO 1804 E WING IVYMAHINDRA SPLENDOUR LBS MRGOPP MAGNET MALL BHANDUP WE	1	1000000	1000000
194	INE515Q08069 RAJENDRANATH SHANKARNATH FOT	FLAT NO 402 4TH FLOOR SABARIASHVILLE NB PATIL MARG JANI COMPOUNDGHATLA VILLAGE (	1	1000000	1000000
195	INE515Q08069 K SHAKUNTALA	53A C-4-D JANAKPURIB -1 S O WEST DELHIDELHI-110058	3	1000000	300000
196	INE515Q08069 VINAYAK M DONDE	RIDHI SIDDHI BANGLOWGENERAL ARUN KUMAR VAIDYA ROADOPP BAPAT HOSPITALPACHPAK	5	1000000	500000
197	INE515Q08069 RUGMINI MANGATTUTHODY NAIR	GOKUL PLOT NO. 47413TH ROADCHEMBURMUMBAI-400071	4	1000000	400000
198	INE515Q08069 KANU TAYAL	32 GROUND FLOOR ANAND LOKNEAR KAMLA NEHRU COLLAGE SOUTHNEW DELHI-110049	1	1000000	1000000
199	INE515Q08069 VINAY AGHI HUF	HOUSE NO C-10 IIND FLOORSOUTH EX PART 2-110049	1	1000000	1000000
200	INE515Q08069 NINA RAJEN KILACHAND	601 BAKHTAWAR BLDGOPP COLABA POST OFF-400005	1	1000000	1000000
201	INE515Q08069 ANJILA KHURANA	542 ATS VILLAGE SECTOR 93A NOIDAMAHARISHI NAGARUTTAR PRADESH-201304	1	1000000	1000000
202	INE515Q08069 SUNITA SINGH	A-222 SURAJMAL VIHARDELHI-110092	1	1000000	1000000
203	INE515Q08069 RAKESH SINGHAL HUF	218 BHAGIRATHI APTTS 13/1SEC 9 ROHININEW DELHI-110085	1	1000000	1000000
204	INE515Q08069 USHA TAYAL	62 ANAND LOKSOUTH-110049	2	1000000	200000
205	INE515Q08069 VIDYA VINAYAK DONDE	RIDHI SIDDHI BANGLOWGENERAL ARUN KUMAR VAIDYA ROADOPP BAPAT HOSPITALPACHPAK	1	1000000	1000000
206	INE515Q08069 NORTHERN ARC CAPITAL LIMITED	IFMR CAPITAL FINANCE PRIVATE LIMITEDNO 1 X FLOOR KANAGAM VILLAGEIIT RESEARCH PARK	51	1000000	51000000

207	INE515Q08093	GEETHA PADMANABHAN	A S 1 GR GRAND RESIDENCY JP NGR 6THPHASE KANAKAPURA MN RDBANGALOREKARNATAKA-	1340	100	134000
208	INE515Q08093	PRABIR PANDA	PLOT NO 48 SR NO 213NORTH RAJIV NAGARVIMAN NAGARPUNE-411014	2510	100	251000
209	INE515Q08093	ANITA RATHORE	FLAT NO-504 JANKI APARTMENTOPPOSITE FINE AVENUEKOLAR ROAD NAYAPURABHOPAL-4620	580	100	58000
210	INE515Q08093	RAJ KUMAR BAJAJ	HOUSE NO 1931/78/43STREET NO 6BASANT NAGARLUDHIANA-141008	3280	100	328000
211	INE515Q08093	LATHA JAMES	32/1165 BLISS NETTAYIKODATH ROADPALARIVATTOM P OPALARIVATTOM S O ERNAKULAMKE	3800	100	380000
212	INE515Q08093	KEDAR RAMESH DESHPANDE	A 402 KSHITIJ GE LINKSRAM MANDIR ROAD NEAR MOVIE STARGOREGAON WESTMUMBAI MAH	1405	100	140500
213	INE515Q08093	PRASHANT RAJORE	NO 653 SACHAPIRSTREET CAMPPUNE-411001	5550	100	555000
214	INE515Q08093	BINDU PANIKAR	2A1 RDS,AVENUEONEPANAMPILLYNAGAR POPANAMPILLYNAGAR SOERNAKULAM-682036	4750	100	475000
215	INE515Q08093	BINA CATHERINE KORAH	TC 14/253 2 POONTHI ROADKUMARAPURAMKUMARAPURAMTRIVANDRUM-695011	3700	100	370000
216	INE515Q08093	ASHOK KUMAR AGARWAL	A502, CONNOISSEUR TWIN TOWER, PLOT-GH9, NEAR GOLDSOUK, SECTOR 43, KANAHI 73, GURGA	4030	100	403000
217	INE515Q08093	ALKA RASTOGI	BAHRAICH GUDRI BAHRAICH UTTAR PRADESHBAHRAICHUTTAR PRADESHBAHRAICH UTTAR PRA	2690	100	269000
218	INE515Q08093	ANJANA SUNIL NATH	TC 9/138 29 1H SARASWATHI NILAYAMJAWAHAR NAGAR KAUDIARTHIRUVANANTHAPURAM K	6040	100	604000
219	INE515Q08093	MENAKATH SUDHA UNNIKRISHNAN	7/123,SREEVALSAM,PUTHUR ROAD,KOPPAMPALAKKADPALAKKAD-678001	2250	100	225000
220	INE515Q08093	M PRATHIMA	SEETHA COTTAGECV RAMAN PILLAI ROADVELLAYAMBALAMTRIVANDRUM-695010	7020	100	702000
221	INE515Q08093	ANIL PANDE	NO-84 DEERWOOD CHASENIRVANA COUNTRYSECTOR-50GURGAON-122018	2930	100	293000
222	INE515Q08093	TEXWAN SIO	26-B, CAMAC STREETVTC PARK STREET HOKOLKATA-700016	5560	100	556000
223	INE515Q08093	KRISHAN KUMAR ARORA	ICE 023 THE ICONDLF CITY PHASE 5NEAR PARAS HOSPITALGURGAON HARYANA-122009	7850	100	785000
224	INE515Q08093	KAMLESH ARORA	ICE 023 THE ICONDLF CITY PHASE 5NEAR PARAS HOSPITALGURGAON HARYANA-122009	100	100	10000
225	INE515Q08093	MAYA BHATTACHARYA	107/A INDRA BISWAS ROADBELGACHIABANKURA-700037	4540	100	454000
226	INE515Q08093	ADITI ASHISH DESHMUKH	FLAT NO 903 PLOT NO 29SWAYAMPRABHA CO OP SOCYRAMBAUG COLONY PAUD ROADKOTH	6590	100	659000
227	INE515Q08093	CHANDRALEKHA ANAND SIO	26-B, CAMAC STREETPARK STREET H.OKOLKATA-700016	5490	100	549000
228	INE515Q08093	VASANTI UDAY DOCTOR	SUPREMA PALACIO 501 VIVARO BANERROAD SNO. 29/2 3 NEAR PAN CARDCLUB BANERPUNE-4	1240	100	124000
229	INE515Q08093	JAYASHREE GANAPATHI	B - 402 RISHI APARTMENTSALAKNANDANEW DELHI-110019	3400	100	340000
230	INE515Q08093	NAGABHUSHAN KHAMITKAR	H NO 12 VIJAY LAKSHMI NIVASSHAHBAD ROAD, BEHIND CHANIAYA BHAVANETTANGI BHATTI, K	2660	100	266000
231	INE515Q08093	BHARTINDER KESAR	HNO 274SECTOR 33ASECTOR 20CHANDIGARH-160020	5760	100	576000
232	INE515Q08093	DEVASHISH BINANI	26 B AURANGZEB ROADDELHI-110011	1820	100	182000
233	INE515Q08093	SHIRISH BHALCHANDRA JOSHI	M 204COSMOS MAGARPATTA CITYHADAPSARPUNE-411028	3840	100	384000
234	INE515Q08093	SARASWATHI NAYAR	1607 ADITHYA6 VATTIYOORKAVUTHIRUVANANTHAPURAMTHIRUVANANTHAPURAM-695038	4400	100	440000
235	INE515Q08093	BELA SANT	FLAT NO C 194WESTEND HEIGHTSDLF PHASE 5GURGAON-122002	2550	100	255000
236	INE515Q08093	SANKARAN JAYARAM DAS	ADITIROSE GARDEN 69TEMPLE ROADPONGUMOODU, TRIVANDRUM-695011	8709	100	870900
237	INE515Q08093	DIPAK J ASHARAM	AUGUSTUS VILLA 3RD FLOOR 21 HUGHESROAD N S PATKAR MARG GRANT ROADMUMBAI-400	2810	100	281000
238	INE515Q08093	GEETA ARORA	C 6/6457VASANT KUNJSOUTH WEST DELHIDELHI-110070	3960	100	396000
239	INE515Q08093	ANIL SUDHAKAR KAPDI	6 VRUNDALI APARTMENTBHANDARKAR ROADPUNE-411004	3620	100	362000
240	INE515Q08093	DEEPA BHARGAVA	W/O ANIL KUMAR BHARGAVA285 HARI BHAU UPADHYAY NAGARBEHIND DAHARSEN SMARAKA	1440	100	144000
241	INE515Q08093	SWATI NANDAN BORGALKAR	VASUDHA ETASHA A/704CHANDANI CHOWK WARAJEKOTHRUDPUNE-411038	7590	100	759000

242 INE515Q08093 SHALU WADHAWAN W	V/O MANAV WADHAWAN FLAT NO7112 ATS ONE HAMLET SECTOR 104G B NAGARNOIDA-201	3370	100	337000
243 INE515Q08093 SANGEETA CHANDRASHEKHAR PURA	LOT NO 28 GIRIJA SOCIETY HARIPRABHA MIT COLLEGE KOTHRUDPUNE-411038	4770	100	477000
244 INE515Q08093 ANAND VASANT GOKHALE B-	-103 GLORIA PAUD MULSIROAD BAVDHANPUNE-411021	10400	100	1040000
245 INE515Q08093 CHANDRASHEKHAR NARHAR PURANI	LOT NO 28 GIRIJA SOCIETYHARIPRABHA NEAR MIT COLLEGEKOTHRUDPUNE-411038	7180	100	718000
246 INE515Q08093 NANDLAL KARSHANBHAI PADSHALA (119	9/B SANGATHAN SOCIETYOPP SUNRISE PARKDRIVE IN ROAD VASTRAPURAHMEDABAD-38005	14810	100	1481000
247 INE515Q08093 ARATI RAHUL PHADKE HI	INO 402 A/ BUILDING KSHITIJAPARTMENT 9 GREEN PARK JAVALSAHAKARNAGAR 02 PUNE CIT	6710	100	671000
248 INE515Q08093 PRASANNA MADHUKAR BAGADE HUF 12	26 COOPER COLONYSADAR BAZARSATARA-415001	4970	100	497000
249 INE515Q08093 RAKESH KUMAR ARORA E-	-302 ANUPAM APARTMENTNEAR HEDGEWAR HOSPITALEAST ARJUN NAGARDELHI-110032	3010	100	301000
250 INE515Q08093 AMARJIT SAHAY 9	POORVI MARG MAIN ROADHOUSES VASANT VIHARDELHI-110057	4440	100	444000
251 INE515Q08093 RATNA SAHA CE	E-131 SALTLAKE SECTOR 1LANDMARK BSNL EXCHANGEBIDHAN NAGAR MNORTH 24 PARGAN	3460	100	346000
252 INE515Q08093 SHEELA PANDEY 6/	/176 VINEET KHAND GOMTINAGAR HUSERIA GOMTI NAGARLucknow-226010	2670	100	267000
253 INE515Q08093 MAHINDRA GOKULDAS PARIKH G	OKUL NIWASA BAJAJROAD VILLE PARLEMUMBAI-400056	6540	100	654000
254 INE515Q08093 BIPASHA DUTTA 12	20 JODHPUR PARKNEAR JODHPUR PARKGIRLS SCHOOLKOLKATA-700068	2660	100	266000
255 INE515Q08093 PATEL AJITKUMAR CHOTALAL W	V/3 LANE-1 SECTOR 9C.B.D BELAPURNAVI MUMBAI THANEMUMBAI-400614	2950	100	295000
256 INE515Q08093 BASUDEB ADHYA 6E	E LALA LAJPAT RAI SARANIL R SARANIKOLKATA-700020	2610	100	261000
257 INE515Q08093 ASHA DADOO H	NO W 6/13DLF PHASE-3BLOCK WGURGAON-122002	3950	100	395000
258 INE515Q08093 ATMA PRAKASH DADOO H	NO 6/13DLF PH-3 BLOCK WGURGAON-122002	6910	100	691000
259 INE515Q08093 ARISTA CONSULTING SERVICE PRIVAT 45	54 RING ROAD AMAR JYOTI L/ODOMLURBANGALORE-560071	3261	100	326100
260 INE515Q08093 PRADEEP KUMAR BATRA BZ	2-1004 PALM GROVEHEIGHTS ARDEE CITYSECTOR-52GURGAON-122011	1680	100	168000
261 INE515Q08093 YOGESH THADANI N	IO-5BABAR ROADNEW DELHI-110006	2430	100	243000
262 INE515Q08093 NUPUR AGRAWAL B-	-6GREEN PARKNEW DELHI-110016	3910	100	391000
263 INE515Q08093 SRABONI BHADURI 22	279 SECTOR DPOCKET 2VASANT KUNJSOUTH WEST DELHI-110070	1760	100	176000
264 INE515Q08093 MEENA ARORA 76	61 NEAR MARKETSECTOR-4PANCHKULA-134109	1500	100	15000
265 INE515Q08093 PRIYAHAS ANANTKUMAR JANI A	/37/349MIG COLONYBANDRA EASTMUMBAI-400051	780	100	7800
266 INE515Q08093 AVINASH BANKA H	OUSE NUMBER-502PHASE-9MOHALI-160062	4020	100	402000
267 INE515Q08093 KUSUM SINGH 10	01 CIRCULAR ROADSHAKUNTALAM AVAS VIKAS COLONYMUZAFFAR NAGAR-251001	1840	100	18400
268 INE515Q08093 MONICA KAPAHI G-	-17SOUTH EXTENSION-2NEW DELHI-110049	11691	100	116910
269 INE515Q08093 ASHOK KUMAR TOMAR 10	01 CIRCULAR ROADSHAKUNTALAM AVASVIKAS COLONYMUZAFFARNAGAR-251001	2670	100	26700
270 INE515Q08093 RAGINI DUBEY N	IO 1505/06JASMINE NEELKANTH GARDENSGOVANDI E-400086	560	100	5600
271 INE515Q08093 S SUDHAKAR SF	RI RAMA VILAS MAIN ROADMELA KABISTHALAM KABISTHALAM POPAPANASAM TKTHANJAVU	3524	100	35240
272 INE515Q08093 ANIL KUMAR SINGAL E	35 FIRST FLOORGREATER KAILASHPART-1DELHI-110048	2590	100	25900
273 INE515Q08093 AMAR KUMAR MUKHERJEE FL	LAT-3 153LAKE GARDENSKOLKATA-700045	2760	100	27600
	I-118APARTMENT NO 3PANCHSHEEL PARKDELHI-110017	10300	100	103000
275 INE515Q08093 KEITH ELECTRONICS PRIVATE LIMITED 42	29 ANSALCHAMBERS 26 BIKAJI CAMA PALACENEW DELHI-110066	4179	100	41790
276 INE515Q08093 RENU 91	1 KAMBALWALA BAGHNEW MANDI MUJAFFARNAGARMUJAFFARNAGAR-251002	1760	100	17600

277	INE515Q08093	AAS KARAN	HOUSE NO 106SHAHJAHANPURSAHARANPUR-247232	2680	100	268000
278	INE515Q08093	BLUE THUNDER ADVISORS LLP	A-302PHOENIX HOUSE3RD FLOOR SENAPATI BAPAT MARGWORLI (EAST) MUMBAI-400013	2840	100	284000
279	INE515Q08093	KUMAROTH R DEVAN	31/775 KUMAROTH TAGORE ROADVYTTILA PO S O ERNAKULAMKERALA-682019	1800	100	180000
		ALPANA GHOSH	TOWER NO-D10 AAPT NO 203EDEN CITY B-90/A/1BUDGE BUDGE TRUNK ROADMAHESHTALA N	2790	100	279000
281	INE515Q08093	AARTI AVINASH DEOLEKAR	NO-504 YASHRAJ SAHANIWASPLOT NO-178 SIR BALCHANDRA ROADHINDU COLONY DADAR EA	740	100	74000
282	INE515Q08093	ΑΜΙΤ ΒΗΑΤΙΑ	NO-20CHANDRALOK ENCLAVEPITAMPURADELHI-110034	2960	100	296000
283	INE515Q08093	JACOB VARGHESE P	PALATHINKALTHIRUVAMKULAMERNAKULAM-682305	4780	100	478000
284	INE515Q08093	SUDHANSHU JAYASWAL	GALI NO-3THAKUR BABA ROADDABRAGWALIOR-475110	2530	100	253000
285	INE515Q08093	ROBERT JOHN	C J COTTAGE 28 SHANTHI PURAMTHRIKKAKKARA NORTH PARTVADACODEERNAKULAM-682021	2420	100	242000
286	INE515Q08093	ASHOK KUMAR SINGH	H NO F-2668PALAN VIHARGURGAON-122017	1500	100	150000
287	INE515Q08093	ABHIJIT ROY	NO-21/4SASHI BHUSHAN BANERJEE ROADPASCHIM BARISHAKOLKATA-700008	2620	100	262000
288	INE515Q08093	RAMANJIT KAUR PARMAR	KOTHI NO 15SEC-54 NEAR BASSI THEATRESAS NAGARMOHALI-160055	1870	100	187000
289	INE515Q08093	NANDALA	G2 SHIVAJI RESIDENCYRUSTUMBAGH MAIN ROADOLD AIRPORT ROADBANGALORE-560017	16242	100	1624200
290	INE515Q08093	SANDEEP KUMAR SETHI	B-257 AGAYA NAGARNEAR SHIVMANDIRAGEYA NAGAR BILASPURBILASPUR-495001	2780	100	278000
291	INE515Q08093	SAMPURNA NANDY	NO-32KEDAR DEUTY LANEBANTRAHOWRAH-711101	3543	100	354300
292	INE515Q08093	RAM PHERAN LAL	645A/114560SARASWATI JANKIPURAMVISTAR PURAM ROADLUCKNOW-226027	2570	100	257000
293	INE515Q08093	RENU KAPOOR	HOUSE NO-284BHERA ENCLAVEPASCHIM VIHARNEW DELHI-110087	2060	100	206000
294	INE515Q08093	MELITPALATHINGAL VARGHESE JOSEF	MELIT PALATHINGAL 181STREET-C HILL GARDENSKUTTANELLUR PO KAINOORTHRISSUR-68001	4000	100	400000
295	INE515Q08093	SUSHIL KUMAR DUBEY	NO-5/286 SECTOR-5VIKAS NAGARBAKSHI KA TALABLUCKNOW-226022	2570	100	257000
296	INE515Q08093	SUJATA GULVANI	FLAT NO-201 PRASSANNA APARTMENTPLOT NO-16 A-B ANANTKRIPA SOCIETYSNO-119/1 PAUD	3020	100	302000
297	INE515Q08093	SREEKANTH NALLAGATLA	VILLA-278 ADARSH PAL RETREATOUTER RING ROAD DEVARABISANAHALLIBELLANDURBANGAL	6290	100	629000
298	INE515Q08093	MATHUR ASHOK KUMAR	310 BRINDHAVAN SE RENITYKASAVANAHALLI MAIN ROADOFF SARJAPURA ROAD CARMELARAN	2880	100	288000
299	INE515Q08093	ASHOK KUMAR & SONS HUF	HNO 496 KAMBAL WALA BAGHNEW MANDIMUZAFFANGAR-251002	1230	100	123000
300	INE515Q08093	AHALYA VENKATARAMIAH	145 14TH MAIN ROAD4TH T BLOCKJAYANAGARBANGALORE-560041	4680	100	468000
301	INE515Q08093	YASH AGARWAL HUF	HNO 91 KAMBALWALA BAGHNEW MANDIMUZFFARNAGAR-251001	2030	100	203000
302	INE515Q08093	USHA VIRMANI	NO C-89NO 1ST FLOORANAND VIHARDELHI-110092	3780	100	378000
303	INE515Q08093	GIRIJA SURYANARAYANA	NO-469 MATHRU NILAYA3RD CROSS 3RD PHASE 2ND BLOCKBSK 3RD STAGE BANASHANKARIBA	920	100	92000
304	INE515Q08093	PRANAV GOYAL	NO-201 3RD FLOORSUKHDEV VIHARNEW FRIENDS COLONY SOUTHNEW DELHI-110025	3750	100	375000
305	INE515Q08093	SURESHTHA SOOD	H NO 5438SECTOR 38WEST CHANDIGARHCHANDIGARH-160015	4990	100	499000
306	INE515Q08093	CHHATHU RAM JAGNANI	334 BADAVALA MOHALLAJANGAL KATTIVRINDAVANMATHURA UP-281121	2210	100	221000
307	INE515Q08093	AJAY KUMAR MALHOTRA	H-NO 6 DR. BISHMDER DAS MARGNEAR GOLE DAKKHANANEW DELHI-110001	3300	100	330000
308	INE515Q08093	TAPAS DE	HNO 196A SARAT BOSE ROADFLAT 2KOLKATA-700029	4700	100	470000
309	INE515Q08093	RITA RAJ CHOPRA	NO-108 MAPLE COURTPARMAR PARK SHIVARKAR ROADWANWADIPUNE-411040	1770	100	177000
310	INE515Q08093	BEHARILAL P KHANDELWAL	B/902 WILLOWS TOWER VASANT GARDENOFF L B S MARG MULUND WESTMUMBAI-400080	2230	100	223000
311	INE515Q08093	RATNA BISWAS	NO-625/513TH MUMFORDGANJALLAHABAD-211002	1960	100	196000

312	INE515Q08093 MUNMUN DATTA	20/4/1 CENTRAL PARKJADAVPURJADAVPUR UNIVERSITY S OKOLKATA-700032	4625	100	462500
	INE515Q08093 MASOOD AHMAD	NO 360STREET 4IQRA COLONYDHORRA MAFI ALIGARH UTTAR PRADESH-202002	1790	100	179000
	INE515Q08093 SURENDAR KUMAR	HOUSE NO-715SECTOR-15ESCORTS NAGARFARIDABAD-121007	1770	100	177000
	INE515Q08093 PRAKASH RAMCHANDRA GADAVE	TYPE 3/1 A TATA HOUSING COLONYR C MARG CHEMBURNEAR F C I POST OFFICEMUMBAI-4000	6130	100	613000
		NO-127 CHANDRALA 5TH CROSSTELECOM LAYOUT BOGADI2ND STAGEMYSORE-570026	2880	100	288000
	INE515Q08093 RAJ KUMAR SINGH	FLAT NO-U-10SANKUL NEAR DNM HOSPITALERANDWANE PUNE CITYDECCAN GYMKHANA PUN	4700	100	470000
	INE515Q08093 LETHADEVI SREEKUMAR	6A GOODEARTH ELEMENTS COCHINPUBLIC SCHOOL ROAD NEAR THRIKKAKKARATEMPLE THRIK	430	100	43000
	INE515Q08093 PALLABI BASU	NO-16 RISHI ARABINDA PARKNORTH DUMDUM BIRATINORTH 24 PARGANAS-700051	2840	100	284000
	INE515Q08093 SUKHVINDER SINGH SAINI	5464MODERN HOUSING COMPLEXMANIMAJRACHANDIGARH-160101	990	100	99000
	INE515Q08093 RAJIV DANG	HOUSE NO-713SECTOR-38GURGAON-122001	3600	100	360000
		201/H1VIKRAM ADITYA TOWERALAKNANDA SHOPPING COMPLEXDELHI-110019	5830	100	583000
	INE515Q08093 OMKAR DUTT SHUKLA	H NO 5/56WARD-29KAIMGANJFARRUKHABAD-209625	2860	100	286000
324	INE515Q08093 SIVARAMA PRASADNAGAM	HOUSE NO 29-42-19SHANTINIKETAN JUDGE COURTPRAKASARAO PETA SBI COLONYVISAKHAPA	3500	100	350000
325	INE515Q08093 SATISH CHANDER VAID	H NO-S-8 DEEP NAGARNAGGAL AMBALAAMBALA-133001	940	100	94000
326	INE515Q08093 LATA NAIR	37/1588-CANUGRAH BOSE NAGARKADAVANTHARA SOERNAKULAM-682020	600	100	60000
327	INE515Q08093 BHISHM JEET CHUGANI	NO-7/72 M HB BLDGSONA BLDG BANDRA RECLAMATIONBANDRA WESTMUMBAI-400050	760	100	76000
328	INE515Q08093 SHYAMAL KRISHNA RAYCHAUDHURI	FLAT NO-1D 101ALOKTIKA HOUSING COMPLEXNEWTOWN RAJARHAT HATIARANORTH 24 PARG	4060	100	406000
329	INE515Q08093 NANDA DUTTA SEN	BLOCK 9 FLAT 1A1 49BGOBINDAPUR ROADLAKE GARDENS CIRCUS AVENUEKOLKATA WEST BEN	6360	100	636000
330	INE515Q08093 SIMRIT BAINS	NO-I-122 AWHO FLATSMANSA DEVI COMPLEXSECTOR-4PANCHKULA-134114	5640	100	564000
331	INE515Q08093 SURESH CHANDER PASSI	HOUSE NO-2933SECTOR-42CSECTOR-36CHANDIGARH-160036	3320	100	332000
332	INE515Q08093 JITENDRA KUMAR ATREYA	503 GH-8ASECTOR 20PANCHKULA-134116	2850	100	285000
333	INE515Q08093 SEBATI KUMARI MISHRA	GOPALJIU PATNACHATRASASAN GOPALIJEWPATNAKENDRAPARA-754250	2140	100	214000
334	INE515Q08093 RANJANA KANTH	H NO 18GROUND FLOORATS ADVANTAGEINDIRAPURAM GHAZIABAD-201014	510	100	51000
335	INE515Q08093 KETAN K PATEL	NO-3 AAHMAN BUNGLOWSOPP MOTHER DAIRY NEAR JUDGES BUNGLOWBODAKDEV AHMEDA	1270	100	127000
336	INE515Q08093 MUKUNDHAN SREENIVASAN	NO-303/B SBI MILAN CHSOFF VEERA DESAI ROADBEHIND KRISHNA MANDIRANDHERI WEST MU	4030	100	403000
337	INE515Q08093 B N SARASWATHAMMA	36 MAIN ROAD 2ND CROSSHOSAKEREHALLI EXTNBSK 3RD STAGE 2ND PHASEBANGALORE SOUT	3650	100	365000
338	INE515Q08093 KALYAN SEN	AVIDIPTA HOUSING COMPLEXFLAT 2G-1302 MUKUNDAPURMAIN ROAD 401 BARAKHOLA MUK	1640	100	164000
339	INE515Q08093 SRIMOYEE CHATTERJEE	NO-9EAJANTA ROADSANTOSHPURKOLKATA-700075	4250	100	425000
340	INE515Q08093 PADMA BHATTACHARYA	B3/2 NORTHERN PARKBRAHMAPUR BANSDRONIBUDGE BUDGE-1KOLKATA-700070	4090	100	409000
341	INE515Q08093 ANANYA MUKHERJEE	FLAT NO 132DOCTORS APARTMENTS4 VASUNDHARA ENCLAVEDELHI-110096	4530	100	453000
342	INE515Q08093 MANISH TUTEJA	FLAT NO 25TILAK ROADDEHRADUNUTTRAKHAND-248001	3920	100	392000
343	INE515Q08093 VERINDER SINGH BEDI	APARTMENT NO- 3 N-118PANCHSHEEL PARKNEW DELHINEW DELHI-110017	4230	100	423000
344	INE515Q08093 NEERAJ SAXENA	H NO 99MANORANJAN PARKCIVIL LINESSAKET MEERUT-250001	1850	100	185000
345	INE515Q08093 KIRAN GOYAL	H NO 28/1 OPPOSITE BHARAT BHAWANRAM ASRAYSHYAMLA ROAD HUZURBHOPAL-462001	2230	100	223000
346	INE515Q08093 RAJIV K SHAH HUF	H NO C-306POONAM APARTMENTDR ANNIE BESANT ROADWORLI MUMBAI-400018	4110	100	411000

· · · · · · · · · · · · · · · · · · ·	1				
347 INE515Q08093	SUBHASH KUMAR CHOURASIA	NO 1 B POCKET BNEAR RAM MANDIRMAYUR VIHAR PHASE-2 DELHIPATPAR GANJ-110091	3810	100	38100
348 INE515Q08093	FARHAT PANDOR	FLAT NO 5 3RD FLOORWOODLAND APARTMENT SALISBURY PARKNEAR POONAWALA GARDEN	7160	100	716000
349 INE515Q08093	SUNIL KUMAR DUBEY	17 KK NAGARSIKANDRA AGRARUNKATA KIRAOLI AGRAAGRA-282007	4020	100	402000
350 INE515Q08093	CHENNA REDDY KANDANATI	H.NO-8-2-465ROAD NO 4BANJARA HILLSHYDERABAD-500034	16771	100	1677100
351 INE515Q08093	VINOD SINGH	H NO 1341/33CSECTOR 33CCHANDIGARH-160030	3530	100	35300
352 INE515Q08093	THIRUKOYULUR LAKSHMANAN SRINI	212/74 54TH CROSS 4TH BLOCKNEAR RAMAMANDIRARAJAJINAGARBANGALORE-560010	2690	100	26900
353 INE515Q08093	JOHN BAPTIST DSOUZA	H 20 GREEN ACRESSALUNKE VIHAR ROADKONDHWA PUNE CITYMAHARASHTRA-411048	1702	100	17020
354 INE515Q08093	RAVI JIWATRAM PUNJABI	NO-36 TULSIDAS APARTMENT826-B DASTUR MEHER ROADOPP J J GARDEN PUNE CAMPPUNE-4	3790	100	37900
355 INE515Q08093	RAMACHANDRAN TRICHUR VENKATR	OPP ST XAVER SCHOOL B/904GREAT EASTERN GARDENSL B S MARG KANJURMARG WESTBHAN	3980	100	39800
356 INE515Q08093	SHUBHI SINGH CHAUHAN	FLAT NO-84 INDIAN AIRLINES CARGOCGHS LTD, PALM GREEN APARTMENTPLOT NO 3 A, SECTO	2260	100	22600
357 INE515Q08093	PRABHAT KUMAR SUBUDHI	PLOT NO-55KALYANI NAGARPATRAPADA KHANDA GIRI KHORDABHUBANESWAR-751019	3600	100	36000
358 INE515Q08093	ANIL DUTT GAUR HUF	NO-132SECTOR-10ACHANDIGARH-160011	8430	100	84300
359 INE515Q08093	SIRIPURAPU DALAYYA	49 6 2 11FLAT NO 11 SRUTHI APTSLALITHA NAGAR AKKAYYAPALEMHYDERABAD ANDHRA PRAD	2520	100	25200
360 INE515Q08093	MONEY VERMA	FLAT NO 57ABLOCK B HIG FLATSEXPRESS VIEW APARTMENTSECTOR-105 NOIDA-201301	3140	100	31400
361 INE515Q08093	DURGESH CHANDRA TYAGI	1805 SUNFLOWER TOWERSNEELKANTH GARDENS OPP JAIN MANDIRGOVANDI EAST MUMBAIN	3330	100	33300
362 INE515Q08093	DIGBIJAYA MAHAPATRA	H NO 1204BPTP PARK LIFESEC 57 GALLERIA DLF IVGURGOAN-122001	3480	100	34800
363 INE515Q08093	SARABJEET KAUR	H NO 8034 STREET NO 10NEAR MANDIR WALI GALIDURGAPURI HAIBOWAL KALANLUDHIANA I	3850	100	38500
364 INE515Q08093	KRISHNA MOHAN MISHRA	Q HO-7/H6 O C ROADSOUTH PARK BISTUPURPO-BISTUPUR PURBI SINGHBHUMJAMSHEDPUR-8	3320	100	33200
365 INE515Q08093	AMITA LAMBA	H NO C-27ASOLA HOMESFATEH PUR BERISOUTH DELHI-110074	5550	100	55500
366 INE515Q08093	SAMPA S HALDAR	RH-2 R-23 SECTOR-09LANE-1 CBD BELAPURNAVI MUMBAI KOKAN BHAVANTHANE NAVI MUME	4220	100	42200
367 INE515Q08093	B RAVI KUMAR	C-604 ORCHID TOWERS BANER MAIN ROADNEAR HDFC BANK BANERPUNEMAHARASTRA-4110	2310	100	23100
368 INE515Q08093	SEEMA YADAV	GARH CANTTBIJAPUR STATE GUEST HOUSENEAR M HOSPITALDEHRADUN-248003	3210	100	32100
369 INE515Q08093	INDRA MOHAN HUF	H NO 17BANK ENCLAVELAXMI NAGARDELHI-110092	1430	100	14300
370 INE515Q08093	SEEMA JAIN	HOUSE NO 1212 NEW LIGHT SOCIETYARYAN ENCLAVE SECTOR 51-BCHANDIGARH-160047	2400	100	24000
371 INE515Q08093	JORVEKAR ABHIJIT S	H NO 18/275LOKMANYA NAGARSHASTRI ROAD NAVI PETHPUNE-411030	3320	100	33200
372 INE515Q08093	MADHAVPRASAD TAPARIA	H NO 9B SUDHAKAR26 NARAYAN DHABOLKAR ROADMALBAR HILLMUMBAI-400006	1460	100	14600
373 INE515Q08093	GAUTAM KUMAR CHATTOPADHYAY	FLAT NO-601SHRIRAM RESIDENCYAHINSA KHAND-IIINDIRAPURAM, SHIPRA SUN CITY-201014	5180	100	51800
374 INE515Q08093	PADMA B	H.NO 5-15/ASUNSHINE VILLASGUNDLAPOCHAMPALLYMEDCHAL HYDERABAD-500100	2480	100	24800
375 INE515Q08093	RAJENDRA EKNATH CHAUDHARI	PLOT NO 36/37 CHINAR APARTMENTWADALA ROAD OPP SAVARKAR HALL SHRIJINAGAR INDIRA	4240	100	42400
376 INE515Q08093	ASHISH DAMODER BHANDARI	FLAT NO G 703 AJMERA ROYAL CLASSICAPARTMENT ANDHERI LINK ROAD OPPCRYSTAL PLAZA I	2310	100	23100
377 INE515Q08093	RUBY ADHIKARI SEHGAL	A 36 GFSHANKAR GARDENVIKASPURINEW DELHI DELHI-110018	3210	100	32100
378 INE515Q08093	SAVITRI PATHAK	H.NO-179 SECTOR-9ANEAR ORIENTAL BANKSAKET NAGARBHOPAL-462024	2130	100	21300
	AJAY VIJAYVARGIYA	VIVA 701,SJR VERITY 22/1 KASAVANAHALLIAMRITHA COLLEGE ROAD BANGALORESOUTH CARN	3500	100	35000
380 INE515Q08093	SUNIL CHANDRAKANT BARTAKKE	TYPE 3/23ARC MARGNEAR ASHISH THEATRECHEMBUR-400074	3310	100	33100
381 INE515Q08093	PROBIR DAS	NO 402TOWER 4 UNIWORLD GARDENSOHNA ROADGURGAON-122008	2310	100	23100

	1	1				
382	INE515Q08093	VARUN R	NO 1601 BELVEDERE LODHAAURUM GRANDE STATION ROADOPP CROMPTON GREAVES FACTO	4310	100	431000
383	INE515Q08093	ANANT THAZHEMADAM	14 MANJUNATHA LAYOUTNEAR MICO BOSCHNAGANATHAPURABANGALORE-560100	4680	100	468000
384	INE515Q08093	VIJAY BHIMSENRAO MUTGI	NO 76 3RD MAIN ROADMIG 1ST STAGEKHB COLONY BASAVESHWARA NAGARBANGALORE-560	3260	100	326000
385	INE515Q08093	SHAILESH NARAYANARAO ARDHAPUR	FLAT NO 702/802 BLOCK NO-CAPARNA HEIGHTSKONDAPURHYDERABAD-500084	5020	100	502000
386	INE515Q08093	DEEPAK KAUR	HOUSE NO-5JANTAR MANTAR ROADNEW DELHIDELHI-110001	3707	100	370700
387	INE515Q08093	MAMTA SHARMA	HOUSE NO.247F GREEN MIG FLATSRAJOURI GARDEN J-6TAGORE GARDEN WEST DELHIDELHI-1	2210	100	221000
388	INE515Q08093	LAHARI LAL	NO E-1/5SECTOR 16ROHINIDELHI-110089	3400	100	340000
389	INE515Q08093	VANDANA GUPTA	NO 254VARUN APARTMENT C 58 28SECTOR 62NOIDA UTTAR PRADESH-201301	1430	100	143000
390	INE515Q08093	SHANTASREE GUPTA	S-1753RD FLOORG K -2SOUTH DELHI-110048	4060	100	406000
391	INE515Q08093	SHEENA XAVIER GEORGE	PUTHENPURAYIL HOUSE ROSE LANEPARAVOOR KAVALA ALUVA ALUVATHOTTAKKATTUKARAER	3960	100	396000
392	INE515Q08093	MURALI INDULEKHA	49/48 THARAYIL HOUSE VYTTILA P OVYTTILA S O VYTTILAERNAKULAMKERALA-682019	1960	100	196000
393	INE515Q08093	SRIJAN DUBEY	NO 1505/06JASMINE NEELKANTH GARDENSGOVANDI EASTMUMBAI-400088	1830	100	183000
394	INE515Q08093	NARENDER NATH SAPRA	B-8 SOAMI NAGAR SOUTHMALVIYA NAGARDELHI-110017	3760	100	37600
395	INE515Q08093	SUBH KARAN SINGH	PITAMPURA C-10 KRIST JYOTIAPARMENTS PARWANA ROAD SHAKUR BASTISARASWATI VIHAR I	2941	100	29410
396	INE515Q08093	VIJAY KUMAR	B-5/16SAFDARJUNG ENCLAVEDELHI-110029	3590	100	35900
397	INE515Q08093	AMELIA E SALDANHA	24 PHASE 1 CLASSIC ORCHARDSBANNERUGHATTA ROAD BEHIND MEENAKSHITEMPLE J P NAGA	780	100	7800
398	INE515Q08093	PARKASH JOSHI	H NO 44 2ND FLOORPOCKET-2 BLOCK C2CJANAKPURIWEST DELHI-110058	3890	100	38900
399	INE515Q08093	NUPUR AGRAWAL BHAGAT	QD-19 VISHAKHA ENCLAVEPITAPURADELHI-110088	110	100	1100
400	INE515Q08093	SOSAMMA JOHN	35/1394 MANALOOR HOUSECHAKKUNGAL ROADPALARIVATTOM P OERNAKULAM-682025	4700	100	47000
401	INE515Q08093	SHIV KUMAR AGGARWAL	HOUSE NO 1548 POCKET B AND CSECTOR A VASANT KUNJSOUTH WEST DELHIDELHI-110070	6650	100	66500
402	INE515Q08093	GAUTAM SHANKAR	HOUSE NO 33 SANTHI NAGARPRESS ROADGPO THIRUVANANTHAPURAMTHIRUVANANTHAPUR	1960	100	19600
403	INE515Q08093	PARVATHY K M	MAMPATTA MANA NEAR MAMPILLYTEMPLE OORAKAM URAKAMTHRISUUR KERALAKERALA-6	3850	100	38500
404	INE515Q08093	BANANI DUTTA	FLAT NO 105 BLOCK NO-A5MANGALAM PARK 14 HOCHI MINH SARANIBEHALA CHOWRASTHA	2910	100	29100
405	INE515Q08093	SHALINI KUMAR	NO I-101 SOM VIHAR APARTMENTSR K PURAM SECTOR-10SOUTH WEST DELHIDELHI-110022	3340	100	33400
406	INE515Q08093	KUSUM PRASAD	A-304 SRADDHA SPLENDOR 11/1 R NPURA RAMAGONDANAHALLIWHITEFIELD BANGALORE PO	6887	100	68870
407	INE515Q08093	DEBASHIS DE	B-45 CITY APARTMENTS 21VASUNDHARA ENCLAVE MAYUR VIHARPH-111 PREET VIHAR EAST D	6280	100	62800
408	INE515Q08093	PREM LATA BAHETI	HOUSE NO C-8/83YAMMUNA VIHARNEW DELHIDELHI-110053	4030	100	40300
409	INE515Q08093	SANGEETA CHAKRABORTY	H NO 19 DH BLOCK NEAR P V R CINEMASAKETSOUTH DELHI-110017	3040	100	30400
410	INE515Q08093	THE GOLDEN SOAP FACTORY PRIVATE	NO P-35INDIA EXCHANGE PLACE3RD FLOORKOLKATA-700001	3730	100	37300
411	INE515Q08093	RINA KUNDU	GROUND FLOOR 1/1A/1KHODAGUNJ ROADBELEGHATAKOLKATA-700010	4640	100	46400
412	INE515Q08093	DIPALI GANESH YERANDEKAR	NO.1001 GRACIA A DOSTI IMPERIAG B ROAD NEXT TO CHITALSARPOLICE STATION MANPADA S	2540	100	25400
		RAJESH TANDON	NO R-669NEW RAJINDER NAGARDELHI-110060	4080	100	40800
414	INE515Q08093	ADWAIT AMIT GODBOLE	BUID-D FLAT 1001 KAPIL ABHIJATSOCIETY DAHANUKAR COLONY KOTHRUDNEAR CUMMINS FA	2210	100	22100
		SANGRAM SUDHAKAR KARANDIKAR	C-1410 MERIDIAN APARTMENTSSECTOR 06 NERUL NERUL NODE 3NAVI MUMBAITHANE MAHA	790	100	7900
416	INE515Q08093	VASANTHA MARY	C602 PURVA ETERNITYCFLR PALLIKKARA ROADKOLLAMKUDIMUGHALERNAKULAM KERALA-682	3420	100	34200

417	INE515Q08093	DAYA SINGH	VILLAGE KALKHA 41PANIPATHARYANA-132105	7550	100	755000
418	INE515Q08093	SATHEESAN NARAYANAN VENGALLUR	VENGALLUR MANA PALAKKALPALISSERYTHRISSURKERALA-680027	5870	100	587000
419	INE515Q08093	RAVINDRA VASUDEO MAHAJAN	502 SILVER SANDS CHS PLOT NO 15KONKAN RAIL VIHAR SECTOR 40NERUL NERUL WEST NAVI N	3830	100	383000
420	INE515Q08093	VIDYA ANANTHASUBRAMONIAN IYER	SWATHI SREE PALLICHAKKALA ROADEROOR SOUTH TRIPUNITHURANADAMAERNAKULAM KERA	4020	100	402000
421	INE515Q08093	PARTHA PRATIM DAS	107/BKARAYA ROADCIRCUS AVENUEKOLKATA-700017	1800	100	180000
422	INE515Q08093	SONAL SHARMA	FLAT NO D 1/402 BPCL HOUSINGCOLONY ALLIANCE WORLD SCHOOLSECTOR-56 GAUTAM BUD	1960	100	196000
423	INE515Q08093	ASOKE KUMAR DUTTA	A-5 105 14 HO CHI MINH SARANIBEHALA MANGALAM PARKBEHALAKOLKATA-700034	3090	100	309000
424	INE515Q08093	VIRENDER KUMAR HUF	E-96 SAKETMALVIYA NAGARSOUTH DELHIDELHI-110017	5840	100	584000
425	INE515Q08093	SANDEEP RAMAN SHARMA	FLAT NO D-1101GOPALAN ATLANTISECC ROAD WHITEFIELDBENGALORE-560066	3360	100	336000
426	INE515Q08093	VINODA V GONCHIKAR	D-503 QUEENSTOWNUDYOGNAGAR NEAR CHINCHWADRAILWAY STATION CHINCHWADPUNE	1170	100	117000
427	INE515Q08093	GIRISH CHANDRA MAKKER	H NO-74ELDECO GREENS GOMTI NAGAGOMTINAGAR LUCKNOWUTTAR PRADESH-226010	5960	100	596000
428	INE515Q08093	RENU MAKKER	H NO 74ELDECO GREESGOMTI NAGARLUCKNOW-226010	5460	100	546000
429	INE515Q08093	CHARANJITLAL CHAWLA HUF	E-755 KAMLA NAGARAGRA DAYAL BAGHKIRAOLI AGRAAGRA-282005	3260	100	326000
430	INE515Q08093	R MOHAN HUF	D-26 FIRST FLOORDAYANAND NAGARGHAZIABADUTTAR PRADESH-201001	4390	100	439000
431	INE515Q08093	SUSHMA RANI BATRA	60 GROUND FLOORG BLOCK LAJPAT NAGAR-1NEW DELHIDELHI-110024	2310	100	231000
432	INE515Q08093	RUDRAPATNA SHASHIREKHA PRAKASH	NO 145 14th MAIN ROAD4th BLOCK JAYANAGARBANGALOREKARNATAKA-560041	5897	100	589700
433	INE515Q08093	ARUP BASU	A-65 GROUND FLOOR F F ENCLAVENEB SARAISOUTH DELHIDELHI-110068	3030	100	303000
434	INE515Q08093	DAMAYANTI VIJAY TAMBAY	FLAT NO 49 SFS MUNIRKA VIHAROPP JNU JNU SOUTHWEST DELHIDELHI-110067	3830	100	383000
435	INE515Q08093	SANGEETA CHANDRASHEKAR	H-1002 RAYSTONEAMAGARPATTA CITYHADAPSARPUNE-411028	2100	100	210000
436	INE515Q08093	JAMIL AHMAD	NAI BAZAR FATTUPUROR BRAHMNANSANT RAVIDAS NAGARUTTAR PRADESH-221409	3540	100	354000
437	INE515Q08093	POOJA KHERA	H.NO 343 ARUN VIHARSECTOR 29 NOIDAGAUTHAM BUDDHA NAGARNOIDA UTTAR PRADESH-2	3430	100	343000
438	INE515Q08093	VIVEK RAJARAM NANIVADEKAR	SR NO 12/7 FLAT NO 2CHINTAMANI HEAVENNEAR CITY PRIDE KOTHRUDPUNE MAHARASHTRA-	2320	100	232000
439	INE515Q08093	SUBHASH CHANDRA BHARGAVA	A-7/102GANGA HAMLETVIMAN NAGARPUNE-411014	790	100	79000
440	INE515Q08093	SUNITA VERMA	E 2/9 BLOCK E-2MALVIYA NAGARNEW DELHIDELHI-110017	2380	100	238000
441	INE515Q08093	USHA SINGH	A 1180 IFFCO COLONYSECTOR 17 BGURGAONHARYANA-122001	6495	100	649500
442	INE515Q08093	TARUN KUMAR CHATTOPADHYAY	1050/1 SURVEY PARKUD02-0307 UDITA SANTOSHPURKOLKATAWEST BENGAL-700075	1440	100	144000
443	INE515Q08093	COIMBATORE RAMARAJ PRAFULLA CH	PREM SAGAR D NO-1RAMAR KOVIL STREETRAM NAGARCOIMBATORE-641009	3960	100	396000
444	INE515Q08093	KENGAL MURTHY	NO-18/2LAKSHMI NIVAS 3RD CROSS NANDIDURGA ROAD NEAR INDIAN BANKBENSON TOWN B	3940	100	394000
445	INE515Q08093	NARINDER K GUPTA	H.NO 365SECTOR 8 AMBALA CITYAMBALAHARYANA-134003	1970	100	197000
446	INE515Q08093	CHELLUPARAMBATHU PAREMESWAR	SHARANYA MAVELIPURAM NEAR PALLIBUS STOP KAKKANADKAKKANAD S O ERNAKULAMKERA	3920	100	392000
447	INE515Q08093	SHOBHANA RAJAN	FLAT NO 3B BLOCK 2 AIRVIEW APARTMENTNEAR KANCO ATHANI P ONEDUMBASSERYERNAKUL	3969	100	396900
448	INE515Q08093	PHOOLA BHAT	FLAT NO 205MARVEL HOMES PLOT NO B-17SEC-61 NOIDAGAUTAM BUDDHA NAGAR NOIDA-20	1140	100	114000
449	INE515Q08093	VIJAY MALHOTRA	701 TOWER-6URBANA ANANDAPUR RUBY HOSPITALMADURDAHA KOLKATAWEST BENGAL-700	1140	100	114000
450	INE515Q08093	NILIMA SHANKAR	NO B-267BLOCK-B G K -1GREATER KAILASHDEFENCE COLONY SOUTH DELHI-110048	2030	100	203000
451	INE515Q08093	MERENE KURUVILA	KAKKUDIYIL VILLA KOTTAPURAMKOTTARAKKARA PULAMONKOLLAMKERALA-691531	430	100	43000

452	INE515Q08093	AMITABHA BHATTACHARYA	H NO FTAGORE PARK OPP CANARA BANKDR MUHKERJEE NAGARNORTH WEST DELHI-110009	2890	100	289000
453	INE515Q08093	VIVEK RAGHUNATH DHOLE	A-2 KRUSHNA RESIDENCY TRIMBAK ROADNEAR POLICE COMMISSIONER OFFICEP AND T COLON	2190	100	219000
454	INE515Q08093	SHERLY DEVASSY	THOTTANKARA HOUSE 6/616DGANDHINAGAR MAIN STREETPERINGAVU THRISSURKERALA-680	4330	100	433000
455	INE515Q08093	VIVEK AGGARWAL	HOUSE NO 1535-1536SECTOR 5VASUNDHRAGHAZIABAD U P-201012	5500	100	550000
456	INE515Q08093	T R DEVASSY	6/616/D THOTTANKARA HOUSEGANDHINAGAR MAIN STREET PERINGAVUP O CHEROOR THRIS	3350	100	335000
457	INE515Q08093	DEBASIS CHAUDHURI	DLF NEWTOWN HEIGHTS FLAT NRF 0737TH FLOOR RAJARHAT NEWTOWN ACTIONAREA-3 NEAI	2190	100	219000
458	INE515Q08093	SAROJ KHURANA	A-4AMAR COLONYLAJPAT NAGAR-4NEW DELHI-110024	2350	100	235000
459	INE515Q08093	RAMAKRISHNAN ANANTHAKRISHNAN	M5 SACRED HEART TOWNSR NO 75/2/2BNEAR JAGTAP CHOWKPUNE MAHARASHTRA-411040	1718	100	171800
460	INE515Q08093	ADITYA PRAKASH VERMA	FLAT NO 57-ABLOCK B HIG FLATSSECTOR-105NOIDA-201301	2410	100	241000
461	INE515Q08093	ASHA BHARGAVA	61 AKASH NAGARKOTRA SULTANABADBHOPALM P MADHYA PRADESH-462003	3520	100	352000
462	INE515Q08093	PURNIMA SWARUP KHARE	E 7/749 ARERA COLONYHUZUR R S NAGARBHOPALM P-462016	3090	100	309000
463	INE515Q08093	VAIBHAV	E-62 SENIOR CITIZEN HOME COMPLEXSECTOR P-4GREATER NOIDA-201310	8070	100	807000
464	INE515Q08093	MAPLE NARAG	NO 138 UDAY PARKNEW DELHIANDREWSGANGDELHI-110049	3540	100	354000
465	INE515Q08093	BHUDEVI M MUDNUR	NO 562ND MAIN ROADMARUTI NAGAR NAGARBHAVI ROADBANGALORE-560072	2780	100	278000
466	INE515Q08093	ARVIND KUMAR VERMA	932 TELEGRAPH WORKSHOPGATE NO 4JABALPURM P-482001	2400	100	240000
467	INE515Q08093	ANIRBAN GUPTA	AY-003ASHIANA GULMOHAR PARKAMLAKI ALWAR BHIWARI IND AREAALWAR RAJASTHAN-301	1020	100	102000
468	INE515Q08093	VANITA PAHWA	C 15SECTOR 50NOIDAUTTAR PRADESH-201301	2094	100	209400
469	INE515Q08093	SAVITHA T CHINOY	443 C 1st A CROSS IDEAL HOMESTOWNSHIP BANGALORE SOUTHRAJARAJESHWARI NAGARBAN	3840	100	384000
470	INE515Q08093	YASHVINDER SINGH SOIN	32 SANGRAM COLONYC-SCHEMEJAIPURRAJASTHAN-302001	3620	100	362000
471	INE515Q08093	BHUVANESWARI PANDA	1067 D-BLOCK AECS LAYOUTKUNDANAHALLIBANGALORE NORTH MARATHAHALLI COLONYBAN	3840	100	384000
472	INE515Q08093	SHASHI GUPTA	532 RAINDROPS APARTMENTS HARLURROAD OFF SARJAPUR ROAD OPP BIG BAZARAMBALIPUR	4730	100	473000
473	INE515Q08093	GEETHA RANGAN	D 4/19 GR FLOOR EXCLUSIVE FLOORSDLF PHASE 5 NEAR CLUB DRIVEGURGAONHARYANA-1220	5820	100	582000
474	INE515Q08093	RUCHIKA AHLUWALIA	1521SECTOR 33 DCHANDIGARHUTTARKHAND-160030	3990	100	399000
475	INE515Q08093	AMIT KUMAR MALLICK	25/7AANATH NATH DEB LANENEAR TALA PARKBELGACHIA KOLKATA-700037	3450	100	345000
476	INE515Q08093	SAMARENDRA NATH DE	CK 196 SECTOR-11SALT LAKE BIDHAN NAGAR (M)NORTH 24 PARGANAS SECH BHAWANKOLKAT	2050	100	205000
477	INE515Q08093	SHARAD MATHUR	J-20 SARITA VIHARSOUTH DELHIDELHI-110076	3600	100	360000
478	INE515Q08093	VINAY MOHAN	387 SECTOR-2CSAKET NAGARBHEL HUZUR H E HOSPITALBHOPAL-462024	3210	100	321000
479	INE515Q08093	JOSEPHINE PEREIRA CLIFFORD	PEREIRA 6B2 CORDIALREGENCY TC 15/21/27VELLAYAMBALAM SASTHAMANGALAMTHURUVAN	2360	100	236000
480	INE515Q08093	SHANTI LAL CHADHA	54 VALENCIA 11JUHU TARA ROADJUHUMUMBAI MAHARASHTRA-400049	3620	100	362000
481	INE515Q08093	SHIVANAND MOHANTY	404 TOWER-7 UNITECH PALMSSOUTH CITY 1SECTOR-41GURGAON HARYANA-122001	3260	100	326000
482	INE515Q08093	VIPIN SRIVASTAVA	NO.14-242/236DOYENS TOWNSHIPSERILINGAMPALLYHYDERABAD-500019	3240	100	324000
483	INE515Q08093	AMAR SINGH	16-APALAM MARGVASANT VIHARSOUTH WEST DELHI-110057	3440	100	344000
484	INE515Q08093	MUKUNDA BEHARI SAHA	15 HARI GHOSH STREETBEADON STREETKOLKATAWEST BENGAL-700006	1790	100	179000
485	INE515Q08093	HITANKAR JAIN	D-36 SECTOR-55NOIDA GAUTAM BUDDHA NAGARNOIDAUTTAR PRADESH-201301	6940	100	694000
486	INE515Q08093	ANIL KHURANA	A-4 AMAR COLONYLAJPAT NAGAR 4NEW DELHIDELHI-110024	3280	100	328000

487	INE515Q08093	DEBASISH BANERJEE	WESTWIND BLOCK-1FLAT-1 C 78 RAJA S C MULLICK ROADJADAVPURKOLKATA-700084	4010	100	401000
488	INE515Q08093	KUMAR CHANDRASHEKHAR PURANIK	S/O CHANDRASHEKAR PURANIKOPP BRAMHAKUMARI CHOWK B1SHRI YASHWANT CHS 90 FEET	3920	100	392000
489	INE515Q08093	JITENDRA SURYADEV TRIPATHI	A-4 POONAM APARTMENTSDR ANNIE BESANT ROADWORLI MUMBAIMUMBAI-400018	3920	100	392000
490	INE515Q08093	ASHOK KUMAR NAWANI	01 REHANA COLONYOPP MEENAKSHI REGENCYIDGAH HILLS HUZUR BHOPALBHOPAL-462001	3660	100	366000
491	INE515Q08093	RAMESH CHANDRA PURI	2201 SHIVALIK TOWER90 FEET ROAD THAKUR COMPLEXHDFC BANK KANDIVALI EASTMUMBAI	4341	100	434100
492	INE515Q08093	ANIRUDDHA MAITRA	AJ-317SALTLAKE SECTOR-2 BIDHANNAGAR (M)SECH BHAWAN NORTH 24 PARGANASKOLKATA-	1790	100	179000
493	INE515Q08093	GYANESH KAMAL	35 A/60 OFFICERSFLAT HARTALI MOREBAILEY ROAD PHULWARIPATNA-800001	2000	100	200000
494	INE515Q08093	ABHISHEK	H 1308 SOBHAMAY FLOWER SARJAPUROUTER RING ROAD GREEN GLEN LAYOUTBELLANDUR BA	5464	100	546400
495	INE515Q08093	MADHUMITA MAITRA	AJ 317 SALTLAKE SECTOR-2BIDHANNAGAR (M)SECH BHAWAN NORTH 24 PARGANASKOLKATA V	3580	100	358000
496	INE515Q08093	SANJAY SHRIPAD KHER	A-303 SIDDHI AVENUE CHS LTDSHIMPOLI LINK ROADBORIVALI WESTMUMBAI MAHARASHTRA-	3790	100	379000
497	INE515Q08093	SRIKRISHNA SUBRAMANIAN	E-17IMTECH HOUSING COLONYCSIRIMTECH SECTOR-39ACHANDIGARH-160036	3300	100	330000
498	INE515Q08093	SEEMA GUJRAL	NO 251ST FLOOR DEHRADUNTILAK ROADDEHRADUN-248001	3860	100	386000
499	INE515Q08093	ITECSYS TECHNOLOGIES PRIVATE LIMI	C/O ITECSYS TECHNOLOGIES PRIVATE LTDNO-48 1ST FLOORR V ROAD BASAVANAGUDIBANGAL	3720	100	372000
500	INE515Q08093	PREET MOHINDER SINGH	22 ST NO 9GURU NANAK NAGARPATIALAPUNJAB-147001	9260	100	926000
501	INE515Q08093	TOMY MATHEW	FLAT NO A-201 JASMINE CHSPLOT NO 1 2 3 OPP DAV SCHOOLSECTOR-9 NEW PANVELMAHARA	770	100	77000
502	INE515Q08093	SUNANDAN DATTA	430 DUM DUM PARK3RD FLOOR SOUTH DUM DUM MONDALBANGUR AVENUEKOLKATA-7000	1790	100	179000
503	INE515Q08093	ANITA SINGH CHAUHAN	143 ELDECO GREENSOPPOSITE RBI BANKRAFI AHMAD KEDWA MARGGOMTI NAGAR LUCKNOW	3530	100	353000
504	INE515Q08093	SANJAY DHANSUKHBHAI SHAH	SY NO-21 FP-134 6TH FLOOR FLAT-6/FKUNTHUNATH TOWER B/SSARGAM SHOPPING CENTER N	3940	100	394000
505	INE515Q08093	SUBODH CHAUDHARY	79 L BLOCK KAVI NAGARNEAR DOUBLE WATER TANKKAVI NAGARUTTAR PRADESH-201002	3860	100	386000
506	INE515Q08093	PURABI GHOSH	UPASANA 123/2/2BBECHARAM CHATTERJEE ROADP O BEHALAKOLKATA-700034	3530	100	353000
507	INE515Q08093	SUSHMA AGGARWAL	H NO-10NARMADA APPARTMENTALAKNANDA SOUTH DELHIDELHI-110019	5430	100	543000
508	INE515Q08093	SATYA NARAYAN ZINDAL	FLAT NO 805 GRACIOUS TOWERPLOT NO GH-12 SECTOR-56GURGAONHARYANA-122011	2730	100	273000
509	INE515Q08093	K B SUNIL KUMAR	TC 14/788(21) VALLEY VIEW GARDENSPOTHUJANAM LANE KUMARAPURAMTHIRUVANANTHAP	2440	100	244000
510	INE515Q08093	JAMES MENACHERY	32/1165 BLISS NETTAIKODATH ROADNEAR PIPELINE JUNCTION PALARIVATTOMPALARIVATTOM	2870	100	287000
511	INE515Q08093	ANITA VERMA	59 MOHALLA TOLANEAR BY JAIN MANDIRSHAMSABADAGRA U P-283125	4030	100	403000
512	INE515Q08093	THACHU NAIR RAJAGOPAL	11 7TH A MAIN B BLOCKNEAR OLD AIRPORT VINAYAKA NAGARKONENA AGRAHARA VIMANAPU	3610	100	361000
513	INE515Q08093	SUDESH RAINA	707 AMETHY ST BDI SUNSHINE CITYALWAR BY PASS ROAD BHIWARIHARCHANDPUR BHIWARI II	2920	100	292000
514	INE515Q08093	SHYAM SUNDER KALRA	L-34NEAR METRO HOSPITALSECTOR-11NOIDA UTTAR PRADESH-201301	810	100	81000
515	INE515Q08093	RAJAN ADVANI	4E/FTILJALA ROADGOBINDA KHATICK ROADKOLKATA WEST BENGAL-700046	6790	100	679000
516	INE515Q08093	SANJAY SUDHAKAR PATIL	FLAT NO-13 PRABHU FORTSHRI SHRI RAVISHANKAR MARGOPP K K WAGH SCHOOLDGP NAGAR	4000	100	400000
517	INE515Q08093	KOMAL JAIN CHOPRA	A-11NEETI BAGHANDREWSGANJSOUTH DELHI-110049	6390	100	639000
518	INE515Q08093	SUSHMA GOYAL	1208 MILAP NAGARAMBALA CITYAMBALAHARYANA-134003	3870	100	387000
519	INE515Q08093	PAYAL SHARMA	3F-402 AWHO TOWN SHIPGURJINDER VIHAR SECTOR CHI 1POCKET NO 5 KASANAGAUTAM BUI	3530	100	353000
520	INE515Q08093	SEEMA TANDON	31-C ARJUN APARTMENT VIKAS PURITILAK NAGAR RAJOURI GARDENWEST DELHIDELHI-110018	3790	100	379000
521	INE515Q08093	MEENU BHANDARI	W 1C-053WELLINGTON ESTATEDLF PHASE-5GURGAON HARYANA-122009	1900	100	190000

r	I	1			
522 INE515Q08093	DEVESH PARWANI	B 3 603GLOBUS GREENAIRPORT ROAD LAL GHATIBHOPAL MADHYAPRADESH MADHYA PRADES	3530	100	353000
523 INE515Q08093	RAMDAS MOZHIKUNNATH	B 208 SUMADHURA SRINIVASAMSEETHARAMPALYA NEXT TO EURO SCHOOLHOODI BANGALOI	1970	100	197000
524 INE515Q08093	RAVINDER KUMAR VERMA	H NO 1103 NEAR MANAV MANGAL SCHOOLSECTOR 11 PANCHKULA SECTOR 4HARYANA-1341	3330	100	333000
525 INE515Q08093	MADHURI VERMA	HOUSE NO 288 SECTOR 21 ACHANDIGARH SECTOR 22 P O C H DCHANDIGARH-160022	2840	100	284000
526 INE515Q08093	PRATIBHA VIJAY	NEW SARASWATI APARTMENTPLOT NO 26/1 SECTOR - 9 E-76ROHINI NORTH WEST DELHIDELH	1850	100	185000
527 INE515Q08093	ASHU VASANT MANJREKAR	OPP MAGARPATTA CITY FLAT NO 301TOWER NO 17 AMANDRA PARK TOWNPUNE CITY HADAPS	3810	100	381000
528 INE515Q08093	RAHUL CHAUDHRY	404/21 M G ROAD HERITAGE CITYSECTOR 25 CHAKARPUR 74GURGAONHARYANA-122002	6692	100	669200
529 INE515Q08093	JAYSHREE DAS	A 2/17 BANAJA APARTMENTS6TH FLOOR UNIT- VIBHUBANESWARORISSA-751003	4930	100	493000
530 INE515Q08093	VINITA KUMARI	A-13GUJARAT GUARDIN LIMITED TOWNSHIPVALIA ROADANKLESHWAR GUJARAT-393001	3220	100	322000
531 INE515Q08093	APOORVA SINGHAL	R-5/46RAJNAGAR NEAR SHYAM HOSPITALGHAZIABAD-201002	4940	100	494000
532 INE515Q08093	VANITHA Y RAO	74 5TH CROSS CQAL LAYOUTNEAR MAITHRI BAZAR V NAGENAHALLIMAIN ROAD BANGALORE	3060	100	306000
533 INE515Q08093	SATYABADI MALLICK	FLAT NO E-2 PLOT NO C-2SOURABH APARTMENT-I SHALIMAR GARDENNEAR ESI HOSPITAL EXTI	2770	100	277000
534 INE515Q08093	PRAKHAR GUPTA	B-4 SECTOR 44NOIDAGAUTAM BUDDHA NAGARNOIDA U P-201301	3610	100	361000
535 INE515Q08093	MOHIL NAGPAL	D 1B/34BJANAKPURIWEST DELHIDELHI-110058	3840	100	384000
536 INE515Q08093	KUMKUM SEN	AVIDIPTA HOUSING COMPLEXFLAT NO-2G 1302 MUKUNDAPUR MAIN ROAD401 BARAKHOLA N	3430	100	343000
537 INE515Q08093	REKHA KAPOOR	C-15 NEAR CHIRAG DELHIFLYOVER PACH SHEEL ENCLAVESOUTH DELHIDELHI-110017	5290	100	529000
538 INE515Q08093	UMA SRIDHAR	301/302 BUILDING NO 3 SARVODAYASHISH M.I.D.C ROAD NEAR MAHILASAMITI SCHOOL THAI	3369	100	336900
539 INE515Q08093	HINNAH KAUR	C -114 2ND FLOORANAND NIKETANNEW DELHIDELHI-110021	3322	100	332200
540 INE515Q08093	R N NAIR	W -113 GREATER KAILASH PART-IPOLICE STATION GREATER KAILASHPART-INEW DELHI , DELHI-	1980	100	198000
541 INE515Q08093	PHIROZE DINSHAW LAM	OPP U S CONSULATE 21/23 MISTRY PARK77-BHULABHAI DESAI ROADBREACH CANDYMUMBAI-	1430	100	143000
542 INE515Q08093	DAMARAJU VENKATA SIVA RAMAKRI	MAKAN NO N S S Q 03 ISHWAR NAGARA C C COLONY LAKHERI (RURAL)INDRAGARH BUNDIBUN	2940	100	294000
543 INE515Q08093	RATTAN LAL AND SONS (HUF)	111 MUNIRKA VIHARSOUTH WEST DELHINEW DELHI-110067	7610	100	761000
544 INE515Q08093	RAJESH KUMAR MAHESHWARI	C-1ASHOKA ENCLAVE-2SECTOR-37FARIDABAD HARYANA-121003	3680	100	368000
545 INE515Q08093	TAPAN DATTA	67/3/10 COLLEGE ROADHAORA CORPORATIONB GARDENHAORA-711103	7780	100	778000
546 INE515Q08093	VEENA KAPAHI	K-16SOUTH EXTENSION PART-IINEW DELHIDELHI-110049	3080	100	308000
547 INE515Q08093	VIKAS ΚΑΡΑΗΙ	K-16SOUTH EXTENSIONPART-IIDELHI-110049	6065	100	606500
548 INE515Q08093	USHA JATIA	FLAT NO C-66NAVKUNJ APARTMENTS 87 I P EXTNPATPARGANJ EAST DELHIDELHI-110092	4240	100	424000
549 INE515Q08093	SANJAY AGARWAL	C-1506 DB WOODS KRISHNAVATIKA MARG GOKULDHAM TEHBORIVALIMUMBAI MAHARASHTR	7590	100	759000
550 INE515Q08093	JAYESH CHIMANLAL PAREKH	3002/13 MADHURAM BUNGLOWSB/H VRAJBHUMI SOC NR JALDHARACHOWKDI GIDC ANKLESH	3870	100	387000
551 INE515Q08093	VATSALA WATSA	A 805GODREJ PLATINUM APARTMENTSINTERNATIONAL AIRPORT ROADHEBBAL H A FARM BAN	3490	100	349000
552 INE515Q08093	PREETHI MANU	NO-690/G14TH MAIN2ND PHASE J P NAGARBANGALORE KARNATAKA-560078	10360	100	1036000
553 INE515Q08093	RAHUL KANSAL	1402 TOWER-14 THE CLOSE NORTHNIRVANA COUNTRY SECTOR-50 GURGAONGURGAON SOUT	10330	100	1033000
554 INE515Q08093	JAY P PATEL	24 GULMOHAR GREENSSCIENCE CITY ROADSOLAAHMEDABAD-380060	3620	100	362000
555 INE515Q08093	SATISH MENON	FLAT 31 C/D POLARIS AQUILAHEIGHTS HMT WATCH FACTORY ROADJALAHALLI BANGALOREBA	5530	100	553000
556 INE515Q08093	TAPAS MAITI	B-504 PRAJAPATI GAURAVPLOT NO-3 SECTOR-2KHARGHAR PANVELNAVI MUMBAI RAIGARH-41	4750	100	475000

667	INEE15000000 A	ANNAPURNA BHATTACHARJEE	FLAT NO-6/BTOWER IV SOUTH CITY375 P A S ROADKOLKATA-700068	6560	100	656000
	INE515Q08093 A			2730	100	273000
			D-915JALVAYU TOWERSSECTOR-56GURGAON HARYANA-122002			
	INE515Q08093 S		MADHYA MAJU HAORAHAORAWEST BENGAL-711414	4010	100	401000
			380 JODHPUR PARKNEAR EEDF HOSPITALCIRCUS AVENUEKOLKATA WEST BENGAL-700068	3630	100	363000
		KISHORE KUMAR J VORA	W-7CW BLOCK KOVAIPUDURCOIMBATORE SOUTHCOIMBATORE TAMILNADU-641042	3220	100	322000
		SHILPA K SHYLENDRA	57/52 FLAT NO-201 COMFORT ENCLAVE7TH MAIN 17TH CROSS NEAR HOME NEEDSBTM 2ND S	2290	100	229000
		(RISHAN PAL GHAI	W-77GREATER KAILASH PART-INEAR POLICE STATIONNEW DELHI-110048	7690	100	769000
	· · ·	SUBHASH CHAND MITTAL	C-130SECTOR-26NOIDA GAUTAM BUDDHA NAGARNOIDA UTTAR PRADESH-201301	4928	100	492800
565	INE515Q08093 S		533PANCHAM ENCLAVESECTOR 48ACHANDIGARH-160047	2800	100	280000
566	INE515Q08093 C	CHALIL KURIAN MARY	VILLA NO-4PARAPPILLY AVENUE PARAVATTANIEAST FORT PO THRISSUR EASTTHRISSUR KERALA	6390	100	639000
567	INE515Q08093 P	PREMLATA MENON	FLAT NO-31 C/D POLARIS AQUILAHEIGHTS HMT WATCH FACTORY ROADHMT SCHOOL JALAHAL	3800	100	380000
568	INE515Q08093 R	RAMA GHAI	W-77 GREATER KAILASH-1NEAR POLICE STATIONNEW DELHIDELHI-110048	3940	100	394000
569	INE515Q08093 S	OHAM SEN	25/4NORTHERN AVENUEBELGACHIAKOLKATA WEST BENGAL-700037	7050	100	705000
570	INE515Q08093 N	MEENU MALHOTRA	6-3-1097 FLAT NO-507GARDEN MANOR APTSRAJBHAVAN ROAD SOMAJIGUDAHYDERABAD-500	2320	100	232000
571	INE515Q08093 R	ROHINI SUDHIR ZOPE	PLOT NO-20 PARTH BUNGLOWKATHE NAGAR KATHE GALLIDWARAKANASHIK MAHARASHTRA-4	4020	100	402000
572	INE515Q08093 V	/ARSHA RAJENDRA CHAUDHARI	PLOT NO-36/37CHINAR APART WADALA ROADSHRIJI NAGARINDIRA NAGAR NASHIK-422006	2860	100	286000
573	INE515Q08093 S	SUDHAKARAN CHANGARANKANDATH	MAKKARA HOUSE NEARANTHIKKAD PANCHAYATH OFFICEANTHICAD THRISSURKERALA-680641	3840	100	384000
574	INE515Q08093 A	ALOK SOOD	807 ASHIANA GREEN WOODSHOOTING RANGEJAGATPURAJAIPUR RAJASTHAN-302017	4330	100	433000
575	INE515Q08093 0	DBERTUS EKKA	J-16 VATIKA GREEN CITY DIMNA ROADMANGO BESIDE RELIANCE FRESHDIMNA BASTI M G M M	2990	100	299000
576	INE515Q08093 P	PARAMITA DAS	35A MOORE AVENUEREGENT PARKKOLKATAWEST BENGAL-700040	5510	100	551000
577	INE515Q08093 N	/UKUT BEHARI LAL BHARGAVA	LCG 05 04BLABURNUM SUSHANT LOK 1BLOCK -A SECTOR-28 GALLERIA DLF-IVGURGAON HARY	2911	100	291100
578	INE515Q08093 K	ERALA JESUIT SOCIETY	2/2505CHRIST HALLMALAPARAMBACALICUT KERALA-673009	8274	100	827400
579	INE515Q08093 P	PALLAVI NIGAM	FLAT NO-76 PLOT N-45KAILASH APARTMENTS I P EXTENSIONPATPARGANJ SHAKARPUR BARAM	2670	100	267000
580	INE515Q08093 N	NILADRI RAY	D NO 1306RAMKY TOWERSGACHIBOWLISERILINGAMPALLY-500032	2310	100	231000
581	INE515Q08093 A	ANIL DHAR	N-126 LOTUS 1ST FLOORMAY FIELD GARDEN BLOCK-NOPP BANI SQUARE SECTOR-51KANAHI (7	2830	100	283000
582	INE515Q08093 C	CARL MARIO QUADROS	B-2 HAWA APPARTMENT OPP HOLY SPRITHOSPITAL MAHAKALI CAVES ROADANDHERI(E)MUME	3910	100	391000
583	INE515Q08093 N	MUKUL KUMAR	802 TOWER 23 ORCHIDPETALS SOHNA ROADNEAR OMAXE CITY CENTRE SEC-49ISLAMPUR (97)	2770	100	277000
584	INE515Q08093 A	ARJUN SHEKHAR	96 SECOND FLOORBLOCK-1 CHARMSWOOD VILLAGESURAJKUNDFARIDABAD HARYANA-121009	3600	100	360000
585	INE515Q08093 B	BINOY CHAKRABORTY	FLAT NO-201 1 ABHINAV FAIRWOODAPARTMENTS 16TH B MAIN NEAR KEB BILLPAYMENT OFFI	5730	100	573000
586	INE515Q08093 R	AJENDRA KUMAR SHUKLA	D/3/92ONGC COLONY BANDRARECLAMATION BANDRA WESTMUMBAI MAHARASHTRA-40005	5250	100	525000
587	INE515Q08093 S	ANCHITA BHATTACHARYYA	HOUSE NO 120A/3N S C BOSE ROADREGENT PARKKOLKATA-700040	3790	100	379000
	· · ·	ASUNDHARA KESARI	H NO-30 BALAJI BAYMOUNTTARAKARAMA NAGAR LAYOUTPEDDA RUSHIKONDAVISAKHAPATN.	950	100	95000
		AJAHAHALL KALA BHIMANAND	194 3RD MAIN ROADP J EXTENSIONJAYADEVA CIRCLEDAVANGERE KARNATAKA-577002	5240	100	524000
		AM NARIANDAS HARISINGANI	FLAT NO-3 3RD FLOORPADMA BLDG 21ST ROADBANDRA WEST MUMBAIMAHARASHTRA-4000	1360	100	136000
			B1-501RHYTHM APARTMENTKALEWADI PHATAWAKAD PUNE MAHARASHTRA-411057	2390	100	239000

592	INE515Q08093 MANGALORE GOVIND KINI	206 ROYAL CASTLE FIFTH MAIN1ST CROSS HAL 2 STAGEKODIHALLIBANGALORE KARNATAKA-56	2670	100	267000
593	INE515Q08093 SUKUMAR MENON	40/89GROUND FLOOR CHITRANJAN PARKKALKAJIDELHI-110019	2310	100	231000
594	INE515Q08093 VEMULA DURGA PRASAD	444/8/2 F1 IMPERIAL RESIDENCY24TH B MAIN AGARA CIRCLEHSR LAYOUT SECTOR-1BANGALO	1720	100	172000
595	INE515Q08093 SHIV CHARAN KISKU	L/4 35 MONA ROAD BURMAMINESNEAR OLD BOC GASPO BURMAMINES PURBISINGHBHUM JA	1720	100	172000
596	INE515Q08093 SHOBHA PRAMOD JOSHI	PLOT 515SECTOR 27NIGDI PUNE CITYPUNE MAHARASHTRA-411044	2310	100	231000
597	INE515Q08093 KRISHAN LAL MADHOK	M-14GREATER KAILASH-2NEW DELHI SOUTH DELHINEW DELHI-110048	2550	100	255000
598	INE515Q08093 CHANDAN SINGH RANA	LANE NO-4 AMAR VIHARMOTHARAWALA ROADAJABPUR KALANDEHRADUN UTTARAKHAND-24	1720	100	172000
599	INE515Q08093 KOMALA RAGHUNATH REDDY	559 6TH BLOCK 17THA/1 MAIN ROADKORAMANGALA BANGALORE SOUTHKORAMNAGALA VI B	1720	100	172000
600	INE515Q08093 GAUTAM PAL SHARMA	C-3A/73BJANAKPURIWEST DELHIDELHI-110058	2430	100	243000
601	INE515Q08093 ANUSHREE MUKHERJEE	7/14BHAGWAN DASS ROADNDMC NEW DELHI G PCENTRAL DELHI-110001	3330	100	333000
602	INE515Q08093 JAGDISH PRASAD BOHRA	FLAT NO-1C 10 DEBENDRA GHOSH ROADNEAR JADUBABU BAZARBHAWANIPOREKOLKATA WES	1390	100	139000
603	INE515Q08093 ANUJA ANANT AGASHE	521 VYADESHWAR KRUPAMAHADEO SMRUTI SAMBHAJI NAGARNACHANE RATNAGIRIMAHARA	2720	100	272000
604	INE515Q08093 DALIA CHAKRABORTY	FLAT NO-201 1 ABHINAV FAIRWOOD APPTS16TH B MAIN HAL 2ND STAGE NR KEBBILLPAYMEN	3440	100	344000
605	INE515Q08093 LAILA FRAMROZE GARDA	C/4 DOONGURSEE PARK22 BUND GARDEN ROADPUNE-411001	2200	100	220000
606	INE515Q08093 SHYAMA SOOD	WING L FLAT NO-503LABURNUM PARK MAGARPATTA ROADMAGARPATTA CITYPUNE MAHARA	1810	100	181000
607	INE515Q08093 AJIT KUMAR	H NO 76EXCHANGE ROADKACHI CHAWNI JAMMUJAMMU AND KASHMIR-180001	2800	100	280000
608	INE515Q08093 SRISHTY PAL	FLAT NO-501GURU APARTMENTS SECTOR-14ROHINI SECTOR-7NORTH WEST DELHI-110085	3520	100	352000
609	INE515Q08093 MANISHA SAXENA	229AKASH DARSHAN APARTMENTMAYUR VIHAR PHASE -1DELHI-110091	3050	100	305000
610	INE515Q08093 MAHESH KUMAR GUPTA (HUF)	B-4SECTOR-44NOIDAUTTAR PRADESH-201301	3484	100	348400
611	INE515Q08093 RAMA NIGAM	76 KAILASH APARTMENT PLOT NO-45PATPARGANJ I P EXTENSIONSHAKARPUR GANHI NAGAREA	1800	100	180000
612	INE515Q08093 NAMITA MUKHERJEE	CL-53 1ST FLOOR SECTOR-2 C K MARKETSALT LAKE BIDHAN NAGAR (M)NORTH 24 PARGANAS S	3660	100	366000
613	INE515Q08093 BINDHU LAKSHMANAN	VILLA NO 1 DREAM FLOWERVILLA RIO VENNALA P OVENNALAERNAKULAM-682028	3720	100	372000
614	INE515Q08093 GEETHA MURTHY	690/G 14TH MAINOPP VET SCHOOL J P NAGAR2ND PHASE BANGALORE SOUTHJ P NAGAR BANG	3950	100	395000
615	INE515Q08093 ANNAPURNI CHANDRASEKARAN	OPP INDIAN OIL NAGARFLAT NO-501 5TH FLOORBLDG NO-11 CHEMBURMANKHURD LINK ROA	2800	100	280000
616	INE515Q08093 SANJAY KUMAR AGARWAL	107 PUSH PANJALI APARTMENTSPRATAP NAGARSHAHAGANJAGRA-282010	3520	100	352000
617	INE515Q08093 PRABHA MITTAL	H NO 694WARD NO 16ANAND NAGARMOGA PUNJAB-142001	4180	100	418000
618	INE515Q08093 AMAR SINGH SONI	H NO 10-A GUJARON KIBAGICHIINDIRA BAZARJAIPUR-302001	4120	100	412000
619	INE515Q08093 CHANDRIKA ROY	HOUSE NO I-1629 2ND FLOORNEAR NO -2 MARKETCHITTARANJAN PARK KALKAJINEW DELHI-11	3810	100	381000
620	INE515Q08093 SEEMA RAO	NEAR TULSIPARKBALRAMPURBAIJPUR-271201	3810	100	381000
621	INE515Q08093 BELA ARORA	SUNFLOWER GARDEN TOWER-1 FLAT-5A-5B74 TOPSIA RD SOUTH NR STEEL JUNCTION24 NO B	4060	100	406000
622	INE515Q08093 RANJANA SHARMA	H NO 638SEC-9VASUNDHARAGHAZIABAD-201012	3690	100	369000
623	INE515Q08093 SURESH BAGRODIA	1B-601 GREEN ACRES 325LOKHANDWALA COMPLEX NEAR AXIS BANKANDHERI WEST AZAD NA	5680	100	568000
624	INE515Q08093 UMESH PRASAD SHARMA	FLAT NO-R-414 ASHIANA BRAHMANANDANEAR BRAHMANANDA HOSPITAL TAMOLIAPARDIH E	4570	100	457000
625	INE515Q08093 MALATI RAY CHOWDHURY	003 TRINITY COURT APPTGROUND FLOOR APAREDDY PALLYAINDIRANGAR DOUBLE ROADBANG	3690	100	369000
626	INE515Q08093 PADMA SHARMA	B1-1203 L AND T SOUTH CITYBANNERGHATTA ROADAREKERE MICO LAYOUT BANGALORE SOU	7580	100	758000

627	INE515Q08093	SHASHI MISHRA	NEAR INCOME TAX OFFICE996 RADHIKA VIHAR PHASE-2POST KRISHNA NAGARMATHURA-2810	3130	100	313000
628	INE515Q08093	ALKA DINESH BHRUSHUNDI	HOUSE NO-2SECOND FLOORUDAY PARKDELHI-110049	7470	100	747000
629	INE515Q08093	DHARMENDRA NATH SAXENA HUF	229 AKASH DARSHAN APTTMAYUR VIHAR PH-1DELHI-110091	2580	100	258000
630	INE515Q08093	SHYAMLAL DOKANIA	97 BLOCK B LAKE TOWNSOUTH DUMDUMNORTH 24 PARGANASKOLKATA-700089	10370	100	1037000
631	INE515Q08093	AMIT MADHAV BAKRE	B-502 GOLD COAST IVORY ESTATESBANER ROADNEAR HOTEL GREEN PARK PASHANPUNE-4110	3730	100	373000
632	INE515Q08093	ASHA SINGH	063 NHPC SAS LTDPOCKET-P-4GREATER NOIDAGAUTAM BUDH NAGAR-201301	6557	100	655700
633	INE515Q08093	DENAZ KANDAWALLA	FLAT NO-2 LADY NAVAJBAI BUILDINGTATA BLOCK S V ROAD OPPOSITESHOPPER STOP BANDRA	3570	100	357000
634	INE515Q08093	SIDDANNA BASAVANNEPPA ANAD	ROHAN KRITIKA FL NO-K 304SR NO-117/A/1 117/BNEAR PL DESHPANDE GARDENSINHGAD ROA	3660	100	366000
635	INE515Q08093	RAKA SINGH	4K 801 AWHO TOWNSHIP GURJINDER VIHARSECTOR-CHI-1 G NOIDA KASANAGAUTAM BUDDH	3910	100	391000
636	INE515Q08093	GIAN BANSAL HUF	A-1/10PANCHSHEEL ENCLAVESOUTH DELHINEW DELHI-110017	3010	100	301000
637	INE515Q08093	PREMESHWAR SWARUP SAHARIA	H NO 43VAISHALIPITAMPURANEW DELHI-110034	2270	100	227000
638	INE515Q08093	RANOO KHANNA	32 HAZRA ROADSARAT BOSE ROADKOLKATAWEST BENGAL-700029	5620	100	562000
639	INE515Q08093	HARROOP SEKHON	N-4/602 THE CLOSE NORTHNIRVANA COUNTRY SECTOR 50SOUTH CITY IIGURGAON HARYANA-	3950	100	395000
640	INE515Q08093	JYOTI KUMARI	CS-10-1001 SUPER TECH CAPE TOWNSECTOR-74GAUTAM BUDDHA NAGARNOIDA-201301	4040	100	404000
641	INE515Q08093	SURENDRA SINGH HUF	B-4DEVI CHIRANJIV COLONYMAHESH NAGARJAIPUR-302015	3710	100	371000
642	INE515Q08093	RADHAKRISHNAN PADMANABAN	3038 LIG 12ND MAIN ROAD M M D AMATHUR MANALICHENNAI-600068	3670	100	367000
643	INE515Q08093	VEENA BHARGAVA	S-1611ST FLOORG K-2 SOUTH DELHIDELHI-110048	4510	100	451000
644	INE515Q08093	B L GOYAL HUF	201 3RD FLOORSUKHDEV VIHARNEW FRIENDS COLONYSOUTH DELHI-110025	6560	100	656000
645	INE515Q08093	BALAKRISHNAN SREENIVASAN	2023 SOUTH END F ROAD JAYANAGAR9TH BLOCK NEAR RAGIGUDDA TEMPLEBANGALORE SOU	3000	100	300000
646	INE515Q08093	ASHOKA DEB	C-188 1ST FLOORBPTP ASTAIRE GARDENSECTOR 70A NEXT TO TULIP ORANGEGURGAON-12200	3710	100	371000
647	INE515Q08093	VIJAY GUPTA	H NO 86NEAR M D I GURGAONSECTOR 14GURGAON-122001	4010	100	401000
648	INE515Q08093	CHITRA LEKHA SAXENA	128/G-01AKSHAT MEADOWSSIRSI ROADJAIPUR-302012	5850	100	585000
649	INE515Q08093	NARENDRA NATH CHAKRABORTY	FLAT NO 19DH-BLOCKSAKETNEW DELHI-110017	1630	100	163000
650	INE515Q08093	DIPES CHANDRA MAITRA	C/21 ASHMANT CHS LTDSRISHTI COMPLEX SECTOR-3NEAR SURYA SHOPPING CENTER MIRA RO	5941	100	594100
651	INE515Q08093	PRATIBHA	S 26/243-A-1-NGAUTAM VIHAR COLONYMIRAPUR BASAHI ANSHVARANASI-221002	3750	100	375000
652	INE515Q08093	RAM BILAS SINGH	48SHIVAJI ENCLAVEC BLOCK INDIRA NAGARLUCKNOW-226016	5060	100	506000
653	INE515Q08093	PAMELA KAPUR	629 SAGAR COTTAGEMODEL TOWNPHASE 1 BATHINDABATHINDA-151005	3830	100	383000
654	INE515Q08093	ASHOK KAPUR	629SAGAR COTIAGE MODEL TOWNPHASE-1BATHINDA-151005	3820	100	382000
655	INE515Q08093	ARCHANA DUBEY	W/O VINOD DUBEY 43 J K ROADNEAR MANDIR NEERJA NAGARGOVINDPURABHOPAL-462023	4520	100	452000
656	INE515Q08093	RAMESH M P	39/208AMBADI KUTHIRAVATAM POKUTHIRAVATTOM SOKOZHIKODE-673016	2690	100	269000
657	INE515Q08093	PRIYANKA KUMAR	D-903ADITYA MEGA CITY VAIBHAV KHANDINDIRAPURAM SHIPRA SUN CITYGHAZIABAD-201014	3220	100	322000
658	INE515Q08093	SABITHA R	48/493RD AVENUE AKSHAYA COLONYPADI AMBATTURCHENNAI-600050	1930	100	193000
659	INE515Q08093	JAGDISH	9C/275 VRINDAVANYOJANA AWAS VIKAS PARISHADRAEBARELI ROADLUCKNOW-226025	3270	100	327000
660	INE515Q08093	RAMESH KUMAR GOEL	H NO-1/5125 GALI NO-4BALBIR NAGARSHAHDARA S O EAST DELHIDELHI-110032	4110	100	411000
661	INE515Q08093	CHITRA PRADEEP	NO 47/48 3RD AVENUE ROADAKSHAYA COLONYMUGAPPAIRCHENNAI TAMILNADU-600050	7460	100	746000

		-			
662	INE515Q08093 ADITYA GOLASH & SONS (HUF)	139 PURANI PREMPURI RAJ BHAWAN PIPAL WALI GALIRAILWAY ROADMEERUT-250002	4115	100	411500
663	INE515Q08093 SATISH KUMAR ARORA	HOUSE NO 124-HIGSECTOR-71SAS NAGAR (MOHALI)MOHALI PUNJAB-160071	3780	100	378000
664	INE515Q08093 SENTIENT SYSTEMS PRIVATE LIMITED	NO 901 WHISPENPING HEIGHTSCHINCHOLI BUNDER ROADMINDSPACE MALAD WEST MUMBAI	3530	100	353000
665	INE515Q08093 VIJAYALAXMI GURURAJ JAMKHANDI	NO 211 SRINIVASA KRUPA IIND MAIN4TH A CROSS 5TH BLOCK NR FOOD WORLDBSK 3RD STAG	4040	100	404000
666	INE515Q08093 ASOKAN CHERIYANDYIL	L-093 WINDSOR PARKVAIBHAV KHAND NEAR SHIPRA MALLINDIRAPURAM SHIPRA SUN CITYGH	3090	100	309000
667	INE515Q08093 SURYANARAYANAN BALAGOPAL	463 EMBASSY PRESTINESARJAPUR ORR IBLUR VILLAGENEAR SUNCITY APTBANGALORE-560102	2480	100	248000
668	INE515Q08093 SHANTHA CHANDRAN	PREM SAGAR-D NO 1 RAMARKOVIL STREET RAMNAGARCOIMBATORETAMILNADU-641009	3790	100	379000
669	INE515Q08093 CLAWIN VOLSTON DSOUZA	256 A 2ND FLOOR GALI NO 6OM VIHAR PHASELAUTTAM NAGAR WEST DELHIDELHI-110059	3570	100	357000
670	INE515Q08093 BHAGAVATHY RAMANATHAN	F-212SATYA SHANTI APARTMENTSECTOR-13 ROHINI SECTOR-7NEW DELHI-110085	670	100	67000
671	INE515Q08093 AVINASH CHANDRAKANT MALWADE	FLAT NO-403 RIDDHESHWARCO OP HSG SOCITY PLOT NO-8B/CSECTOR-19 KAMOTHE PANVEL R	3770	100	377000
672	INE515Q08093 ANJUL AGARWAL	11/100 RAJENDRA NAGAROPPOSITE VIVEKANAND SCHOOLSECTOR-3 SAHIBABADGHAZIABAD-2	3430	100	343000
673	INE515Q08093 AMIT BAJAJ HUF	H NO 1931/78/43ST NO 6 BASANT NAGARSHIVPURILUDHIANA-141008	5220	100	522000
674	INE515Q08093 RAM KUMAR	H NO 1931/78STREET NO-6 BASANT NAGARCENTRAL POST OFFICELUDHIANA-141008	3980	100	398000
675	INE515Q08093 DINESH KUMAR SOOD	WING L FLAT NO 503LABURNUM PARKMAGARPATTA ROAD MAGARPATTA CITYHADAPSAR PUN	5550	100	555000
676	INE515Q08093 INDERJEET KAUR WADHWA	H NO 33 BRS NANAGARBLOCK ANEAR STATE BANK OF PATIALALUDHIANA-141012	4040	100	404000
677	INE515Q08093 VASANT DIWAKAR MANJREKAR	FLAT NO-301 TOWER 17AMONORA PARK TOWN HADAPASARKHARADI BYPASS ROAD NEAR MA	3180	100	318000
678	INE515Q08093 PRIYANKA VERMA	FLAT NO 63 BBLOCK B HIG FLATSSECTOR 105NOIDA UTTAR PRADESH-201301	4560	100	456000
679	INE515Q08093 MADHUSUDAN SURENDRANATH SUV	FLAT NO 4505 KONCEPT NANDI ENCLAVE2ND CROSS 5TH MAIN BEHIND KAMAKYATHEATRE BA	3640	100	364000
680	INE515Q08093 PRACHI JAWLEKAR	FLAT NO 202-B SAYALI GARDENSR NO 165 AUNDHGANESHKHINDPUNE-411007	8311	100	831100
681	INE515Q08093 PAPIYA NANDY	404 B JODHPUR PARKOPPOSITE SOUTH EASTCORNER OF JODHPUR PARK LAKEKOLKATA WEST E	5880	100	588000
682	INE515Q08093 ISHDEEP SINGH PURI	HOUSE NO 2PHASE 3 BCSNEW SHIMLA KASUMPTISHIMLA-171009	2330	100	233000
683	INE515Q08093 KAMAL JAIN	HOUSE NO 213SECTOR-16AFARIDABAD-121002	2710	100	271000
684	INE515Q08093 BEENA JAYAN	ANJALY HOUSE KODALY NEAR KAPPELAKODALY MATTATHURPADY MUKUNDAPURAMTHRISSUF	1550	100	155000
685	INE515Q08093 PRABHAKAR KHARE	T-7/704B PARSUNATH PLANETVIBHUTI KHANDGOMTI NAGARLUCKNOW-226010	6530	100	653000
686	INE515Q08093 SUDHIR RAINA	B-6 HARSH APARTMENTSSCHOOL ROAD PEERAGARHISUNDER VIHARDELHI-110087	6560	100	656000
687	INE515Q08093 TARANJIT SINGH KUKAL	H NO 149 GALI NO-6 NIRANKARI COLONYDR MUKERJEE NAGAR S ONORTH WEST DELHIDELHI-	1590	100	159000
688	INE515Q08093 RABINDRA KUMAR SAHU	PLOT NO19/1735 SUB PLOT NO 8/3PHASE VII SAILA SRI VIHARCHANDRASEKHARPUR NEAR JAG	3090	100	309000
689	INE515Q08093 SUTAPA MUKHERJEE	PLOT NO- AA-II B/485 BLOCK-BACTION AREA II NEW TOWN PRITISAMABAY ABASAN SAMITY F	4060	100	406000
690	INE515Q08093 G Y SUDHA	507 SHANDILYA 5TH MAIN 11TH CROSSNEAR NORTH SIDE OF VIJAYA BHARATHISCHOOL GIRINA	2740	100	274000
691	INE515Q08093 BANASHRI SIRCAR	BLOCK-2 B-2GODAWARI APARTMENTRAJA BAZAR ASHIANA ROADRUKANPURA PATNA-800014	3250	100	325000
692	INE515Q08093 URMILA SINGH	W/O ARJUN SINGHMIG-D-97 OPP WATER TANKNEHRU NAGARBHOPAL MADHYA PRADESH-462	2890	100	289000
693	INE515Q08093 VANDANA AGNIHOTRI	1101MANTOVA OMAXE HEIGHTSSECTOR-86FARIDABAD-121002	2940	100	294000
694	INE515Q08093 ALKA A KULKARNI	A-702/703 VALENTINE APARTMENT-2GENERAL ARUN KUMAR VAIDYA MARGNEAR WAGHESHV	2610	100	261000
695	INE515Q08093 DEEPA TRIVEDI	1/C-1HINDUSTAN TIMES APARTMENTSMAYUR VIHAR PHASE 1DELHI-110091	3330	100	333000
696	INE515Q08093 SUDESH RANI	1931/78/456BASANT NAGAR SHIVPURICENTRAL POST OFFICELUDHIANA-141008	2030	100	203000

· · · · ·					
	INE515Q08093 ABHAY KUMAR SINGH	SANKALP NIWASBIND TOLI BAILEY ROADSHEIKHPURAPATNA-800014	3310	100	331000
698	INE515Q08093 ASIF SAIFU MOONIM	YORK HOUSE C BLOCK 4TH FLOORFLAT NO 5 HENRY ROADMUMBAI-400001	6790	100	679000
699	INE515Q08093 TARA DATT UPADHYAY	STREET NO 7GULAB CHAND MARGTLLI BAMOURI HALDWANINAINITAL-263139	2960	100	296000
700	INE515Q08093 GYANESHWAR PRASAD SINHA	C-1237 GAUR GREEN AVENUEABHAYKHAND-2INDIRAPURAMGHAZIABAD-201014	7378	100	737800
701	INE515Q08093 AJAY PANDEY	1088 IFFCO COLONYSECTOR-17BSECTOR-17GURGAON-122001	3940	100	394000
702	INE515Q08093 BHUPENDRA NATH MITRA	HOUSE NO 140SECTOR 55BALLABGARHFARIDABAD-121004	1980	100	198000
703	INE515Q08093 SANDEEP SACHDEV	B-11 PARK HEIGHTSDLF PARK PLACE DLF PHASE-5GALLERIA DLF-IVGURGAON-122009	6010	100	601000
704	INE515Q08093 MUSHTAQ AHAMED	L13 DD NEST THAMMANAMKATHRIKADAVU ROADKATHRIKADAVU KALOORERNAKULAM KERAI	3000	100	300000
705	INE515Q08093 ANUP KUMAR BISWAS	F-105 GH-11 INDIAN OIL APARTMENTSECTOR-46PO NHPC COLONYFARIDABAD-121010	3730	100	373000
706	INE515Q08093 MUKESH RUNGTA	NO-689LAKE TOWN BLOCK-A4TH FLOORKOLKATA-700089	2230	100	223000
707	INE515Q08093 PRABHA BHALLA	G-68 JALVAYU VIHARSECTOR-25NOIDA-201301	3780	100	378000
708	INE515Q08093 SHUCHITA BHUTANI	730MAHABIR PRASAD BLOCKASIAN GAMES VILLAGE COMPLEXDELHI-110049	2580	100	258000
709	INE515Q08093 SRINEWAS	A-1587NHPC CHOWKGREEN FIELDS COLONYFARIDABAD-121003	5010	100	501000
710	INE515Q08093 SUNIL KUMAR YADAV	THIRD F-225RAKESH MARGNEHRU NAGARGHAZIABAD-201001	2880	100	288000
711	INE515Q08093 UPPARALLI RAMACHANDRARAO UMA	973,45TH CR,SUDARSHANELECTRICALS,RAJAJINGR 3RD BLCK,,,,BENGALURUKARNATAKA,INDIA-	2680	100	268000
712	INE515Q08093 TILLU SINGH DHILLON	S/O GOBINDER SINGH DHILLONHOUSE NO 1033NEAR POLICE STATION SECTOR 36-CCHANDIGA	2050	100	205000
713	INE515Q08093 REEMA SHARMA	A-103 SJR EQUINOX DODDATHOGURUELECTRONIC CITY PHASE 1 NEARVELANKANI SOFTWAREE	3050	100	305000
714	INE515Q08093 ANSHU GUPTA	11/2 PALM ROADSHIPRA SUNCITYINDIRAPURAMGHAZIABAD-201014	1730	100	173000
715	INE515Q08093 RAJEEV BIHAN	GA-807URBANA JEWELSOPPOSITE MUHANA MANDIJAIPUR-302020	3480	100	348000
716	INE515Q08093 DILJIT INDER KAUR SANDHU	6 SECTOR 71MOHALIS A S NAGARMOHALI-160071	1530	100	153000
717	INE515Q08093 HEMANT DATTA	PLOT NO 2292/2294NEW LINGARAJ COLONYBHUBANESWAR OLD TOWN KHORDABHUBANESW	2520	100	252000
718	INE515Q08093 ARUNDHATI SINHA	C-7 SECTOR-26GAUTAM BUDDHA NAGARNOIDA-201301	3660	100	366000
719	INE515Q08093 DEEPAK BHATIA	H NO-202 NEAR HANDA NURSING HOMERAJ AGARDEN RAMESH NAGAR HOWEST DELHINEW D	3120	100	312000
720	INE515Q08093 SRIVIDYA T N	A 402 KSHITIJ GE LINKS CHSLRAM MANDIR ROADMOTILAL NAGARGOREGAON WEST MUMBAI-	2820	100	282000
721	INE515Q08093 SHEILA MEHTA	5 101 SEC 2 RAJENDRA NGR NR BUDDHAPARK SAHIBABAD, GHAZIABADUTTAR PRADESH, INDIA	4930	100	493000
722	INE515Q08093 ASHOK GUPTE	FLAT NO A 501 S NO 612ISHA EMERALD BIBVEWADIPUNEMAHARASHTRA INDIA-411037	7370	100	737000
723	INE515Q08093 KAVITA KHARE	07/704 PARSVNATH PLANETVIBUHTI KHANDGOMTI NAGARLUCKNOW-226010	1690	100	169000
724	INE515Q08093 GANDHAM VENKATA NARAYANA MU	103 HBNR 5/4/43/1 KAMALANAGAR13TH STREET VANASTHALIPURAMHYDERABADANDHRA PR	1440	100	144000
725	INE515Q08093 PRAMOD KESHAV JOSHI	S O JOSHI KESHAV PLOT 515 SECTOR 27NIGDI PRADHIKARAN PUNE CITY PUNE,PUNEMAHARAS	3090	100	309000
726	INE515Q08093 AJAY KUMAR SOOD	2086 PHASE 1 DUGRI ROAD URBAN ESTATELUDHIANA PUNJAB,LUDHIANAPUNJAB,INDIA-14100	4190	100	419000
727	INE515Q08093 RAKESH SHARMA	A PH6 MANTRI SPLENDORHENNUR MAIN ROADGADDALAHALLI KOTHANURBANGALORE KARI	2660	100	266000
728	INE515Q08093 ASHWANI KUMAR JUNEJA	38 VADHANI INDL EST LB SHASTRI MARGGHATKOPAR, MUMBAIMAHARASHTRA, INDIA-400086	2120	100	212000
	INE515Q08093 MEENA PRAKASH	31 1 FRIENDS COLONY WESTMATHURA RDNEW DELHI-110065	4800	100	480000
730	INE515Q08093 ALOKA DASGUPTA	FLAT 1B 28JODHPUR PARKCIRCUS AVENUEKOLKATA-700068	60	100	6000
731	INE515Q08093 MANJUVANI V MOPURI	PLOT NO 185 FLAT NO 101 1ST FLOORSAIPURI VENKATESWARA RESIDENCYSAINIKPURIHYDERA	2420	100	242000

· · · · ·		1				
732	INE515Q08093	AJAY KUMAR SOOD	C 180 PHASE VI FOCAL POINT LUDHIANA,LUDHIANAPUNJAB,INDIA-141010	6890	100	689000
733	INE515Q08093	KEVIN GREGORY VAZ	1155, 11TH CROSS, 12TH MAIN,W O C ROAD, 2nd STAGEMAHALAKSHMIPURAM, BANGALOREK	5820	100	582000
734	INE515Q08093	SANTA THAMPY	KALARIKKAL HOUSE, SNRA-13, SUVARNA NAGAR TRIPUNITHURANADAMA VILLAGE, EROOR WES	1480	100	148000
735	INE515Q08093	ARUNIMA PORTER	C491 SARITA VIHAR,SARITA VIHAR S.OAALI,SOUTH DELHIDELHI,INDIA-110076	2430	100	243000
736	INE515Q08093	MURALIDHAR KOLAR SRIDHAR	248 1 ST CROSS BSK 3RD STAGE2ND PHASE 6TH BLOCKBANGALORE SOUTHBANGALORE-56008	2350	100	235000
737	INE515Q08093	DEEPALI JAIN	C-67, GAMMA-1RAMPUR JAGIRGAUTAM BUDDHA NAGARUTTAR PRADESH INDIA-201306	3110	100	311000
738	INE515Q08093	AARTI GOYAL	201 3RD FLOOR SUKHDEVVIHAR NEW FRIENDS COLONYSOUTH DELHI-110025	2580	100	258000
739	INE515Q08093	SAGYAN JHA	M 509 RAGHUNATH VIHARSECTOR 14 KHARGHARPANVEL RAIGARHMAHARASHTRA INDIA-4102	2570	100	257000
740	INE515Q08093	ASHOK KUMAR	C-107, GAMMA-1RAMPUR JAGIR, GREATER NOIDAGAUTAM BUDDHA NAGARUTTAR PRADESH	1500	100	150000
741	INE515Q08093	SHRIRAM BABANRAO HAKIM	B.N. HAKIM-431VINAYAK APPTTS BHEL, C-58/19SECTOR-62, NOIDA-201301	1800	100	180000
742	INE515Q08093	ARUNIMA SRIVASTAVA	D-09 NH-4 NTPC COLONYRIHAND NAGAR BACHARASONBHADRA BEEJ PURUTTAR PRADESH IND	1747	100	174700
743	INE515Q08093	REETA GROVER	M-315,SECTOR-25NOIDAUTTAR PRADESH INDIA-201301	3080	100	308000
744	INE515Q08093	AJAY KUMAR SAXENA	711, IMPERIAL BLOCKSUPERTECH ESTATE VAISHALI SECTOR-9I.E. SAHIBABADUTTAR PRADESH I	2870	100	287000
745	INE515Q08093	SHUBH RASAYAN PVT LTD	PLOT NO-420, GIDC PANOLIANKLESHWAR GUJARATINDIA-394116	2380	100	238000
746	INE515Q08093	BALAKRISHNA PILLAI RADHAKRISHNAI	TC 7/1610 GARNETTEMPLE ROAD, ULLOORMEDICAL COLLEGE POTHIRUVANANTHAPURAM-695	3880	100	388000
747	INE515Q08093	KOCHUPPARAMBIL VELAYUDHAN GOI	KOCHUPARAMBIL NGO FLAT ROADTHRIKKAKARA ERNAKULAMKERALA-682021	2650	100	265000
748	INE515Q08093	SHARDA PRAKASH	B 75 RISHI UDYAN PHASE IPOST OFFICE JUGGAURTOWARDS ANANDI WATER PARK FAIZABADLU	5690	100	569000
749	INE515Q08093	VIPUL WADHAWAN HUF	4074 SOBHA DAHLIA APARTMENTGREEN GLEN LAYOUT NEAR TO CARNATIONSOBHA BANGALC	2730	100	273000
750	INE515Q08093	SUCHISMITA CHATTERJEE	H.NO-A 5/BSURYA NAGARGHAZIABADUTTAR PRADESH INDIA-201011	6472	100	647200
751	INE515Q08093	ANANDILAL SANCHETI	10 SHANTI NIKETANNIRANJANPURINDOREMADHYA PRADESH INDIA-452010	3420	100	342000
752	INE515Q08093	ANIL KARLEKAR	11/9 2ND FLOORNEHRU ENCLAVE EASTKALKAJI EXTN.DELHI INDIA-110019	3081	100	308100
753	INE515Q08093	BARKHU PRASAD	B-142, NH-4 NTPC COLONYRIHAND NAGAR BACHARABEEJ PUR DUDHI SONBHADRAUTTAR PRA	3130	100	313000
754	INE515Q08093	K C VISWANATHAN	NO-881 (36/4980) NAVYA 25SWARAJ ROUNDTHRISSUR CORPORATIONTHRISSUR-680001	1820	100	182000
755	INE515Q08093	PRAVINABEN PRABODHBHAI PATEL	72 JAY BANGLOWNEW COLONY GIDCANKLESHWAR GIDC BHARUCHGUJARAT INDIA-393002	3260	100	326000
756	INE515Q08093	LAXMIKANT BALKRISHNA JOSHI	FLAT NO-1 BUILDING NO-E-17SARITA NAGARI PHASE-2SINHGAD ROAD BEHIND AXIS BANKPUNI	1570	100	157000
757	INE515Q08093	ASISH KUMAR MAJUMDAR	A2/31 SWARN VIHARSONARI PO SONARIPURBI SINGHBHUM JAMSHEDPURJHARKHAND INDIA-8	3650	100	365000
758	INE515Q08093	SEEMA KUMAR	H.NO K-153 15H FLOOR GULSHAN VIEVENTSECTOR-137, GULSHAN VIVANTENR FELIX HOSPITAL	2990	100	299000
759	INE515Q08093	BARUN DATTA	1/3B AVENUE EAST, MODERN PARK, SANTOSHPURKOLKATAWEST BENGAL INDIA-700075	6940	100	694000
760	INE515Q08093	SAKSHI GUPTA	78MOTI BAZARDEHRADUNUTTARAKHAND INDIA-248001	2100	100	210000
761	INE515Q08093	NIDHI RANA	PMH021 THE PRIMUS, DLF GARDEN CITY, VATIKA NEXT, SECTOR 82 A, SHIKOHPUR, GURGAON H	4330	100	433000
762	INE515Q08093	INDU GUPTA	37, AKASH GANGA SOCIETYGH-3 NEAR SUSHANT TOWERSECTOR-56 GURGAONHARYANA INDIA	2950	100	295000
763	INE515Q08093	LAKHAN SINGH	8/1117/0/12A, PATPARINEW LAWYERS COLONY, DAYAL BAGHAGRA UTTAR PRADESH INDIA-28	7220	100	722000
764	INE515Q08093	SWAMY MEENAKSHI	CG1/1501SUPERTECH CAPETOWNSECTOR 74 NOIDAUTTAR PRADESH INDIA-201301	2360	100	236000
765	INE515Q08093	ZACHARIAH T ZACHARIAH	GRA-C-13 THOPRETH HOUSEGANDHI PURAM SREEKARIYAMP.O THIRUVANTHAPURAMTHIRUVA	2410	100	241000
766	INE515Q08093	BRINDA SHARMA	401 TOWER-2MOUNT KAILASH, EAST OF KAILASHSOUTH DELHIDELHI INDIA-110065	4570	100	457000

					1	
	INE515Q08093 DEEP		WARD NO.28 DURGA CHOWKKATIYAPARA JUNABILASPUR CHHATTISGARHINDIA-495001	2130		213000
	INE515Q08093 VISH		FLAT NO PH-3, 11TH FLOOR E BLOCKMANGALAM SHILA DAYAL BAGHAGRA UTTAR PRADESHINI	2830	100	283000
			435RAJEEV GANDHI NAGARKOTA-324005	1790	100	179000
770	INE515Q08093 SOUN	JMIK DATTA	NO 17/15 BAISHNAB GHATA ROADJADAVPURSOUTH 24 PARGANASKOLKATA-700047	3420	100	342000
771	INE515Q08093 LEELA	LA NAHAR	CITY HIGH, FLAT NO-8H, 2ND TOWER85 PRINCE ANWAR SHAH ROAD,NEAR NAVINA CINEMA HA	3300	100	330000
772	INE515Q08093 POOP	DNAM SHARMA	NEAR PROFESSOR COLONEYH.NO 1341 BHAROLIAN KHURD ROADW.NO 4 B.NO.12UNA HIMAC	2610	100	261000
773	INE515Q08093 POOP	DNAM SINHA	BLOCK-5, FLAT-304, HERITAGE ESTATEDODDABALLAPUR MAIN ROADNEAR RAMANASHREE CAL	3770	100	377000
774	INE515Q08093 PRAN	MOD MATHUR	A-701 ATLANTA HIRANANDANI ESTATEGHODBUNDER ROADPATLIPADA THANE WEST THANEM	3260	100	326000
775	INE515Q08093 PRIYA	YAMWADA CHADHA	C-7 FIRST FLOORSECTOR 26GAUTAM BUDDHA NAGARNOIDA UTTAR PRADESH INDIA-201301	5140	100	514000
776	INE515Q08093 NEEL	LANJANA JAIN	I-802 ELDECO GREEN MEADOWSSECTOR-PI POCKET-C GREATER NOIDAKASANA GAUTAM BUDE	1880	100	188000
777	INE515Q08093 JAYAI	ANTHI PRAKASH	B-31 SHRI RAM SADANA APARTMENTSMSR ROAD GOKULABANGALORE NORTHBANGALORE KA	3960	100	396000
778	INE515Q08093 SANJ	IJAY SHARAD VAIDYA	NO 67 VIPUL SHAILESH SOCIETYNEAR ALANKAR POLICE CHOWKINAVSAHYADRIPUNE-411052	2170	100	217000
779	INE515Q08093 SPOC	ORTHI SATHEESH	4, 18TH MAIN K H ROADSARASWATHIPURAMMYSOREKARNATAKA INDIA-570009	8010	100	801000
780	INE515Q08093 POOJ	NIAL ALC	1601E PROVIEW LABONICROSSING REPUBLIKGHAZIABADUTTAR PRADESH INDIA-201016	3610	100	361000
781	INE515Q08093 TREE	EWALKER TECHNOLOGIES PRIVAT	1 4S K.NO-648 RELIABLE RESIDENCYHARALUR ROADHSR LAYOUT SEC 2 BANGALOREKARNATAK	7040	100	704000
782	INE515Q08093 PRAN	MILA PATHAK	148-A, GALI NO-9 KABIR ASHRAMRAJ NAGAR PART-II PALAM COLONYBAGDOLA SOUTH WEST 🛛	3970	100	397000
783	INE515Q08093 CHAN	ANDRAWATI SINGH	48, SHIVAJI ENCLAVEC-BLOCK INDIRA NAGARLUCKNOWUTTAR PRADESH INDIA-226016	2880	100	288000
784	INE515Q08093 ARUN	JNENDU SAHA	1B2, ARIA-II, GREENWOOD ELEMENTSBEHIND CITY CENTER-2, NEW TOWNRAJARHAT, NEW TO	8710	100	871000
785	INE515Q08093 NEER	RA SINGH	VATIKA CITY, AJMER ROADJAIPUR DELONIX 15GF URBANWOODSTHIKARIYA JAIPUR THIKARIYAF	3190	100	319000
786	INE515Q08093 RAJEI	EEV KUMAR SHRIVASTAVA	MANIK BAGH ROAD 10ROOPRAM NAGAR COLONYINDORE, GPO INDOREMADHYA PRADESH INI	15293	100	1529300
787	INE515Q08093 KUHE	IELI DAS	H NO.372 VIJAYA GARDENSBARIDIH BARIDIH COLONYEAST SINGHBHUM JAMSHEDPURJHARKH	8480	100	848000
788	INE515Q08093 RANJ	IJAN KUMAR	FLAT NO-55 VINAYAK APARTMENTSPLOT NO. C-58/1 SECTOR-62NOIDA GAUTAM BUDDHA NAG	6690	100	669000
789	INE515Q08093 SASH	HIREKHA SURYAPRAKASH	410, SUMUKHA 6TH MAIN 4TH CROSSNEAR SUBHASH BHAVAN IDEAL HOMESTOWNSHIP BANG	6430	100	643000
790	INE515Q08093 MOH	HAN VASUDEO KASHIKAR	202 KALPATARU HABITAT321 NORTH MAIN ROADKOREGAON PARK HAVELI PUNE-411001	7850	100	785000
791	INE515Q08093 RAM	/ NARESH VERMA	B-331B-BLOCKINDIRA NAGAR LUCKNOWUTTAR PRADESH INDIA-226016	7870	100	787000
792	INE515Q08093 NADI	DIRA FARAZ HAMID	A-67NEW FRIENDS COLONYNEW DELHI DELHIDELHI INDIA-110065	9090	100	909000
793	INE515Q08093 ASHV	IWANI KOHLI	C-675, 3RD FLOOR,NEW FRIENDS COLONYSOUTH DELHIDELHI INDIA-110025	7700	100	770000
794	INE515Q08093 ADITI	TI GARG	1005, 1ST FLOORC2 BLOCK PALAM VIHARGURGAONHARYANA INDIA-122017	3730	100	373000
795	INE515Q08093 RAVI	I CHANDRA MISHRA	7A LANE VIDYASAGAR PARKBANSDRONI SOUTH TWENTY FOUR PARGANASKOLKATA WEST BEN	6950	100	695000
796	INE515Q08093 MEH	HERNOSH FIROZ DHAMODIWALA	FAIRY MANOR 1ST FLOOR ROOM NO-4,GUNBOW STREET, OPP FIRE BRIDGEDFORT MUMBAIMA	90	100	9000
797	INE515Q08093 RAHL	IUL KALASKAR	22176, PRESTIGE SHANTINIKETANITPL MAIN ROAD THIGALARAPALYAHOODI, BANGALORE NOR	7940	100	794000
798	INE515Q08093 NARI	RINDER KUMAR BAJAJ	PT-1, 904, SHALIMAR TOWNSHIPA.B ROAD, VIJAY NAGARINDORE-452010	4513	100	451300
799	INE515Q08093 BAND		BJ-34 SALTLAKE SECTOR-2BIDHANNAGAR (M)SECH BHAWANNORTH TWENTYFOUR PARGANAS	10970	100	1097000
800	INE515Q08093 SUDA		924, R K PURAMSEC-12, SOUTH WEST DELHIDELHI-110022	7890	100	789000
801	INE515Q08093 JAYA	ASHREE NAGARAJAN	W/O R. NAGARAJAN B-53SUDARSHANA CHS, SECTOR-17VASHI NAVI MUMBAITHANE-400703	5700	100	570000

802 INE515Q08093		A-67NEW FRIENDS COLONYS.O. SOUTH DELHI-110025	5480	100	548000
803 INE515Q08093		SARDAR SAROVAR PROJECT, A-1/4JP MAIN CAMP, JAI PRAKASH ASSO. LTDNANDOD KEVADIA C	5480	100	576000
	PENUBOLU SUDARSHAN	E 42 MANISH COMPLEX 10 CONVENT ROADRICHMOND TOWNBANGALORE NORTH MUSEUM R	3090	100	309000
· · · · ·			7930		
805 INE515Q08093		TRANQUILITY RIDING ROADSHEIKHPURA B V COLLEGEPATNA-800014		100	793000
806 INE515Q08093		19/1 RAMBAUG SOCIETYNEAR MAKARPURA BUS DEPOTMAKARPURA ROAD VADODARA-39001	70	100	7000
807 INE515Q08093		A 1/1832ND FLOORPASCHIM VIHARDELHI-110063	2830	100	283000
	SEEMA VIJAY DESHMUKH	5/1101 ACCOLADE CHS LTDHAZURI DARGAH ROAD, WAGLE INDUSTRIAL ESTATEMUMBAI-4006	7520	100	752000
		T-4 16/28 ARYA SAMAJ ROADOLD PLANNING COMPUSMUZAFFARNAGAR-251001	2280	100	228000
810 INE515Q08093		G-17SOUTH EXTENSION-2NEW DELHI-110049	12241	100	1224100
	SRIDHAR NAGARAJHAN	301/302 BUILDING NO 3SARVODAY ASHISH MIDC ROADNEAR MAHILA SAMILA SCHOOLTHAKU	4219	100	421900
	NAGARAJAN RAJAMANI	B/53 SUDARSHANA CHSSECTOR-17, VASHI, NAVI MUMBAITHANE-400703	6478	100	647800
	SHANTA MANNALAL GATTANI	168 NEAR HANUMAN MANDIRSHARADA NAGAR AMRAVATIH. V. NAGAR AMRAVATI-444605	8130	100	813000
814 INE515Q08093	SUNITA NARAIN	A-2/63 VARUN APARTMENT PLOT NO 12SECTOR-9, ROHINI, VARUN VIHARRAJAPUR KALAN, RO	8030	100	803000
815 INE515Q08093	PRASHANT KUMAR JAIN	34, CIVIL LINENEAR OSWAL ARENA, STATION ROADLALITPUR-284403	7910	100	791000
816 INE515Q08093	MAHENDRA SHROFF	PLOT NO.958ROAD NO.48JUBILEE HILLSHYDERABAD-500033	3960	100	396000
817 INE515Q08093	SUBHASH CHANDRA CHADDA	69ANAND LOKNEW DELHI-110049	6500	100	650000
818 INE515Q08093	MUNUKUTLA V SIVA SUNDER	HOUSE NO. 5-5-81/6 PLOT NO.7BHASKARA ENCLAVE NEAR BHASKARA APTSPRAKASAM NAGAR	2890	100	289000
819 INE515Q08093	MANISH KUMARIA	SARASWAT, 541 SECTOR 16KHERI KALAN (113)FARIDABAD-121002	7032	100	703200
820 INE515Q08093	K RADHIKA	8-3-678/42 PRAGATHI NAGARYOUSUFGUDAHYDERABAD-500016	3290	100	329000
821 INE515Q08093	OMAM CONSULTANTS PRIVATE LIMIT	137 2ND FLOORSAIDULAJABMEHRAULI BADARPUR ROADNEW DELHI-110030	4989	100	498900
822 INE515Q08093	MAURICE RAO	H.NO.1054 TOP FLOORSECTOR-19BCHANDIGARHCHANDIGARH-160019	1630	100	163000
823 INE515Q08093	HARISH KUMAR AGARWAL	FLAT NO 303 BLDG NO 5GARDEN ENCLAVE POKHARAN ROAD NO 2VASANT VIHAR SCHOOL APN	2321	100	232100
824 INE515Q08093	GIRIJA SHANKAR AGARWAL	71 LALA BABU SHIRE ROADBELURMATHHOWRAH-711202	2510	100	251000
825 INE515Q08093	VENKAT MEENAKSHI SUNDARAM	688, 1ST FLOOR 5TH MAINBDA PARK HAL 3RD STAGEBANGALORE-560075	3910	100	391000
826 INE515Q08093	MARIAMMA SIMON	112 A2 ASMITA JYOTI HSG SOCIETYMARVE ROADMALAD WESTMUMBAI-400095	630	100	63000
827 INE515Q08093	ANJALI SURESH HUKKERIKAR	12 GEETANJALI OFF VEERA DESAI ROADANDHERI WEST AZAD NAGARMUMBAI-400053	3620	100	362000
828 INE515Q08093	SHARMILA SACHIN DOSHI	439/3 SUSHOBHAN BANGLO SADARBAZAR SATARASATARA-415001	2320	100	232000
829 INE515Q08093	MEERA SRIRAM	C-310 MERIDIAN APARTMENTPLOT NO 25-27 SECTOR 6NERUL WEST NAVI MUMBAI-400706	3030	100	303000
830 INE515Q08093	SONIA LYNETTE DAVID	304, RAJPUR ROAD-151/11 GREEN VALLEY COLONYDEHRADUN-248001	1760	100	176000
831 INE515Q08093	GULRUKH ARIF TAHER	PARK VIEW 129 CARTER ROADOPP JOGGERS PARK BANDRA WESTMUMBAI-400050	7130	100	713000
832 INE515Q08093	SIDDARTH RANA	PMH021 THE PRIMUS, DLF GARDEN CITY VATIKA NEXTSECTOR-82A SHIKOHPUR GURGAON-122	6240	100	624000
833 INE515Q08093		E-62 SENIOR CITIZEN HOME COMPLEXSECTOR-P-4 GREATER NOIDAKASANA GAUTAM BUDDHA	3640	100	364000
834 INE515Q08093		FLAT NO.601 6TH FLOOR, B WINGOCTACREST, AKURLI ROAD, LOKHANDWALA TOWNSHIPMUME	2360	100	236000
	VIKRAM SADANAND HOSKOTE	C-501 MARY ELLEN CHS LTDMHATARPADA ROAD AMBOLIANDHERI WEST MUMBAIMAHARASH	630	100	63000
	VIJAYAN KARUMATHIL	NO-39 PANCHAVADI COLONYAMBELIPADAM ROADVYTTILACOCHIN ERNAKULAM-682019	2790	100	279000

r	I				
837 INE515Q08093	ALFRED NERIKAAT	A/703 EVERSHINE HARMONYEVERSHINE CITYVASAI TALUKAVASAI PALGHAR-401208	2730	100	273000
838 INE515Q08093	VASANTHA R PATRI	B-83 GFGULMOHAR PARKNEW DELHI-110049	1420	100	142000
839 INE515Q08093	RADHA SRINIVAS	NO 288/B9TH A MAIN ROAD 5TH BLOCKJAYANAGARBANGALORE-560041	2810	100	281000
840 INE515Q08093	SACHIN ANIL GUPTE	4TH FLOOR FLAT NO 402 GOKHALEGARIMA APARTMENT LANE NO 9PRABHAT ROADPUNE MAH	2630	100	263000
841 INE515Q08093	YEPURI VANAJAKSHI	NO 35-72/5/2/1PLOT NO 3 BRUNDAVAN COLONYNEREDMET X ROAD SAINIKPURI POSTMALKA	3650	100	365000
842 INE515Q08093	RENU NAYYAR	H NO 226SECTOR-7PANCHKULAHARYANA-134109	4600	100	460000
843 INE515Q08093	SANJAY SINGLA	1F-803 AKME HARMONY APTSMARATHAHALLI OUTER RING ROADNEAR BELLANDUR GATEBAN	2760	100	276000
844 INE515Q08093	BABITA SHARMA	A-68SEC-61GAUTAM BUDDHA NAGARNOIDA-201301	3970	100	397000
845 INE515Q08093	VINEET SHARMA	F-3PREET VIHARDELHI-110092	3830	100	383000
846 INE515Q08093	VENITA KAUL	34 MUNIRKA ENCLAVENEW DELHI-110067	140	100	14000
847 INE515Q08093	MOOTHEDATH PADMAKUMAR	SREEKOVIL MOOTHEDATH HOUSEMERLIN GARDEN ROAD NADATHARA P OKOZHUKKULLY THRI	4819	100	481900
848 INE515Q08093	PRATIMA SINHA	WIB (M) 7/8 PHASE IIGOLF GREENKOLKATAWEST BENGAL-700095	3410	100	341000
849 INE515Q08093	KALLOL GHOSH	GARDEN GREEN APARTMENTFL-A14 184 BANSDRONI PLACEBANSDRONI BUDGE BUDGE-1SOUT	3560	100	35600
850 INE515Q08093	SUKHENDU DEY	B/2 MOU APPERTMENTGREEN PARK G T RSAHAGANJ/BANDEL/LICHUBAGANCHINSURAH (M) M	6580	100	65800
851 INE515Q08093	SEEMA ROY	NO 55/1401 SEAWOOD ESTATENRI COMPLEX NEAR DPS SCHOOLSECTOR 54/56/58 NERULTHAN	2860	100	28600
852 INE515Q08093	PRAVEENA DWIVEDI	12/714/7INDIRA NAGARLUCKNOW-226016	4570	100	45700
853 INE515Q08093	RYAN NEALE DEMELO	A-3 UNIVERSAL CHS ST JOHN BAPTISTROAD NEAR M T MARY STEPSBANDRA WESTMUMBAI MA	3160	100	31600
854 INE515Q08093	ADWAIT JOGLEKAR	405 DEEP TOWERJ P ROAD OPP APANA BAZARD N NAGAR ANDHERI (W)MUMBAI-400053	2490	100	24900
855 INE515Q08093	ARCHANA BORA	302 PRASHANTI NIKETAN BASISTHAROAD BELTHOLA TINALI OPPSRISANKARADEV NETHRALAYA	4550	100	45500
856 INE515Q08093	SWATI SAHA	ANUPAMA HOUSING COMPLEX PHASE 2FLAT-70CC/4, VIP ROADRAJARHAT GOPALPUR (M) KOL	640	100	6400
857 INE515Q08093	KALYANI CHANDRASEKARAN	24 SR RESIDENCY 1ST CROSSSHANTIVANA SANJEEVINI NAGARSAHAKARANAGARBANGALORE-56	2820	100	28200
858 INE515Q08093	RAMESH SRINIVASA MURTHY	JUNIPER A WING FLAT 1101SALARPURIA GREENAGE, HOSUR ROADNEXT TO OXFORD ENGINEER	13830	100	138300
859 INE515Q08093	MANASHI ROY	TOWER 5 UNIT NO-001UNITECH ESCAPENIRVANA COUNTRY SECTOR-50GURGAON-122002	8030	100	80300
860 INE515Q08093	SUNIL SHAMLAL GIDWANI	J-201 GOLDEN SQUARE CHS LTDOFF CST ROAD SUNDAR NAGARKALINA NEAR NITYANAND REST	3530	100	35300
861 INE515Q08093	GOVINDASWAMY KISHORE BABU	B-811 ASIAN GAMES VILLAGESIRI FORT AREAANDREWSGANJ SOUTH DELHIDELHI-110049	1680	100	16800
862 INE515Q08093	DIVYANJALI SHARMA	I 1603, CR PARK AALI SOUTH DELHIDELHI-110019	2170	100	21700
863 INE515Q08093	KEDAR MANOHAR SOHONI	NO A-103MAHINDRA EMINENTES V ROAD GOREGAONWEST MUMBAI-400062	18333	100	183330
864 INE515Q08093	GOPAL KRISHNA VIJAYVARGIYA	D3, 41, ONGC FLATS, RECLAMATIONBANDRA (WEST)MUMBAIMAHARASHTRA INDIA-400050	5670	100	56700
865 INE515Q08093	KARAN SINGH BHANDARI	NO-62SECTOR-27ASECTOR-19CHANDIGARH-160019	1860	100	18600
866 INE515Q08093	PRASANTA BISWAS	A-703 SANKALP-1RANI SATI RDMALAD (E)MUMBAI-400097	7680	100	76800
867 INE515Q08093		A-46/1ST FLOORBLOCK-AKAILASH COLONYDELHI-110048	4610	100	46100
868 INE515Q08093	LOPAMUDRA MISHRA	DEBTOWER FLAT-E4 4TH FLOORM G ROAD RAMCHANDRAPURTHAKURANIKOLKATA WEST BEN	6360	100	63600
869 INE515Q08093	REKHA SRIDHAR	HOUSE NO 593 SECTOR 29 NOIDAGAUTAM BUDDHA NAGAR NEARDPS SCHOOLNOIDA-201301	6000	100	60000
	RAVI MANOKARAN VARMA	4033 JOY APARTMENTS PLOT 2SECTOR 2 OPP J M INTERNATIONALSCHOOL DWARKA SOUTH W	1990	100	19900
871 INE515008093	KAINUSHA S MOONIM	YORK HOUSE C BLOCK4TH FLOOR FLAT NO 5 HENRY ROADOPP BEST DEPOT COLABACOLABA-40	8360	100	83600

872 INE515Q08093	BISWARUP MUKHERJEE	FLAT NO 132DOCTORS APARTMENTSSECTOR 4 VASUNDHARA ENCLAVEDELHI-110096	6282	100	628200
873 INE515Q08093	K SHAKUNTALA	53A C-4-D JANAKPURIB -1 S O WEST DELHIDELHI-110058	1420	100	142000
874 INE515Q08093	PRAFULL KUMAR JAIN	E-26SAKET BEHIND ANAND BAZARINDOREMADHYA PRADESH-452001	8040	100	804000
875 INE515Q08093	ANILKUMAR C BAINDUR	8/2 TALMAKI WADI JAVJI DADAJI MARGNEAR BHATIA HOSPITALTARDEO GRANT ROAD-400007	4820	100	482000
876 INE515Q08093	ABRAHAM SOMAN THOMAS	OPP RESERVE BANK QUARTERS A-16I R E HSG SOCIETY DR CHARAT SINGHCOLONY ROAD ANDH	2830	100	283000
877 INE515Q08093	INDERJIT KAUR	NO 25 GROUND FLOORSECTOR 28 INDUSTRIAL AREACHANDIGARH-160002	2870	100	287000
878 INE515Q08093	NALINI B AMIN	F-2/2/4 NEAR SECTOR 6MARKET SECTOR 6C B D BELAPURNAVI MUMBAI-400615	1020	100	102000
879 INE515Q08093	HEM CHAND JAIN	C-22 AHINSA APARTMENTSECTOR-9ROHINI NORTH WEST DELHIDELHI-110085	5300	100	530000
880 INE515Q08093	URMILA GOUR	NO-132SECTOR-10 ACHANDIGARH-160011	3910	100	391000
881 INE515Q08093	RAMAKRISHNA RAO PULAPAKA	1035 LIMELIGHTE APARTMENTS1ST MAIN ROAD 3RD PHASE YELAHANKANEWTOWN LANE NEX	4860	100	486000
882 INE515Q08093	MADHUKAR RAMA RAO	A 601 KANISHK G E LINKSRAMMANDIR ROAD MOTILAL NAGARGORGAON WESTMUMBAI-4001	3360	100	336000
883 INE515Q08093	ARUNA RAINA	E-53 SEC-21GAUTAM BUDDHA NAGARNOIDA-201301	3390	100	339000
884 INE515Q08093	DIMPLE AHLUWALIA	HOUSE NO-355IVY HOSPITAL PARK VIEWSECTOR-71 SAS NAGARMOHALI PUNJAB-160071	3400	100	340000
885 INE515Q08093	FULWANTI ARUN HINGHER	D/102 POONAM APARTMENTDR ANNIE BESANT ROADPOONAM CHAMBER WORLIMUMBAI-40	4020	100	402000
886 INE515Q08093	VINOD CHAND KHANNA	S-171ST FLOORPANCHSHILA PARKNEW DELHI-110017	3490	100	349000
887 INE515Q08093	PRIYA GUPTA	HOUSE NO-P-303 PARAS APPARTMENTOPP SEC 31 POLICE STATIONSECTOR-30 AMAR NAGARFA	2670	100	267000
888 INE515Q08093	PRESTON CEDRIC PAUL MIRANDA	2B/22TAKSHILA CHS ORR MAHAKALI CAVESROAD MIDC ANDHERI EASTMUMBAI-400093	5448	100	544800
889 INE515Q08093	KHUSHRU SORAB DEVITRE	150 OZONE GARDENIA AVENUEWHITE FIELD VARTHUR KODIBANGALORE-560066	2540	100	254000
890 INE515Q08093	CRYSTAL MIRANDA	2B/22 TAKSHILA CHS OFF MAHAKALICAVES ROADANDHERI EASTMUMBAI-400093	2140	100	214000
891 INE515Q08093	NEVILLE JEHANGIR CHAINA	FLOT NO 11 6TH FLOOR B WINGROSSARY C H S 297GUNPOWDER ROAD, MAZGAONMUMBAI-4	3680	100	368000
892 INE515Q08093	SABU MATHEWS	PUTHENPURACKAL ARAKKUNNAMMULAMTHURUTHY ERNAKULAMERNAKULAMKERALA-68231	3890	100	389000
893 INE515Q08093	SAROJINI DATTA	E-127NEAR NOIDA STADIUMSEC-21 GAUTAM BUDDHA NAGARNOIDA-201301	3900	100	390000
894 INE515Q08093	RAMAMOHANA RAO MEKA	PLOT NO 11 ICRISAT COLONY PHASE ITADBUND AKBAR ROADSECUNDERABADHYDERABAD-500	4120	100	412000
895 INE515Q08093	VINOD VISHNUPANT PATHAK	FLAT - B 201 2ND FLOOR DHARA COMPLEXCHS LTD PLOT NO 3/4 NEAR BOMBAY HIGHRESTAUF	2460	100	246000
896 INE515Q08093	ELIZABETH GEORGE	KALLEILL VEEDU WEST FORTMAVELIKARA MAVELIKARAALAPPUZHAKERALA-690101	4830	100	483000
897 INE515Q08093	INDRA AGRAWAL	B-70MOTI KUNJ EXTENTIONMATHURA-281001	920	100	92000
898 INE515Q08093	RAJEEV KUMAR THAKUR	D-137DEFENCE COLONYLAJPAT NAGAR S OSOUTH DELHI-110024	3810	100	381000
899 INE515Q08093	SHANTA CHOURASIA	1-B POCKET-B NEAR RAM MANDIRMAYUR VIHAR PHASE - IIPATPARGANJ EAST DELHIDELHI-110	3270	100	327000
900 INE515Q08093	DEEPA UMESH TAYSHETYE	FLAT NO 1002 SHREENATH APARTMENTLIBERTY GARDEN CROSS ROAD NO 3NEAR MEHTA INDU	3870	100	387000
901 INE515Q08093	MURTHY RAYAPROLU	105VISHNU SRIVATHSAVA MANSION1 11 239 BEGUMPETHYDERABAD-500016	4360	100	436000
902 INE515Q08093	SANDHYA SALEEM	PADIYATH PUTHENKATTIL HOUSEPUTHUMANAPARAMBUALA THRISSURKERALA-680668	3930	100	393000
903 INE515Q08093	HARIPRASAD GANGADHARAN	C10 SOBHA AZALEAHAROHALLIYELAHANKABANGALORE NORTH-560064	3390	100	339000
904 INE515Q08093	ARCHITA RUNGTA	11A/1 ROYAL GREENSUNNY PARK BALLYGUNGEKOLKATA-700019	3600	100	360000
905 INE515Q08093	SAILENDRA CHATTERJEE	W2C 8/3 PHASE-2URBAN COMPLEXGOLF GREENKOLKATA-700095	2540	100	254000
906 INE515Q08093	MADHUKAR RANGNATH UMARJI	B-702 PATALIPUTRA CHS4 BUNGLOW NEAR KAMDHENU DEPT STOREANDHERI WESTMUMBAI-	2730	100	273000

r	1			1	
907 INE515Q08093		FLAT NO-831CATANIA TOWER MAHAGUN MODEMESECTOR-78 GAUTAM BUDDHA NAGARNOI	2050	100	205000
908 INE515Q08093	JOJI ANTONY	8DTRINITY CREST OPPOSITE LULU MALLEDAPALLYERNAKULAM-682024	3390	100	339000
909 INE515Q08093	ABHINAV RAHUL	C-9/9292VASANT KUNJSOUTH WEST DELHI-110070	4430	100	443000
910 INE515Q08093	RAJ KUMAR	FLAT NO AL/L/5 BLOCK-LALAKNANDA APARTMENT RIVER VIEWENCLAVE SEC-4 GOMTINAGAR E	6770	100	677000
911 INE515Q08093	RASHMI KHANNA	S-17 1ST FLOORPANCHSHILA PARKNEW DELHIDELHI-110017	5753	100	575300
912 INE515Q08093	PRAVIN SUNIL DESHPANDE	IOC CHS BLOCK NO 11VEENA NAGAR NEAR TATA POWER HOUSEKHOPOLI POWER HOUSERAIGH	3180	100	318000
913 INE515Q08093	BUDDHADEB ROY	WARD NO 12 BF-4VYAPAR VIHARSANJAY APARTMENTBILASPUR-495001	3890	100	389000
914 INE515Q08093	SAGARI RAINA AHUJA	D-47 JALVAYU VIHARSECTOR-21 NOIDAGAUTAM BUDDHA NAGARNOIDA-201301	5300	100	530000
915 INE515Q08093	BALWAN CHAUHAN	G-92 2ND FLOORNEAR SONIA PVRVIKAS PURI TILAK NAGARWEST DELHI-110018	3050	100	305000
916 INE515Q08093	PUSHPA AGARWAL	5/199VIRAM KHANDGOMTI NAGARLUCKNOW-226010	5140	100	514000
917 INE515Q08093	PANKAJ KUMAR KHASGIWALA	B-302 GALAXY NEBULAKOPRA SECTOR-10 PLOT NO 220-221FRONT OF SBI RAIGARH KHARGHAF	2310	100	231000
918 INE515Q08093	ALOK KUMAR MITTAL	G-6 GROUND FLOORSAKETNEW DELHIDELHI-110017	3480	100	348000
919 INE515Q08093	ATUL VASANT PANSE	A-101 HARI PRIYA APT PLOT NO. 20RD NO. 20 NR INDIAN OIL PETROL PUMPSECTOR 12 NEW PA	3900	100	390000
920 INE515Q08093	T RAJARAJESWARI	415 BHARATHIYAR ROADNEW SIDDHAPUDURCOIMBATORE SOUTHCOIMBATORE-641044	3204	100	320400
921 INE515Q08093	CHHAYA SINGH	FLAT NO D-303CORONA OPTUS SECTOR 37CNEAR BASAI ENCLAVE PART-2GURGAON-122001	2530	100	25300
922 INE515Q08093	GRACE JOSEPH EDWARDS	FLAT NO 5 KUMAR PALM GROOVESR NO 17/1/1 KONDHWA BKOPP SAI SERVICE STATIONPUNE	28150	100	281500
923 INE515Q08093	RK KSHETRAPAL	3-1/MHJ/411/ROSE QUARTZBLOCK-12 MY HOME JEWELMADINAGUDA SERILINGAMPALLYHYDI	3010	100	30100
924 INE515Q08093	MYTHILY RAMASWAMY	FLAT 2BHIMAGIRI APARTMENTS NO-774TH MAIN 15TH CROSS MALLESHWARAMBANGALORE-	4620	100	46200
925 INE515Q08093	ARPAN BANSAL	FLAT NO B-502 IFCIPARK VIEW APARTMENTSECTOR -46FARIDABAD-121001	6770	100	67700
926 INE515Q08093	BIPASHA DUTTA	120 JODHPUR PARKNEAR JODHPUR PARK GIRLS SCHOOLKOLKATAKOLKATA WEST BENGAL-700	2290	100	22900
927 INE515Q08093	RAMESH CHANDRA	504 GAUTAM GREEN PARK APARTMENTS-1/3 NEAR SHIVPUR POLICE CHAUKICHUPPEYPUR GIL	4360	100	43600
928 INE515Q08093	REETH ABRAHAM	609 6TH BLOCK80 FEET ROAD NEAR OASIS MALLKORAMANGALABANGALORE SOUTH-560095	3760	100	37600
929 INE515Q08093	MOUSHUMI DUTT	H-1456C R PARKPOLICE STATION C R PARK SOUTH DELHIDELHI-110019	1230	100	12300
930 INE515Q08093	SHAIK MOHAMMED KHASIM JEELANI	6-3-865/B FLAT NO 201VAMSI RISHI RESIDENCYGREEN LANDS BEGUMPET HYDERABADTELANG	2270	100	22700
931 INE515Q08093	KALYAN KUMAR	SHERWOOD ESTATE NETAJI SUBHASH ROADRAJPUR SONARPUR (M)NARENDRAPUR SOUTH 24	4870	100	48700
932 INE515Q08093	SURESH KUMAR SOMANI HUF	86/A SHREE NIKETAN4TH FLOOR MARINE DRIVENETAJI SUBHAS ROADMUMBAI-400002	3740	100	37400
933 INE515Q08093	ANUBHA JAIN	GH 300 SPS RESIDENCY18 B VAIBHAV KHANDINDIRAPURAM SHIPRA SUN CITYGHAZIABAD-2010	3780	100	37800
934 INE515Q08093	SATYAM MORDANI	C/o MOHNI STORE POLICE BAZARSHILLONGSHILLONG G P O EAST KHASI HILLSSHILLIONG MEGH	3930	100	39300
935 INE515Q08093	LAVANYA K SOMAYAJI	NO-78 PARVA 4TH CORSS7TH MAIN GAURAVA NAGAR J P NAGAR7TH PHASE BANGALORE SOU	3770	100	37700
936 INE515Q08093	YASH PAL MEHTA	NO 166/C/436LAKE GARDENSKOLKATA-700045	3870	100	38700
937 INE515Q08093	SHEEL SALKLAN	79SECTOR-37GAUTAM BUDDHA NAGARNOIDA-201303	3830	100	38300
938 INE515Q08093	POONAM AGGARWAL	M-161 2ND FLOORM BLOCK VOTER CENTER ROADOPP VOTER CENTER VIKAS PURIDELHI-11001	820	100	8200
939 INE515Q08093	SATISH PURUSHOTTAM PARAB	FLAT NO 302 MATOSHREE CHS PLOT NO 31NEAR SEAWOODS RAILWAY STATIONSECTOR 42 NE	3890	100	38900
940 INE515Q08093	RUNGTA PROPERTIES PRIVATE LIMITE	49B HINDUSTAN PARKKOLKATA-700029	2920	100	29200
941 INE515Q08093	NARENDRA SINGH NAHAR	CITY HIGH FLAT NO 8H 85 PRINCEANWAR SHAH ROAD NEAR CINEMA HALLNEAR NAVINA CINEN	2260	100	22600

942	INE515Q08093	RAVI SURESHBHAI VAMJA	604 MANSI FLATOPP TUBE COMPANYOLD PADRA ROADVADODARA-390020	3750	100	375000
943	INE515Q08093	CHANDNI MANWANI	1-A/202 ACME COMPLEX GOREGAONMULUND LINK ROAD OPP INORBIT MALLGOREGAON (W)	2180	100	218000
944	INE515Q08093	VIJAY KUMAR AGGARWAL	HOUSE NO-1535-1536SECTOR-5VASUNDHRAGHAZIABAD UTTAR PRADESH-201012	8150	100	815000
945	INE515Q08093	MUKESH RUNGTA (HUF)	1/1AVANSITTART ROW2ND FLOORKOLKATA-700001	2660	100	266000
946	INE515Q08093	BHUPINDAR SINGH LAMBA	C-27 ASOLA HOMESFATEHPUR BERISOUTH DELHIDELHI-110074	4930	100	493000
947	INE515Q08093	DAVID SAMUEL ABRAHAM	FLAT NO 202 B WINGMEHTA TOWERKIRKEEPUNE-411003	2864	100	286400
948	INE515Q08093	RAGHAVENDRA LAXMIKANTACHARYA	NO 32 BULE HEAVEN -2ROYALE GARDEN ESTATEPLOT NO E -12 GAUTAM BUDDHA NAGARSECT	9320	100	932000
949	INE515Q08093	SHOBHANA ABHIJIT DESHPANDE	NO 33/22 PUSHKAR LANE 4PRABHAT ROADNEAR LIJJAT PAPADPUNE-411004	9240	100	924000
950	INE515Q08093	URANUS VANIJYA PRIVATE LIMITED	MARTIN BURN HOUSE5TH FLOOR ROOM NO-25I R N MUKHERJEE ROADKOLKATA-700001	4690	100	469000
951	INE515Q08093	ANIL AHUJA	B-271 BLOCK BGREATER KAILASH - INEW DELHI-110049	2130	100	213000
952	INE515Q08093	MITALI MUKHERJEE	SWARNKUNJ 2ND FLOORP-81 BLOCK -B LAKE TOWNNORTH 24 PARGANASKOLKATA-700089	1860	100	186000
953	INE515Q08093	SRIHARI VENKITAKRISHNAN IYER	6 SHIV BHOLE BUILDING MANPADA ROADNEAR SWAMI NARAYAN MANDIRRAM CHANDRA NAG	1780	100	178000
954	INE515Q08093	KEERTI BAGGA	H HO. F-97SECTOR-21JALVAYU VIHARNOIDA, GAUTAM BUDDHA NAGAR-201301	2604	100	260400
955	INE515Q08093	RODNEY AUGUSTINE D'CRUZ	NO-201 SHARATON HEIGHTS 112BCHARAT SINGH COLONYCHAKALA MIDCMUMBAI-400093	1770	100	177000
956	INE515Q08093	KAMAL PURI	HOUSE NO-7BLOCK-D NEAR SAKETMETRO STATION SAKETSOUTH DELHI-110017	3540	100	354000
957	INE515Q08093	KAVITA PYDAH	310 MAHAGUN MANORSECTOR-50NOIDAGAUTAM BUDDHA NAGAR-201301	2310	100	231000
958	INE515Q08093	SURENDERKUMAR SHAH	FLAT NO A-204 PLOT NO 1HAWARER NILAMBERI SECTOR NO 19NAVI MUMBAI AIROLITHANE-4	5550	100	555000
959	INE515Q08093	KEYA MITRA	H NO L-20JALVAYU VIHARSECTOR-25 NEAR SPICE MALLNOIDA UTTAR PRADESH-201301	4040	100	404000
960	INE515Q08093	ALAKANANDA R AGNIHOTRI	32 BULE HEAVEN-2ROYALE GARDENESTATE PLOT NO E-12 SECTOR-61 NOIDAGAUTAM BUDDHA	4530	100	453000
961	INE515Q08093	SAFAKAT YAKOOBALI BENGALI	FLAT NO C1/601 GANGA SATELLITEOPPOSITE RAHEJA GARDENWANOWARIEPUNE-411040	4130	100	413000
962	INE515Q08093	ASHWANI KUMAR SAWHNEY	6-3-1102 FLAT NO E-1HIDDEN TREASURE APARTMENTSAYYAPA SWAMY TEMPLE LANE SOMAJI	4140	100	414000
963	INE515Q08093	SAMITA SUDHIR JOSHI	GHAR NO-1102NEAR J K FILE KESHAV NAGARNACHANERATNAGIRI MAHARASHTRA-415639	840	100	84000
964	INE515Q08093	MONA PRAKASH SINGH	G-208 G BLOCK NEAR ANSAL PLAZAPALAM VIHAR GURGAONCHOMA (62) CARTER PURIGURGA	5510	100	551000
965	INE515Q08093	PRAMOD BALKRISHNA DIVAN	1905, VIJAY GALAXY-2 KAVESARWAGHBIL NAKACHITALSAR MANPADATHANE WEST-400607	1700	100	170000
966	INE515Q08093	BHARAT BHUSHAN	F-131SECTOR-41NOIDAGAUTAM BUDH NAGAR-201301	6750	100	675000
967	INE515Q08093	SUNDARAM GANESH	N 110PRATAP BUILDINGCANNAUGHT CIRCUSDELHI-110001	2810	100	281000
968	INE515Q08093	GOURAV GOEL	R-14/129,RAJ NAGARGHAZIABAD-201002	3830	100	383000
969	INE515Q08093	VENKATA VASUDEV	7 1 621/116 H NO 138/2 R T S R NAGARHYDERABAD ANDHRA PRADESH-500038	2890	100	289000
970	INE515Q08093	RAHUL JAIN	40/214 CHITRANJANPARKCHITRANJAN PARKNEW DELHI-110019	6365	100	636500
971	INE515Q08093	RUSHABH PRADIP SHAH	82, NEELAMBER, 8TH FLOOR37, PEDDAR ROADOPP STERLING APARTMENT, PEDDAR ROADMUI	3975	100	397500
972	INE515Q08093	GEETA GURNANI	3-A AJANTA APARTMENTSM L DAHANUKAR MARGNEAR JASLOK HOSPITAL PEDDAR ROADCUM	610	100	61000
973	INE515Q08093	PRATIKSHA JAIN	POCKET 40 H NO 214 FIRSTFLOOR CHITTARANJAN PARKNEW DELHI-110019	1405	100	140500
974	INE515Q08093	MATEEN KHALIL	MO ANTANEAR SHEKHER HOSPITALSHAHJAHANPUR-242001	1370	100	137000
975	INE515Q08093	ARJUN DEV DUIVEDI	MEHARO KA MOHALLAHASANAPURA-A, WARD NO.19PLOT NO.125JAIPUR-302006	40	100	4000
976	INE515Q08093	MRUGESH VINAYAK DONDE	RIDHI SIDDHI BANGLOWGENERAL ARUN KUMAR VAIDYA RDOPP BAPAT HOSPITAL, PANCHPAKH	1860	100	186000

977	INE515Q08093	RUGMINI MANGATTUTHODY NAIR	GOKUL PLOT NO. 47413TH ROADCHEMBURMUMBAI-400071	7390	100	739000
978	INE515Q08093	SIRI MANGESH KAMATH	F-103 SAMAHITA APARTMENT NANJAPPA LAYOUT JC INDUSTRIAL AREANEAR METRO CASH AN	3280	100	328000
		ZAINAB ASIF MOONIM	C/5 4TH FLR YORK HOUSEHENRY ROADOPP BEST DEPOTCOLABA-400005	6650	100	665000
980	INE515Q08093	SAMAR VIKRAM BHASIN	VILLA 3 THE GRAN CARMEN ADDRESSAMBEDKAR NAGAR NEAR DECATHLONSARJAPUR MAIN R	1020	100	102000
981	INE515Q08093	RAKESH KUMAR CHAUHAN	4196, B 5/6VASANT KUNJSO SOUTH WEST DELHI-110070	5900	100	590000
982	INE515Q08093	AASHISH MEHRA	HOUSE NO 5201DLF PHASE 4, DLF CITYGALLERIA DLF IVGURGAON-122009	7300	100	730000
983	INE515Q08101	MASALA INVESTMENTS S.A.R.L.	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG, P.O.BOX NO. 1142, FORT MUMBA	198	300000	59400000
984	INE515Q08101	AAV S.A.R.L	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG, P.O.BOX NO. 1142, FORT MUMBA	198	300000	59400000
985	INE515Q08119	VIVRITI SAMARTH BOND FUND	12TH FLOORPRESTIGE POLYGONNO 471 ANNASALAI NANDANAMCHENNAI TAMILNADU-60003	15000	10000	15000000
986	INE515Q08127	TRIODOS SICAV II - TRIODOS MICROFI	STANDARD CHARTERED BANKSECURITIES SERVICES, 3RD FLOOR23-25 MAHATMA GANDHI ROA	170	1000000	17000000
987	INE515Q08127	TRIODOS CUSTODY B.V. ACTING IN ITS	BNP PARIBAS HOUSE1 NORTH AVENUE, MAKER MAXITYBANDRA KURLA COMPLEX, BANDRA EA	170	1000000	17000000
988	INE515Q08135	MASALA INVESTMENTS S.A.R.L.	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	14250	25000	356250000
989	INE515Q08135	AAV S.A.R.L	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG, P.O.BOX NO. 1142, FORT MUMBA	14250	25000	356250000
990	INE515Q08143	GLOBAL ACCESS FUND LP	HDFC BANK LIMITED CUSTODY OPERATIONSEMPIRE PLAZA 1 4TH FLOOR LBS MARGCHANDAN I	449	1000000	449000000
991	INE515Q08150	DEG-DEUTSCHE INVESTITIONS -UND E	DEUTSCHE BANK AGDB HOUSE, HAZARIMAL SOMANI MARGPOST BOX NO. 1142, FORTMUMBA	150000000	10	1500000000
992	INE515Q08168	UTI INTERNATIONAL WEALTH CREATO	STANDARD CHARTERED BANKSecurities Services, 3rd Floor23-25 MAHATMA GANDHI ROADFOF	300	1000000	30000000
993	INE515Q08176	UTI INTERNATIONAL WEALTH CREATO	STANDARD CHARTERED BANKSecurities Services, 3rd Floor23-25 MAHATMA GANDHI ROADFOR	350	1000000	35000000
994	INE515Q08176	PETTELAAR EFFECTENBEWAARBEDRIJ	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG, P.O.BOX NO. 1142, FORT MUMBA	350	1000000	35000000
995	INE515Q08184	NORTHERN ARC MONEY MARKET ALP	CUSTODY OPERATIONS YES BANK HOUSE3RD FLOOR OFF WESTERN EXPRESSHIGHWAY SANTAO	350	500000	175000000
996	INE515Q08192	NORTHERN ARC CAPITAL LIMITED	IFMR CAPITAL FINANCE PRIVATE LIMITEDNO 1 X FLOOR KANAGAM VILLAGEIIT RESEARCH PARK	596	750000	447000000
997	INE515Q08192	A JEYACHITRA	NO 14 FLAT J BOBILLA RAJA SALAISAKTI VINAYAKA APARTMENTSKALINGA COLONY K K NAGAR	1	750000	750000
998	INE515Q08192	RACHNA MURARKA	B 303 GRENVILLE APTS LOKHANDWALACOMPLEX ANDHERI WESTMUMBAI MAHARASHTRA-400	1	750000	750000
999	INE515Q08200	AAV S.A.R.L	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG,P.O.BOX NO. 1142, FORT MUMBA	2038	100000	203800000
1000	INE515Q08200	MASALA INVESTMENTS S.A.R.L.	DEUTSCHE BANK AG, DB HOUSEHAZARIMAL SOMANI MARG, P.O.BOX NO. 1142, FORT MUMBA	2038	100000	203800000
1001	INE515Q08218	KARVY CAPITAL LIMITED	101 & 201, 1st & 2nd FLOOR, GUJRALSPLOT NO 167, C.S.T. ROAD, KALINASANTACRUZ (EAST)M	2000	100000	20000000
1002	INE515Q08051	APURVA KUMAR	222 46 RAJA BAZARRAJA BAZARLUCKNOWLUCKNOWUTTAR PRADESH-226003	5	10000	50000
1003	INE515Q08051	USHA PATHAK	633 13 PITAMBRAVIHAR PHASE 2KANCHANPUR MATIYARILUCKNOWUTTAR PRADESH-227105	29	10000	290000
1004	INE515Q08051	VISHNU GOPAL MAHESHWARI	S O GIRDHARI LAL MAHESHWARI1 D 11 NEAR ASHOK PARKVIGYAN NAGAR KOTA KOTA RAJAST	13	10000	130000
1005	INE515Q08051	RAVIKUMAR CHINTHANA	D O RAVIKUMAR 604 868 JAWAHARBAZAAR KARUR KARUR TAMIL NADU 639001KARURTAMIL	1	10000	10000
1006	INE515Q08051	HEMANT KUMAR .	BHARAT ASHRAM222/46 RAJA BAZAR LUCKNOWLUCKNOWU P-226003	24	10000	240000
1007	INE515Q08051	KAVITA RASTOGI	BHARATASHRAM222/46 RAJA BAZARLUCKNOWU P-226003	24	10000	240000
1008	INE515Q08051	SURENDRA KUMAR BHANDARI	C/O PUKHRAJ BHANDARI RUNWAL FOREST OAKTOWER 4 FLAT NO 803 LBS ROAD NEARMANGA	70	10000	700000
1009	INE515Q08051	VEENA BHANDARI	C/O SURENDRA KUMAR BHANDARI RUNWAL FORESTOAK TOWER 4 FLAT NO.803 LBS ROADNEA	91	10000	910000
1010	INE515Q08051	ANJU ARORA	H.NO.94SETH HUKAM CHAND COLONYJALANDHARPUNJAB-144004	5	10000	50000
1011	INE515Q08051	MEENA P. MEHTA	8/B,174,SAI DHAM,NEW D.N.NAGAR,NEXT TO JVPD DEPOT,ANDHERI (W)MUMBAIMAHARASHT	10	10000	100000

1012 INE515Q08051	RAHUL JAIN	40/214 CHITRANJANPARKCHITRANJAN PARKNEW DELHINEW DELHIDELHI-110019	75	10000	750000
1013 INE515Q08051	AKSHAY SHARDA	D 51 NANDDHAM CHS LTDNEAR DAHISAR POOL B P ROADKANDARPADA DAHISAR WESTMUMB	1	10000	10000
1014 INE515Q08051	VEENA AGRAWAL	NAI BAZAR BUXAR BUXARALUMINIYAM FACTORY CAMPUSBUXARBUXARBIHAR-802101	53	10000	530000
1015 INE515Q08051	KINNARI YOGESH BAROT	196 HARIOM NAGARVADODARA ELLORA PARKBARODAGUJARAT-390023	66	10000	660000
1016 INE515Q08051	MALA N	NO 52 1 FLAT NO 101 RV ENCLAVEA BLOCK 6 TH MAIN 13 TH 15 THCROSS MALLESHWARAM BA	1	10000	10000
1017 INE515Q08051	ARVIND SHIVRAM BURTE	MOHAR APARTMENTS NO 2 1205 3 80PPOSITE SAMBHAJI PARKSHIVAJINAGAR PUNE CITYPUNE	7	10000	70000
1018 INE515Q08051	PRATEEK PRATEEK AGARWAL	39 SAMBHU NATH PANDIT STREETKOLKATAKOLKATAWEST BENGAL-700025	52	10000	520000
1019 INE515Q08051	HARSH SHAH	8 SIMARDAMANDIR FLATNEWSHARADAMANDIR ROAD PALDIAHMEDABADGUJARAT-380007	20	10000	200000
1020 INE515Q08051	SARTHAK MALHOTRA	5001 Seasons Heights 88 Chapel Lane Willingdon, Santacruz W MumbaiMUMBAIMAHARASHTR	3	10000	30000
1021 INE515Q08051	VIVEK S	A 3 CHANDILYA APTSNO 1 TOLGATE TRICHYTRICHYTAMIL NADU-621216	3	10000	30000
1022 INE515Q08051	SANKET B MEHTA	PAVAPURI APTS 1ST FLOOR9 2 KARIAPPA STREETPURASAWALKAMCHENNAITAMIL NADU-6000	1	10000	10000
1023 INE515Q08051	MUDIA PARTH VIJAYKUMAR	61 RANGIN PARK SOC OPP RAJPATHCLUB S G ROAD BODAKDEVAHMEDABADGUJARAT-380015	5	10000	50000
1024 INE515Q08051	JANARTHANAN NITHYAK	C/O Janarthanan Plot No 41, F3, Moonish Apartments2nd Street, Shanthi Nagar Perumbakkam	20	10000	200000
1025 INE515Q08051	JAYDEEP RAMESH VAZE	B 5 PRATHAMESH DARSHANTAPODHAM SOC MUKUNDNAGARMARKET YARDPUNEMAHARASH	1	10000	10000
1026 INE515Q08051	ARNAB DUTTA	144/2MADHUSUDAN PALCHOWDHARY LANE NEARTIKIAPARA STHAORA (M.CORP)HOWRAHWE	1	10000	10000
1027 INE515Q08051	NAVINVIJAY JAGANNATHAN	14/21B TEACHERS COLONY2ND STREET ANGERIPALAYAM ROADTIRUPPURTAMIL NADU-641602	1	10000	10000
1028 INE515Q08051	SOURABH KANNOJE	LILY HOUSE 186 TALPURI BHILAITWIN CITY CIVIC CENTRE BHILAI DURGDURGCHHATTISGARH-49	10	10000	100000
1029 INE515Q08051	MANITEJA TANGUDU	8-8-111 N.H5KOTABOMMALI MANDALAMSRIKAKULAMANDHRA PRADESH-532195	1	10000	10000
1030 INE515Q08051	AJAY MURALI	B-1405, Mantri Greens 1, Sampige Road MalleshwaramBangalore NorthBENGALURUKARNATAK	2	10000	20000
1031 INE515Q08051	ABHISHEK KULSHRESTHA	A008 VICTORY HARMONY APARTMENTSSUMANGALI SEVASHRAMROAD ANAND NAGAR RT NA	5	10000	50000
1032 INE515Q08051	ANUP MENON	V.G.A MENON 20/15-B BABYLONIA VILLAS ROAD ASHARIPADYAngadippuramMALAPPURAMKE	1	10000	10000
1033 INE515Q08051	SIDDHARTH MAHANOT	1502 TOWER 16THE SOUTH CLOSE NIRVANA COUNTRY SECTOR 50GURGAONHARYANA-122018	11	10000	110000
1034 INE515Q08051	PRAMOD AISHWARYA	1403-A, DOSTI ELITESION - EASTMUMBAIMAHARASHTRA-400022	15	10000	150000
1035 INE515Q08051	MANJIRI RAMESH VAZE	B-5PRATHAMESH DARSHANTAPODHAN SOCITY MUKUND NAGARPUNEMAHARASHTRA-411037	5	10000	50000
1036 INE515Q08051	ANKITA AGARWAL	39 SAMBHU NATH PANDITSTREETKOLKATAWEST BENGAL-700025	3	10000	30000
1037 INE515Q08051	SWAPNIL RAMESH SHAH	B 402 AKSHARDHAM CHS LINK ROADOPP GOREGAON SPORTS CLUBMALAD WESTMUMBAIMAH	40	10000	400000
1038 INE515Q08069	Preeti Bagla	MIRCHAI GALI CHOWK PATNA CITYPATNA CITYPATNABIHAR-800008	1	1000000	1000000
1039 INE515Q08069	CASPIAN IMPACT INVESTMENTS PRIV	8-2-596/5/B/1ROAD NO.10BANJARA HILLSHYDERABADANDHRA PRADESH-500034	70	1000000	7000000
1040 INE515Q08093	USHA PATHAK	633 13 PITAMBRAVIHAR PHASE 2KANCHANPUR MATIYARILUCKNOWUTTAR PRADESH-227105	2850	100	285000
1041 INE515Q08093	MALA N	NO 52 1 FLAT NO 101 RV ENCLAVEA BLOCK 6 TH MAIN 13 TH 15 THCROSS MALLESHWARAM BA	3970	100	397000
1042 INE515Q08093	ARVIND SHIVRAM BURTE	MOHAR APARTMENTS NO 2 1205 3 80PPOSITE SAMBHAJI PARKSHIVAJINAGAR PUNE CITYPUNE	2850	100	285000
1043 INE515Q08192	KRISHNAPRABHAT EMANI	4-12 FLAT NO 402 MASETTYNIVAS SERILINGAMPALLYBESIDE OLD MUNICIPAL OFFICEHYDERABA	1	750000	750000
1044 INE515Q08192	VIKRAM RAGHAVAN	29 TELECOM LYT1ST STAGEMYSOREMysuruKARNATAKA-570009	1	750000	750000

Total

154734089

